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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The half-life of a certain Jz_lgudpiﬁd{(..;};jl'u’ |A?.':':.;_..:.')1-Jm . c}:..ﬁJUJI.JY;r” TL)’:‘;...Q 141
isotope is one day. What is the quantity 9f isotope after two days :

One-quarter (621 (B) One-half (Z_Lsr 3T (A)
None of these J:‘Uf.:.dfuf (D) One-eighth /118 (C)
The turn ratios of a transformer is 10. It means : 19 %10 .:.-—’ J u:/g L LI /’ 2
V
V,= %) (D) N;= 10N, (C) N5=N‘%) (B) I;=101, (A)
To make burglar alarm we use : Y & A1 Lk (o7 £ 3
NAND gate &% (D)  NORgate 27t (C) ORgate &df7 OT gate oSt (A)
The relation between v,/ and A of a wave is : f e %b-' Qﬁ i@i’: ;:FJ'.‘:-(/. ¢ J'Us J F4) ...fi 4
v="4 o) =1 © SR @ =4 ()
Which refers to computer programmes and the manua );-.‘.‘ i v < ' Gl }".);J )):;{ 5
that support then-: : B .
Information o</ (D)  Software skt Hardware %35/ (B) Data &} (A)

The loudness of a sound is most closel t;}its : V4 J( A 7ok K J-"iiu J 4516
Amplitude $x df':! (D) Wwaw E%‘s (C) Period 45 (B) Frequency g‘-’-,f) (A)

Which compound is used fo@o:i)s of brain tumor : : ..::...t:ofdb-?'l."n"ii{ b-u}fc_]_f_&;lﬂfdn‘f E,LJ 7
N-152 (D) H-3 (C) I-131 (B) P-32 (A)

Capacitance is defined as : - Jlg J L)’ J! ...yf J J‘-”H 8
VQ (D) % (©) Qv (B) Ve (A)

Image formed by a camera is ° :4‘;3”.:@.@51:2@:/! 9

Virtual, upright and diminished (sf=<sf2.s (B) Real, inverted and diminished Skt (A)
Real, inverted and magnified (%=1, (D) Virtual, upright and magnified (%2 (C)

The logical operation performed by this gateis: , j}_ - J‘ [ J—J-{T ._.G' UL uf = _,_" J110
X

B
OR ,T (D) AND 2! (C) NOR .t (B) NAND iz (A)

- - v‘ - . - -
What happens to the intensity or : ‘gb:;u/%a}Jd?xJu'c_d_/’.’a L‘vU-T:FMJu::I-'E’:;Jﬁ:..Li. )ﬁ:g <11
the brightness of the lamps connected in series as more and more lamps are added :

Decreases ﬁ'—dﬁtf (B) Increases il (A)
Cannot be predicted q_ﬁ' t& (D) Remains the same tzﬂﬁjdf (C)
From which of the following we can get information : L,gé/,)‘ bcf-ﬁli:'!gf C)/:-...:TC..L/ a.u:J dounr |12
almost about every thing : ’ o
Internet 2% (D) Computer /':_-;f (C) Teacher sU-1 (B) Books JZU (A)

210-024-I-(Objective Type)- 2 7002 (7473)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which among the following radiations has more penetrating power : ‘-:-_n',.?;:&...@)&&/ = LA unr |1 -1
An alpha particle J{’JLUI (C) A gamma ray il (B) A beta particle ;I.b- (A)

All have the same penetrating ability gdﬂuj.f..a’ﬂldld..;, = _EU (D)

The direction of induced emf in a circuit is in : < d.rr dbr £ 96 J( o ..// = J A A §) Ayt |2
accordance with conservation of :

Charge JbL I6L oL G/ (B)  Mass LIl Pl Tl (A)
Energy JWLU!FLUJU/L J.f’ (D)  Momentum &&»‘Lufﬁ'ﬁcﬁuf/ﬁ r"..",,. (C)

Farsightedness can be corrected by using : : @b s ..J? g d/l"" 213
Converging mirror c'_-)/..fz.r_r"r (B) Divergi@r .r/..fa 215 (A)
Converging lens < 5.5 (D) . Divélging Tens Py YT (o))

Wave transfers : 0{\()>) - J/ Jb 7214
Velocity $Us (D) Wavelength i%: (C) (\F@ﬂw g -;f/ (B) Energy &/ (A)

We can see sound waves by using : Y1 = .f: ;.f.c p3{% 15

Stethoscope 7;’:3-?' (D) Oscilloscope /{‘C ) Telescope ..?d‘J:' (B) Microscope Tfual. (A)

Which is an example of longitudinal re JBo § e J:;",gr' 6
Water waves j#s§ 3L (D) Rad igs9ts (C) Light waves jgsS(53/ (B) Sound waves s 25 (A)
In case of simple pendulum m::)omponenl of a.t'/r (RSN _w.‘;{ Ll Wit _-,»"JH:JJ; |7

weight acts as restoring force :
mg cosec € (D) mgsec 8 (C) mg cos & (B) mg siné (A)
A positive electric charge : Py b;la J/"al 3::;;’ ufi 8
Repels other positive charge < b/ d::( Cslsiy (B)  Attracts other positive charge Ltfu"{r Lsesiy (A)
Repels a neutral charge ﬁ:.r/ (‘,’:f L;gdxx (D)  Attracts a neutral charge ;r/u-@’ L.abdz.c (C)

Which of the following quantity is not : (ds p( J& Ao § of < L Sz s £ c/’g/’.; J u’u 9
changed during refraction of light :

Its speed . JxdU! (B) Its direction =<1 (A)
Its frequency (5™ ;E)Jw (D) Its wavelength J%')JJ I (C)

AND gate can be formed by using two : G-UL nJ"’b el U"' J sl ¥ Jf th'l J'r » e u/ 10
NOR gates uj t (D) NAND gates JJ =% (C) OR gates 'ul (B) NOT gates J""Lt (A)
What is the power rating of .vrp.f:_:ur 2.5A ;.L,td L?Jﬁlfb /L;"-EJ‘;"-J-"{ é:...zzc..;j;r[_ﬁv 11
lamp connected to 12 V source when it carries 2.5 A current :
860W (D) 30w (C) 14.5W (B) 4.8W (A)
The brain of any computer system is : re b &,L: ¥ (ﬁ" ..3.:;‘/ (f &f’ 12
Control unit _*;gJ;/-'f (D) Memory J»< (C) C.P.U ¢ _dl g (B) Monitor /Z+* (A)
211-024-11-(Objective Type)-22250 (7474)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The half life of a certain isotope is : Jmf‘fw‘f.?. I Tl L S _.;h.u;:._{l_i:’u..i[.JT J T -1
one day. What is the quantity of the isotope after two days :

« #
One —sixteenth ¥ (D) One—eighth J¢ (C) One-quarter (351 (B) One-half S 5T (A)

The brain of any computer system is : e E,LJ K r""/ }.v;;.f OI J( 2

Control unit ...*.r‘,fLJ:}"'/ (D) cPU :_"QJ (C) Memory Juss (B) Monitor <% (A)
The particles emitted from a hot cathode surface are called :  : VE"F_.IJH’ ¢ Ul iFJ ”;{r/l; }k??_,q;ﬁi_i 3
Electrons :P:}'..a I (D) Protons :F;s.; (C) Negative ions ?/Tﬁg (B) Pgsitive ions ,‘*""T;:.J.;’ (A)

If the current in a :u’.a;’b@g‘dhi.fg’f;?h?i_lghlﬂ.‘ugi.ﬁ'fJ.:z‘fQ—f %kf's(jﬁﬁ:rfuﬁ&i -«@--l:'/rsl 4

wire which is placed perpendicular to a magnetic field increases, the f the wire :
Will be zero d:"/‘ (D) Remains the same ij.?u_.l_-’ (%& %aﬁ d’rrr‘ (B) Increases d’ﬁ-:c (A)
W T ASlb AL o sra ur A2V |5

What is the power rating of a : ﬂ{u..;-:dizr..?.ﬁﬁu =
lamp connected to a 12V source when it carries 2.5

<y 4.8W (D) L1 14.5

s 30W (B) 2l 60W (A)

)
Capacitance is defined as : OV L J'-P Jupu --93}7 i Uﬁf\_g'“’-‘-‘f 6
Yo &Y% © Qv (8) Ve (A)
The index of refraction depenﬁ@): i ren by J( A K ‘Jf{;_, AT JE}F 7
The image distance .;.L-uﬁé I (B) The object distance .;.J-ﬂlif.()' (A)
_ The speed of light {é—;‘&_ﬁ: (D) The focal length £ E@J ; (C)
How does sound travel from its source to your ear : L Bﬁ‘ ﬁf of ,:.,T' — () Ly sty £5-|8
By vibration in wire or string c.ﬁ/-’ M Ussikst (B) By change in air pressure .;..,.,vsdl ul:_ KL In (A)
By infrared waves ;-Ju;d/}gsé.ﬂ)"' (D) By electromagnetic waves .::«":.A_-dljgr-@-g‘u:‘g I (C)

When water waves enters the region of shallow water : A‘%}Jm!?ug Jﬁﬁ:utdfd_.héuf ﬂ_f:d’ dg._.:- 9

their wave length :
Decreases La.dlg-ﬁqf (D) Increases {—-dlfﬂ’f (C) Become zero {_.L;J.g!s'/"’ (B) Remain same 4:‘—-6':4,5"! (A)

Intensity of sound of lawn mower : e g $ s ¢ ;,,f-'-i‘ dh 2 ¥ o |10
10 wm 2 (D) 10° wm % (C) 1072 Wm™? (B) 10'wm™? (A)

Half life of Cobalt {35,‘ Co is: = Y -l J f_;é' Co ..*.JI_.Jr 1
Jb 40 years (D) Ju 30years (C) JL 12.3years (B)  J 2.85years (A)

Power of hair dryer is : e sk J V-5 A12
s 1000 watts (D) iy 800 watts (C)  =Js 1200 watts (B) 11 1500 watts (A)

210-023-1-(Objective Type)-29500 (7471)
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think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or ﬁiling two or more circles will result in zero mark in that question.

The loudness of a sound is most closely related to its - L by u’( ;Laf’:l 7wl ¥ JEEEU J 2311 -1
Amplitude sz'dl:{f (D) Wavelength a‘%s (C) Period £ (B) Frequency u"' ;g/’ (A)
Capacitance is defined as - P& th St ...y/;; i1 u"‘-"éu.ef 2
V/iQ (D) Qv (C) QV (B) VC (A)

3 - ot . - -
What happens to the intensity or ‘;.r;;u;y,;;.;JbﬁiJurc_, J_J:ILBTUCJIA#JQ:J:&‘:L.EL.‘Q):;,{ 3
the brightness of the lamps connected in series as more and more lamps are added :

Decreases :_:}mf’ (B) Increases < Endlel (A)
Cannot be predicted .;_J—"m (D) Remains the Jﬁ@({djf&f (C)
. i 5 Y)W.; (] I’ 'j "I.
Speed of light in water is : T On Ar O U Uk OL|4
2.0x10°ms ™' (D) 2.5x10°ms™' (C)  3.0x10° ’?"é\@ 2.3x10%ms 7' (A)
AR T
When did Graham Bell make a simple telephone : % ¥ 12 J [_-,J:?u!: b o J-':ﬁ'f 5
1867 (D) 1870 (C) fg\%%ﬂﬁ (B) 1876 (A)
Image formed by a camera is : @U e Jn - J"élﬁ L,r.'a/:r 6
Virtual, upright and diminished Js‘:.’:-.-:..rsrgf ?{ ) Real, inverted and diminished Jr‘:.:.q-’.nldJ (N (A)

Real, inverted and magnified U e (D) Virtual, upright and magnified Sradnl s J.;;u (C)

Which of the following is not proc&mfgz e ﬁ' ._.J.’:_-*s,; ,Jf v g)i’ 7
Gathering £/ (D) Calculating t/_‘,D’,.u (C) Manipulating b9 (B) Arranging k& sec™7 (A)

The number of neutrons in a Uranium 33U :ﬂt-:lﬁ-xjﬁi{uﬂ?;};fw - ol .?.;r"T_gfb’ﬂf:.:,f 8
isotope are : ’
330 (D) 238 (C) 146 (B) 92 (A)

g i
The process by which electrons are emitted by a hot metal e t'llfﬂu.n'f-,;ﬁ :z":}g e &JJ’J&ﬂJJ K3 A9
surface is known as :

Thermionic emission ﬁl.ﬂ:‘; (D) Conduction Jaf g (C) Evaporation c!'?u:;'.sl (B) Boiling My (A)

When a heavy nucleus splits into two lighter nuclei, the : < ¥ l?g, t‘:-r(:u [0 d.l.ﬁ:i..;:’ 3] J-‘-b.;fd.rbf .._lﬁ_.é 10
process would be :

F o
Absorb nuclear energy Lj"‘f-:f&)'ﬁ{tf (B)  Release nuclear energy Jﬁbzﬂ@fﬁﬁ (A)
Absorb chemical energy Jﬁ.:.-ig&.f'lﬁ (D)  Release chemical energy Jﬁ&;i&&ﬂﬂ (C)

A device which convert mechanical energy into electrical :.g..,t'Ll:f “ r/ul'.ﬁ,,ﬁ J/‘ff. /’-EJIJI&JIJS’__::LJ.._-!JTL_J_I 11
energy is called :

Eiectroscope Trﬁs}‘?i (D) Transformer 17 (C) D.C. motor /»5§5 (B) AC. generator £ 7 (5! (A)

Which part of D.C motor reverses : < e S sl hér e LIl I L& 5T 2 Ufirssi| 12
the direction of current through the coil every half cycle :

Slip rings /"7.;.7** (D) Brushes = (C) Commutator ?—-’J:r (B) Armature ,? ST (A)
211-023-1I-(Objective Type)-25000 (7472)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book
Cutting or filling two or more circles will result in zero mark in that question.

The instrument used to detect the nature of charge is : : (7L &z ¥ & ‘lg{r‘)'gfrfr’f;:_,u&ﬂ,j i1 -1

Electroscope .;;ﬁ:}? I (B) ' Stroboscope -.,-:(:351)' (A)
Microscope ..;-J{‘ :/?i (D) Spectroscope 71‘::;? (C)
How many components a CBIS has : P e kS J e ur® & cais _g 2
Six 2 (D) Five &4 (C) Three £ (B) Two » (A)
The output of NAND gate is written as :.rwﬁ:,)w ..-.iTJ:.,»f NAND |3
X=48 (D) X=A.B (C) X =A-B (B);r} ‘l‘* = A+B (A)

For a normal person, audible frequency range for  : < e j‘iv._.-*kJLquid: |rt=...fr “
sound wave lies between :
30Hz - 30KHz (D) 25Hz-25KHz (C) 20 z (B) 10Hz- 10KHz (A)

AND gates can be formed by using twa ::._J”b.«;_-: |u"._fyliufdbwlu‘f:;uf 5
NOT gates J*2t (D) NOR gates S5t (c}gates J5T (B) NAND gates U2 (A)

S et obdneasl S U trls
£ (B) Nuclear fission S (A)
d;dg"-r (D) Burning of gases r_.agf.ﬁd:f:r (C)
An object is 14 cm in front :r;..l,ré‘@uﬁb'.af -q_L?{('a'.s.;iEL/&‘u -;;.fg,;.l-:sifma.uﬁyﬁfﬁ_g 7

of a convex mirror. The image is 5.8 ¢cm behind the mirror. What is the focal length of the mirror :

Release of energy by the sun is du

Nuclear fusion
Chemical reactio

¢ -20 cm (D) (r-9.9cm (C) (" -8.2cm (B) ¢ -4.1cm (A)
One watt is equal to : cee sl |8
Sec (D) J (C) Js~! (B) JS (A)

Michael Faraday belonged to - TR PRI
Russia 3, (D)  KSA /8 (C) USA £/ (B) British _:b4 (A)
Charge on alpha particle is : ree Bk ¢ VE’;; W10

5e (D) 4e (C) 3e (B) 2e (A)

Which of the following characteristics of a wave dﬁ‘fﬁ'}uL»r"dfs:..ﬂr"dufJgs.:.g,ﬁJ:;;M 11
is independent of the others :

Wavelength 5% (D) Ampiitude 325 (C) Frequency ™%/ (B) Speed i+ (A)
What does the term e-mail stand for : - i ¥ ‘/ J-u12
Electronic mail J-t1/1 (B) Emergency mail J!-’J’:'y.'! (A)

External mail 2%/ (D)  Extra mail KL ()
210-022-1-(Objective Type)-27500 (7475)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutling or filling two or more circles will result in zero mark in that question.

To correct the defect of vision farsightedness which - $.t'lgy/dh-:“l /-.J.' qujﬂz.f. .Lf..:.-—-.ud ﬂ,c_."ﬂ (O P
type of lens is used :

None of these (e L2 ! (D)  Both Uss: (C) Diverging ..ﬁ:,uéli (B) Converging .5 (A)

1 -1

Typical value of the voltage and current : (f Jbd/ S A é’ué_[. S S o PR <L
used for thermionic emission from tungsten filament is .
12Vand 03A/ #4503 1 s 12 (B) 6Vand03A/ A% 03 1 26 (A)

6Vand3A/ 453 .4 L6 (D) 12Vand3A/ A593 . 2 12 (C)

To measure the value of current  © < JVJJF"I (D] Jflﬁd‘!?.. ﬁf [ e/l e o _»,J:/u/

flowing in a circuit which device is used :

Ammeter HE(B) Gal {%ﬁet&r y3 ﬁ!."’.,f (A)
None of these e 2w (D) /ﬁj@l Hahs (C)

We can distinguish between a shrill and grave sound by its @E/J)u: s Td;u,‘.ul._{ JI_._J_."I[‘?
Pitch & (D) Area L/ (C) Amplitude 3 Loudness (/=330 (A)

N - :
The turn ratio of a transformer is 10, it means %{9 Y w10 =’ J ;_}ug L e A
v, N
N;=10N, (D) V_\.—_—.l_fd. @ N‘-l_l;; (B) I4=101, (A)

how many protons will be in the remainj eus :
90 (D) 91 (C) 89 (B) 93 (A)

When U - 92 ejects a beta particle WTF’Z St oialS 27 e tnt b Bl L U -92 2

A ’
To get virtual image from a convex)ns the object is kept e b Le SV Son < RAYL
Between F and 2F / ¢l 2F » F (B) OnF / £ F (A)
Beyond 2F / & s= 2F (D) Between O and F / ¢k F 151 O (C)

S 1 unit of capacitance of a capacitor is ety S ETLARILY d )f_:f_gl
N % (D) F 32 (C) A A5 (B) V& (A)

5 -z A ry

e e Ltre 3 /s <o fin 8 oK Ui i v e he 3 )y
The combined resistance of two identical resistors connected in series is 8 Ohm. Their combined
resistance in parallel arrangement will be :

12Q (D) 8Q (C) 2Q (B) 4Q (A)

The brain of any computer system is : te b Lo ¥ (L/ ﬁt'f{ S
C.P.UY ;5 ¢ (D) Floppy disc ..J;EQ!J-‘ (C) Memory card L,6(5»< (B)  Monitor £ (A)

10

If the mass of the bob of the pendulum is : (Ligxéﬁ-{}ﬂfc;fJHrl‘;;Lﬂ WSUEN b’d:ﬁ?ﬁ;{rﬁ

Increased by a factor of 3, the time period of the pendulum's motion will be :
Remain unchanged fn_i;uiﬁféf (B) Increased by factor of two €7 Igaki:ﬁ (A)
e
Decreased by factor of four ¥ I—'_J,-::fr i.'r’:';r (D) Decreased by factor of two §Z_ by Uy (C)

11

The process by which electrons are emitted by a hot metal : - L‘!J-H' W & U'f'g'ﬂrtyj:f/&-ua@)!!
surface is knc}n

Conduction o~ « (D) Thermionic emission 4.8y 7 (C) Evaporation ‘_-,!F'i,-{.gl (B) Boiling <15 (A)

12

210-019-I-(Objective Type)-25250 (7475)
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Cutting or filling two or more circles will result in zero mark in that question.

Boolean expression of AND operation : Dl Jgﬂ J cf?-{f A1 -1
X = A-B (D) X=A (C) X = A+B (B) X = A-B (A)
Specific resistance of iron : : u’;"":b ...fr_z" d’ wri|2
5.25x10°Qm (D) 10.6x10°0m (C) 100x10°Qm (B) 9.8x10°Qm (A)
Half-life of isotope of cobalt 59 € IS o ATL HC0 |3

Ju 10years (D) Ju 15years (C) Ju 20 years (B) Ju 30years (A)
The formula for the time period of a simple pendulum KL ,&‘j’ B{.f_H:J.';qu 4

)
T:Zz& (D) T:ZJrg (C) T=2:r T=2"’F§:{A}l

"y

The brain of any computer system is : sﬁ%%%\v o ?./L: ¥ (L" ﬁ:{ tf Lf( 5

Control unit ..‘.f‘gd:,gl (D) CPU ;_'QU' (C) (\ﬂ\@"ﬂﬁ' < (B) Monitor <+ (A)

Speed of sound in steel at 25 °C S 't J T A Jfﬂ Y 25°C |6
5960 m/s (D) 6040 mys \(€) 5950 m/s (B) 3880 m/s (A)

% ot : q_-t'lk’:uﬁb:ﬂuf}? 'c—ﬂ’f'/’d’ﬂuﬁuﬂzm_/u' (4

The process by which electrons are
metal surface is known as :

Evaporation Souesl (B) Boiing &1y (A)
Thermionic emission uﬂ-{l-{;‘; (D) Conduction f g (C)
Speed of light in glass : DAY & Lﬁx S K8
3.0x10°m/s (D) 20x10°m/s (C)  3.0x10°m/s (B) 2.0x10°m/s (A)
Index of refraction of ice : : p“.'{/i; S i JE:TEI ¥ 4|9
1.36 (D) 1.31 (C) 1.33 (B) 1.00 (A)
Power of hair dryer : Lk J -3 A110
800 watts (D) 1000 watts (C) 1500 watts  (B) 5000 watts (A)
Capacitance is defined as - P Jlr S -E'/J d/ g/'flf-tr 1
'E (D) Qv (€) % (B) vVC (A

The direction of induced em.fin acircuitis i © e (bl JI6L o7 o pee S BIAISH ey 21|12
accordance with conservation of

Energy (&' (D) Momentum (‘fr (C) Charge L.k (B) Mass Jb (A)
211-019-lI{Objective Type)-19750 (7474)
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Q. Paper : 11 (Objective Type) PAPER CODE = 7471 GASA I gy
Time Allowed : 15 Minutes (.?-,-Jﬁu;-;) 2 15 1 =
Maximum Marks @ 12 12 /-:‘U"

iv'ﬂ.‘.‘a’#ﬂ-—ucu!)’béé.a?&L’LJ'J‘},‘{QK@V: -a_,ﬁ"éf.::..JD # CB'A at'ﬂﬁx?&idlﬂq Db d
_F‘:hr"".hls'.ffﬂur':iui;uf‘gi._/ﬁ Sk 14 .Lf_;',;{,u}lmp;..{r _ﬁ'Jﬁc_dﬂ):U:ﬂ::nh’JIb*

Note : Four possible answers A, B. C and D to each question are given. The choice which you
think is correct. fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The relation between V. f and Aof awave is : r'_uwul/ﬂﬁm‘q’: sl J",f/ U'Us&':.fi 1 -1

vi=f (D) 1'=*ji- © = SA=v (B) f'=2 A

Which is an example of a longitudinal wave : 8 Ji J 4 J:?g-'rg’ 2
Light wave 4 f.,s’u (B) Sound wave ¢s£il- (A)
Water wave #:¢ dL (D) Radio wave /4. (C)

i;dex of refraction of diamond is : : +Uﬁg);J T;_)’-filfgﬁ 3
2.42 (D) 2.21 (C) 1.66 (B 1.52 (A)

| Speed of light in water is : @Q\é) : -:_J:fé-;‘d/{ﬁxddk 4
Ix108ms™ (D) 2x10%ms™' (C)  2.30%ET (B) 3x10% ms™! (A)

S.1 unit of charge is : @%"O < eiy (Sl) Ji'uflb’twk 5
Coulomb o (D)  Volt &b (g:g5 Newton ¢ (B) Kg (¥ (A

One volt is equal to : - P e brzlg et |6
1 NC™' (D) @‘@%? () 1JC™' (B) 1JC (A)

When we double the voltage in a @é}v : ﬂ;_[}l.grri:f;u Prtr cjj’;uf "@.:fb-’ﬁ:f@ﬂ P _,u'-‘-' ..:«-':/a:{.-..{tr?_'.e 7

electric circuit, we double the y

Both A& B Uss B A (D) Resistance ¥ (C) Power s, (B) Current 2/ (A)

Mathematical form of Ohm's Law is : {._gf} L}LJUr L-J:"Eir‘?:! 8
W=Q/V (D) Q=It (C) vV=IR (B) P=1V (A)

A device which converts electrical energy into : q...t'lkf ur‘;-b" J oG ;Liildg-,f-g RJTILI 9

mechanical energy is called :

All of these (V.. (D) Transformer &’/ (C) Generator =7 (B) D.C. motor 2585 (A)

The process by which electrons are emitted by a hot r_t‘uo'/ .,u:’Z,;Ia/s/-a!.::.. uerfLﬂu);f_u)ul 10
metal surface is known as :

Evaporation {;P"J{_‘:-!' (B) Boiling Ly (A)
Thermionic emission J=*-£x=# (D) Conduction ¢ (C)

What does the term e-mail stand for : ; ;ﬂfé.u/;ﬁ_ dri11
Electronic mail J5fs <! (B) Emergency mail X5 4l (A)
External mail S (D) Extra mail JEIEE1(C)

One isotope of uranium is 233(»’ . The number ! q.:'p'-[;;f':}::'ui.fjpifuf - 2328 ...air‘ l..ff("'){ 12

of neutrons in this isotope is :
330 (D) 146 (C) 238 (B) 92 (A)

210-018-1-(Objective Type)-23875 (7471) LR 4, -I!g
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r_.ﬁwtﬂﬁwmmwmﬁwﬁxéé.ﬁhﬁqudb.'(}l.k ..;gL:_m # C«B lAﬂde&d’A‘ /:»Ulf
O el LSS SN S s tmlie i k|

D C B A Questions / <= Uy 459/?
8Q L rﬁi&},‘fbé..;_ﬁuégﬁﬂc.a_)‘{ y4iR
120 8Q 4Q 20 bl e iize 2 A Ns -4

The combined resistance of two identical resistors
connected in series is 8 . Their combined
resistance in a parallel arrangement will be:

oF "EU{J 'ﬁ'g.'g" {"—/”:-‘pj{ -@P ﬁ?{ < -{J L‘fz’fr 8’j ¢4 -l Tq_,a#;:ukufy cr_‘).z ,__@P 2
s ISP Z 811 ul /S LIt ;:olcs Which statement is true about the magnetic poles?
A Singlﬂ Magmtic POICS do Like p()]es attract repe
magnetic pole | not affect each
does not exist other

B=14A=1| B=0sA=0 | B=1sA=0 | B=0usA=] 2 g%?’h | e STt saculss| 3
A=1&B=1 | A=0&B=0 | A=0&B=1 | A=1&B=0 |Theo f tver-input NOR gate is | when:
> _ &J‘j _ :u_’,‘amfj bt éﬂ.{i 4
o {\’Iﬁ ’3((11}' possible states:
ey wWe ot P \X\i‘- \_gr{\ - e 2| s
Control unit CPU Memory (\M@ :1‘-]1 rain of any computer system is:

e X z @\}g} iy &Pl el dl| 6
i

5 i 3

Generally an atom is represented by the symbol:

s A4 ZION & 0/ Pops| 7
Velocity Wavelength q ency Energy Waves transfer:
PN Py §;\)\"f G Bk e Jedu ity s

Water wave Radio Light wave Sound wave | Which is an example of a longitudinal wave?
5dB 100dB 10dB 2048 | sl 9
L 1 bel is equal to:
&y A brdu efun At e Soml S SF| 10
[ts wavelength Its frequency Its speed lts direction | Which is not changed during refraction of light?
iy Loy A - ey (D SR E e 2| 11
Watt Volt Ampere Coulomb | S] unit of electric charge is:
S5 Ll L me Lt 1004l 12
10V sV 2V 0.5V IS oenl cAB U g tyt)

Five joules of work is needed to shift 10C of _
charge from one place to another. The potential
difference between the places is: vl

1013-X123-80000 175
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D C B A Questions / = Uy Ji’/.i
. . e . P 3
o 138 o 145 ¢ 130 o 140 IS T Pothl 1
210

138 days 145 days 130 days 140 days The half life of polonium 84 Po js:

FUH S Fb S e IS K| 2
External mail Extra mail Electronic mail | Emergency mail | What does the term e-mail stand for? g
B=0LA=1| B=1,A=0 | B=0LA=0 | B=1usA=1 :Jn{le!X? X=A-Bf| 3
A=lorB=0| A=0orB=1 | A=0orB=0| A=1&B=1 |If X=A.B,then Xis |, when: = B
SIS | S AS | SOt | g-blendei g A 4
ikl | ulnkuy &bl Incremseathe |qy,, step up trz @3 2P )

Has less turns in| Has more tums | Increascsthe | inputcurrent ;
secondary coil | in primary coil | input voltage A D e

SIS ALL e 22e rl12V| 5

60W 36w 14.5W 4.8W

@ tis lpowcr rating of a lamp ?n}z.f:..*f'f 25A
A\ L\ 1eonnected to a 12V source when it carries 2.5A? .
leV IN IC @\}\) T ‘e bl 1.6x1071%5 | 6
SO |1.6x10719) is equal to: -
ra._-g 7;3/""-01 L/'E’;;‘Ej' SM -ft-’-.f'f {-t?y’ﬂwdbﬁzﬁmk 7
All these Electroscope Elec Current electricity | The study of charges at rest is called:
e 0° ° 48.8° eS|
R The critical angle of a glass is:
10dB 100dB il i | e bl 9
Zero One bel is equal to: —"
U ) Lo Y Setwrg SN NS ZIL | 10
Amplitude Wavelength Period Frequency | The loudness of a sound is most closely related to its: |
te T o T ki T f= T If the time period is given, then frequency is
calculated as: pespem—
' . by K 7 2
T=2mf% | T=2nf® | T= Zng T=2n/8 I e i T
m k g L The formula for time period of a simple pendulum is:

1014-X123-68000 - /
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.::-qﬂ/ W zbﬁdlﬁfﬁ*muﬂmuﬂw}bmbﬁw){{dﬁ}w - ALED HCB -Au[l&.f.f&ﬁdim /-?JI,-
- P L eSS S rmie L k| 1

D C B A Questions / =y JP/.;

;.g,ft"c ' ifsghs a3 i staSonsT e e Fouk| 1
Mechanical . Longitudinal Mobile phone sends and receives the message in the
waves Radlo waves waves Solll'ld waves fon'n of:
_D‘_. _.Do.._ _[DQ_ _[DD_ 3q_¢#ﬂtJLquUv‘ﬁfU 2
The symbol to denote diode is:
XA Xz ;X AXZ Qﬁ'.t{g':&w&-ngfrﬁ:"{fﬁrk 3
A+Z Z+N Generally an atom is represented by the symbol:

LA e (@Q R e b
&

1Q 6Q 360 1Q 8% 2

%;’ Iy
P> |1
N R3=6Q Y
e
5 | |
| |
+ —
V=6V
FEASI g e/ A S S| 5
ST Gy AP RS APy
Sound energy Heat energy | Potential energy | Kinetic energy | The shock absorbers damp the vibrations and
convert their energy into of the oil.

s‘EJ{ SEits| 6

JHe He *H 3|E-l —E\ e fil?owmg nuclear reaction:
'*-7";"‘,' { b ‘;'- Y ﬂJH_ﬁ +Un+Energy
T T T DREE Wk I WL NELN | 7
N " g, 2 V2T If the mass of spring mass system is doubled, then
its time period becomes:
Wm me Wm—l wmuz ?—ﬁf(&kﬁlﬁf’!r 8
The unit of intensity of sound is:
- sini =sinf n=Sm) n=310% . :';'u;"-{df/ 9
v sinr sin1 Snell's Law is:

Sk Ll | 10

9x10°Nm?C 2| 9x10°Nm?C? | 9x10°Nm2C? | 9x10°Nm™2C? , sl
The value of k in Coulomb's Law is:

X=A+B | X=AB X=A-B X=A+B e ebfedi| 1
Boolean expression of NOR gate is:
Ng=10N, | v, =2 =101, N, .=§E. I 10 WAL M| 12
10 10 |The turn ratio of a transformer is 10. It means:

513-X122-85000
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215 \EH PP 2y 7478

BN L N ene PN s L g Q6317 - EsD 1 C B AL g
Il 3L SIS S smskie gl - f

A
1

D C B A Questions / = Uiy JP/‘.’]
..J:J'/' .:—-"c_d/ d"::.:..:--t 793 23 TJﬂlJL}GJ}J}QJ)glLJlﬁJUHJ:&J}JT?'&J;QI 1
From negative | From positive How will be the electric lines\of force where electric field
Closer to positive | to negative Apart is strong? O
Feduior | diabels ahat | s ulk.bt:tpyﬂnbhb_dlf»/ IO Lyl | 2
Cannot be Remains D ) " ) According Smb's Law, Tb"c...xﬂbf;gﬁiu@"{}knﬁ
determined unchanged oo Aereases | what h e attraction of two oppositely charged
objectsas their distance of separation increases?
k K 3 A o ]
WA E 7 Ay %5 U L] 3
Vertex Focal length Focus Principal W@: pole of spherical mirror is also called:
Q)T e
0° 90° 45° v ‘(;-Lﬁ'ﬂ/gd‘ 4
N glass is
{5;:’0% {B‘Q:_"J Y. @ 7 $ J 4 :ﬁ-_;{,‘ﬁ}.,l_,j(@&ilgf' 5
Amplitude | Wave length Peri ‘ W | The pitch of sound mostly depends upon:
an s S5 T PEYe [t Cou P2 45
g L iy / s %ut'd:'i'fu ;t_ % 5
Water waves | Light waves | Radio waves | Sound waves |The example of longitudinal waves is:
(r d Il:é < ‘e .:Ml}fl;_’é; 7
Sodium Thorium Polonium Uranium | Which is not a radio active element?
L/-'-‘} qu.'uf | {jb'fg....g J Ligmf:! Jf;'r”&-!a’:i.zﬂzjm -+U).?JUJ}J7;3J Tu'.r‘.’:..g 8
None of these 8 One quarter Onehalf |The hz.llf-life ofa i.::crtain is?tope is one day. ?Jno;:lﬁ
What is the quantity of the isotope after two days?
X=A+B | X=AB | X=AB | X=A+B | ekl 9
Boolean expression of NAND gate is:
S TR 253 JU JU :q_l;'].k»(q_t‘fﬂl)uuﬂa::zﬁ.,c!/c/ibﬁfk{f 10
MS Office Browser Gmail Email The application used to view web pages is called:
i & b nk L L sede b
l Energy Voltage Charge Power Transformer is used to change the value of:
i U C sl B u_'-’-—-f’u‘s_’f-uf L}_fg_)_’zlﬁ’u.ﬁ) .;_Eu_':lﬁ%f’,.{l :__a,jégdb"dﬁ‘%hff'gf 12
Have different Are the Are the same : : s
L _Bnlh Eﬂnd C it different torms s Electric potential and emf:

514-X122-72000
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B AAN I Lt s e BN e g (W2 - NELD 1 C B AN L Dz | F Sy
O i e S LSSV L St Zf|
| b c B A Questions / =iy o
i weahisf e/l ni e Lmndht e 6 4N |
! & "’:""'u; ol de | AN
‘ Will be zero | Remains Decreases Increases | Ifthe current in a wire which is placed endicular io a
} — magnetic field increases, the force on the wire:
sy 13 123 J _ e tEgadesmin 2
| An energy-saver light bulb uses energy:
v Qv Q ve _ cOedt A AlA | 3
Q v Capacidnce is defined as: |
| Raade | Boade | fonndi | Boudi |- - i <3@#h€'&’%ﬂ%¢'f [« |
ks il peigi | Which type of j l@ by & convex lens on 2 j
- |screen? ;}ﬂ )
%@Mﬂﬁmﬂm vaves? |
v % ?Jsd/ﬁwﬁdﬁmﬁjﬁhﬁt 6
:; Wt Jzﬁmmgk of a wave is independent of the
' o Glyset| 7
Half life of l:;l is:
BHTOBES PSS 8
How many basic operations of digital electronics are?
' Inad p e WWLA | 9
! 1 If the object is on the right side of lens, then p is:
wfenff | ifotsy | A it iR L AL oo L AIT| 10
Number of Nm“ Atomic number | Atomic mass I:olnpu; atoms of same e‘:mm.t with diﬂ'em;t":ﬁ
WA /21 Kk S St e 2 S0l 1
Extcmal mail |  Extramail | Flectronic mail |Emergency mail What does the term e-mail stand for? _
A=landB=1A=0adB=0{A=0andB=1[A=1mdB=0 wrdn seiflelilnicom| 12
The output of a two input NOR gate is 1 when:

513-X121-70000
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WAWMMMMW;MVQR “BELED 4 C B AR lile L Ny /_U,-'
bl i i SL SN LSl B/ 1|
D C B A = Questions / =l ﬁ/?
: : e ASasi g M@
! ' i | The number of neutrons in Tritium ::H :
{ 4 3 2 1 ?b."lj‘”@u'*"‘;(’ l-ﬂ"f”ﬁf-tg"ﬁdf 2
During natural radioactivity, how many types of
radiati emitted?
! WA 1 1 1 i 9@»} .‘:'..UA.{LJ;H.J*J.‘J:;U'J.{I‘ 3
1 None of these 8 . 2 e of a ce ope is TJ.-:J’:L&‘,(._.J:"T’
i f . What 15 if ity of ihe isotope after 2 days? | !
-' O e adfup L aand | 4 |
lt 6 5 3 The important components of Computer
ation System (CBIS) is: ,
\ 2 i A -_ et s
| Invenor Tranustor Amplificr " OT gate is also called:
A 2y < et iAo 6
[ Amgere Vot Want ‘é\é}n& ' S1 unit of electric power is: il ‘
; 10°c 1076C @@5‘) 10c ; ) BN 7
| 3 One micro Coulomb is equal to:
" ? et OTAN k 22V l
will] Dol Ml Wil | T e o mm%kif:'j - i
5 4 3 2 BrOSakr| 9
The types of spherical mirror are:
...I_ = v = = c e brcla = R
n=go =g n=CV g | ebrce 2| 10
Coonf | fiver | fopbT | Gl | cebMdnLocatsfkfant ol 1
Will be N— Wil remaia hatt will min the mu:w dm:g:of vibrating mass spring, when its
| el ¥ | % gy
cooend ! | Second / Joule Second Hemz | The unit of time period is; * i R

514-X121-58000
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P A m..w.j&»&..,w._m.—-_u:uubéq_w_védbmqrw -BLE D s CoB AR L iz | A1y
-fmr‘jw*lh.u&Lﬁu)}‘(fd.&/uﬂd_/.a@ubupc..f é:/
= — ——
N ___,I?_. | C B B A - Questions / = Uiy e
| = LNLE CAMSEALL s vl 12v]
s W I "y What is the power rating S'n},o.‘f_.:/'f 2.5A :
. é’_" S _ ;0f'a lamp connected to a 12V source when it carries 2. SA?
(Y N ; . I . _l
! o t G G ‘-;&.J_J,_J.ﬁ_rwfdwymxu 2
F’” Voltage | Powe _ Energy Charge Transformer is used to chg.(l ge the valuc of: |
. | | The cathode-ray o()oscopc consists of the components: i ;
<A e | e | 2 S o Q° :q_,t,rﬁg&al s |
__(‘._omml unit__ - __(.‘_PL__ Memory __Monitor The brai ny computer system is: :
10 8 6 4 %sk(ﬂ "ﬁ‘_/l/&-:‘-rz..‘.r'l,u(l!l 5
. Ean 5% byte is equal to bits. |
Cobonffl | fibntn |6 g;p{j)df W Y Iy AL NI S st s 6
| What h to th h |
Decreases by | | Decreases by 2 | Stays the same &s by 1 emt?s oﬁgﬁgﬁazarﬁﬁfé’om'c number ofan bt ich _
11956 $1756 rl@ +1856 "'f(‘:f'JJLK(J’HLU"U’f i
- When did Christian Huxgg_s lnvent the pendulum clock?
972 1290 2000 | 3980 "‘ET?;*G BRBNTy 25°C LS|
SR | F _ ' The speed of soundun Wwood at 25°C in meter per secondis: |
—_— "'»-'u‘_b o s
1.36 1.31 I 2.21 2.42 R\ 4 e AT “"‘“"U' Bfiza| 9

u on of ethyl alcohol is:

;'3; 7l ety bl 1aem &L L /f/(’.f 0
is 14cm in front of "Ll/igtf:’b’/ ..L(f/ !

! a convex mirror. The image is 5.8cm behind the mirror.
o ) ) What is the focal length of the mirror?

-¢.lcm -8.2cm -9.9¢cm =-20cm An obj

1
viQ Qv Qv ve ¢ z,)uufiu*’d/ n |
I —— Capacitance is defined as: o
r 1T i sy A1k FTeiy -3 _,,J [ PIA0) _{,au i/ / 12

Free clectrons |Positive charges| Negative ions | Positive ions

—
l
|
|

An electric current in conductors is due to the flow of®

513-X118-62000
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e SIS I I L N erne LUHE E s L Jrpy63R - BELED 1 C B ANZLLL iz | Ay
-vamuﬁ‘;@ﬂfu.if.bryu.éfwﬂmm.ﬁ 2y A |

D C B A Questions / = Uly A
e LB AL SALL L tze gl 12V 1
' oW ik d KW b What is the pom Tn};.‘-:_*}/ 2.5A |
i T | iofaa\ lamp connecfed t0-4 12V source when it carries 2.5A7 |

7 H - a— =
-2 4 g Lk O L i e 2
| Voltage | Power Energy Charge  [Tran sed to change the value of: i
| A®. T s 1 1
4 3 | 2 5 Q’/# e dﬂg“?ur’?-;'bk.ﬁf‘! ! 3 l
s\ The cathode-ray oscilloscope consists of the components: | r
. il I : (4] [
it 14 ot @? et | 4
Controlunit |  CPU Memory | (\ MogBor | The brain of any computer system is: 1 i
‘o 8 : ‘ ?;l-_.,gl,gﬁ.:.f,z._-il,..{l 5 |
- - : _____!Une byte is equal to bits. o
-t | - a ¢ - « £ 4 l
P onffi Citonfn O/ | ¥ebenld e y 7 AL e 6/ z-,;bdﬁ&w:._g?m_g.,a. L 6 |
What h to the atomi ber of an el t which '
Duseby 1| Dby | Says e Iy 1| PSn o somic mumber ofn cement wie | |
$1956 #1756 11656 (1856 LSS el oAt/ | 7 |
When did Christian Hpgéns invent the pendulum clock? N |
972 1290 2000 3980 ﬁ;f:‘k:ﬁ;}"c‘é ST 25°C 6 F | 8 I[
I - The speed of sodnd-in wood at 25°C in meter per second is: |
b ‘\,‘I“ &, -

1.36 131 221 242 | 4 e FAITAISIS 4| 9 |
The indéXuf redgittion of ethyl alcohol is: [
|
| 5. L1 ety g b6l om 2V LS| 10
| -dem -8.2em -9.9cm -20cm | An objekis 1cmin frontof e WFEFK, o By v |
: a convex mirror. The image is 5.8cm behind the mirror. ‘ |
.y mn [Ty What is the focal length of the mirror? N
1 - .k !
I ViIQ Qv Qv vC e SN ASSESF | |
|__ Capacitance is defined as: D - |
R Fisk Flsy el L/ oL | |
l Free electrons | Positive charges| Negative ions J Positive ions | An electric current in conductors is due to the flow of: 5

1
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i ~ %
D i C | B A ' Questmus / ...AHr ’ .al-"/-,‘
! : el : " |
5 ! 4 3 ) I c..:lﬂd//u::uc (H) fé i
: 1The number of ncutrons in tritium ( H] is: | r
f 20 I
1876 (1886 /1870 (1867 | ‘5"“?{“”’&”{’"&(: = %
- _ ) _ . : When did (_.raha ej ake a simple telephone? i
FEA T ELAT| K | KA v‘,»__;:mfl)-’u:? 3
Elecur icai i il | | Electronic mail ~ Emergency mail Extra mail 'E-ma:i 5 rcv:auon of:
_blearicl ! | sﬁﬁi ;
i ;
6 ! 4 3 i | % u‘££ }CJL‘:lé.ur"j 4
N B ) : . omponents of cathode ray oac1llosc0pe are: |
) - ! & 14 - - I
w2k AL e G %: 1S:’ e b LS r i frelidnl s
- : F '  Temporary magnet which cause to flow current ! l
Edectromagnet Magncet , Elecmumen\lty ! b 2 field lthruu_gh a coil is: ' :
~ . 2 L ‘ - ot —
Wy (s l {': o i&f‘ y "‘3 Ay Sl 19, il 6 E
Watt . Ohm Farad " 2} STt bf
F1oo1 12 (A ety SIEUE S d"’f 7
~ Pascal | Farad i Ampere | S unit ofpotent:al dn"ﬁ.rcnce is: I
- ! | i
2 o 120 | b 22 o9 2 gl eI ke S e ienL e i s
PxLO"Nm"C™* 9x10°Nm~C | 9x107"Nm“C !9";0 N“C™ i the medium between two charges is air, then the } i
B . value of k will be: ] |
§ | - 8l g .} | e eSSt o
Ix0ms™ | Ix107°ms™ | 2x10°ms™ 1 2x10%ms! | —— . L
e : ] | { The speed of light in glass is: | 1|
_ | | $ | " gu > —
St 495° | asse ] {d‘;'! 1
! ’ .| Thecritical angle of water is: I
386 me~! 327 ms ] 346 ms™! 331 g ‘-'-"7" B yoct
i ‘ o __|'The speed of sound in air at 0°C is: p
x = —Fk k= F = -kx F = kx UKL | 2
. . | The formula of Hooke's iaw is: 1 i

514-X118-48000
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Lo

IR e = ;ﬁu:}hié.: -:':‘.L-Ldfr‘;: £ QFL}LE _uggéJDJﬁCtBrA:rUﬁj
K i A2 0l 2 :.-JJ‘L{.LI,E fubrLL.f{: s vl e ) L
1. 1- Ifthe tumn ratio of a transformer is 10, then

Ji'rd: {,}':";7 ik
A BLI L oo 32 Gb
Irn100

OGS nR L iz i 1.
_ Vi=V,x10 @  Ny=10xN, (o) N, = %-_ ®) Iy =10x1, (&)

O Rl et d o
two times s (C) fifteen times ok B)  five times &y (A)

~FeSwaSS AT .
r. ‘,v—,. (B) VC (@A)

Speed of sound in solid is comparatively faster than gases
eight times 74T (D)
3 - Capacitance is defined as

3 O Qv (©

4- Charge on alpha particle is bl o :,f’:ak Wo-q
2e (A)

et BHL L PPl .5
nuclear fission o* 2% (A)
burning of gases < » (& L . (g

S5e (D) 4e (C) . 3e (B)
6- Release of energy by the Sun is due to
‘ nuclear fusion wid A (B)
chemical reaction a3 £ o615, K< (D)
6 - To make burglar alaram, we use o LS AL Li pufﬂ -6
NOT gate oS ot (D) ORgate oJ'7 (C) AND g{%i&l (B) NAND gate oS % (A)
7- The term e-mail stands for @ e .8 7

electronic mail J<' £ éﬂ@o emergency mail J: U’iﬂ{r (A)
)

external mail &' extramail <1241 (C)
8- The relation between velocity, frequen

%{i@}“ﬂﬂ length & J;uk.u{. i@é'uﬂ LfiJE)-‘L!.'U: J,f.l L -8

of a wave is @
= o vi=f

9- IfX=AB, thenXis

.l

(C) fA=v (B) vi=L (A)

Adng10dxras=x/ .9

AorBis'0' A=0|B=0 (B) AandBare'!' A=1 . B=1 (A)

Als'l"and Bis'0' A=1 . B=0 (D)
10 - The type of image formed by a convex lens on a screen is
inverted and virtual f3.5.0 1 (B)
upright and virtual J.E;; s % (D)
11 - How does sound travel from its source to your ear?

Ais'0'andBis"1' A=0 . B=1 (C)
ISP g RS 10
inverted and real (£, i 1 (A)
upright and real (£, il (i (C)

e FL B le Aliin g ¥ -11

by changes in air pressure 2y Q’J;-'u.' Ll (A)

by vibrations In wires or strings < o271 (f 55 | b (B)
by electromagnstic waves =l (f 3y, G5, 26 ()
by infrared waves = ( oys L5 (D)
WVhbALL e yrlian -1z
g LS 25A e £ 15 W ny

60W (D) ((- W (C) 145W (B) 48 W (A)
114-{IV)-15t A 223-95000

12 - What is the power rating of a lamp connected to a
12 V source when it carries 2.5 A?
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L oWRenae F L b Jrsg Q¥ gz L E DNNC B AW R & Jir g 1l

A sd s 2 fi B §LS LS LTS ot i e S s e BN S 00 3 Ol
1. 1- Compound used for diagnosis of brain tumor is

10 -

11-

12 -

i N-152 (D) H-3 (C)
The focal length is related to the radius of curvature by
Re © R4 (©

The time Interval after which the voltage repeats
its values is known as
wave length JE":: (B)
displacement ¥} (D)
Isotopes are atoms of same element with different
atomic number  #L¥ (B)
number of electrone L& L,f;F,-,-'-EJI [{&]]
Particles emitted from hot cathode surface are
negative ions ):Tst'g (B)
electrons x:;..ai (D)
If we double both the current and the voltage in a
circuit while keeping its resistance constant, the power
halves ¢ (b i (B)

quadruples < afu_r o L'J';J; (D
The output of a NAND gate is '0' when

both of its inputs are "1 En@; (B)
any of its input is '1' ﬁ@ A=1 (D)
The loundness of a sound is m related lo
amplitude 3«4 ( Velength #4s (C)
Number of input/inp operalion is/are
D) -3 (C)
An AC generator works on the principle of
electrostatic induction 54 2491 (B)
none of these &'/ L2 &1 (D)
Which of the following is an example of simple
harmonic motion?

et il L fdnd b -1.1

1-131 (B) P-32 (A)
- yﬂknf.}urujh,dém' EQJJ -2
Rs ®) R/ (A)

& l'lk“,u{._ lji.b.-: H’uF‘}dl éj.u#! L JSodhw -3

frquency (S (A)
time period 44 ¢ (C)

AP L L at g LRl -4
' J'.n’ J:"J."q.. bt
JhLE (A
number of protons L (f 2y (C)

pinthe LSl /z i -5
positive ions T k7 (A)
protons s (C)

e WA AL L AN -6
sk 7 i S s Bas sl
rémains unchanged % 70) 32 (A)
doubles & Uk x b (C)

S0 e aiT§ed NaND e -7
both of its inputs are '0'  B=0 »l A=0 (A)
any of its inputis ‘0" B=0| A=0 (C)

e A o KA (L -8
period Lo (B)  frequency L) (A)

U Gl ] e el S HTNOmet -9
2 (B) 1 (A)

et K gdr Rt L - 10
electromagnetic induction /541 &6 (a)
bothA&B UM B sl A (C)
et e Lisuie U diae -1

atomic mass

Te- 8ok S
the motion of simple pendulum o Hx,‘gg wle (A)
the motion of ceiling fan o J ef Lo (B)

the spinning of the earth on its axes  ¢/#s/L Azifets (€
the motion of a bouncing ball on a floor I;P!”L;-‘JLEHGQI‘{J) (D)

Image formed by a camera is

el Gl A

-12

real, Inverted and diminished U e (1o K (A)
virtual, upright and diminished (o = o S fzn (B)
virtual, upright and magnified (% o 1 S Jgr (C)

4'.

116-(I1)-15t A 223-86000

real, inverted and magnified

$x ek o Flks (D)
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£ u....aiﬂa:w’,.uc'_.-utu:fbi.f___:ﬁ.b—?:.dlrﬂ.:qydiﬁ .u_?éié..JDJstrBfﬁ\#!'ﬁjzbiiﬁr; oY
K i ! GJL;J#JJJJL;J%IHLK&L;JEIUJ}{J u_l,.ic'..uﬁ_‘cﬁ:)ﬁ’a.ﬁi_.ﬁl. & 21y Sl b

5 S T are also called gamma rays. ‘U’. 4 /e ZJ— - 2;‘5:_&4'4: W

positrons nzi¢ (D) protons vtz (C) eleclrons 4! (B) photons 9 (A
2 - To make burglar alarm, we use U g“_/dt;ri (" &0 b ,E .Y

NOT gate (D) OR gate (C) AND gate (B) NANB gale (A)

3. An electric current in conductlors is due to the flow of . e

negalive 10ns ;P'F,L-'? (B)

free eleclrons :P:/'-Ejr T (D) liyé charges 7s¢ xJy (C)

4 - The refractive index of water is

133 (D) 1.39 (C) 2.33 (A)
5- The speed of sound in iron at 25°Ci : J':#-J,':,T{ 25°C L ysT -6
1531mS™" (D) 3980 mS™ ' (C) 47004S™" (B) 5550 mS™' (A)

6 - When water waves enter the region of shallow water J A9t L-!J'T J’ B A R J!fﬁ’; ’ J dl; w2 -0
Q@ & ;ﬂ-:_h
0@ increases < L-}'-g rwli (A)
@ decreases < Jlg ” r" (C)

' @?;. e Jut &5 S PGP U e S L -

their wave length.

remains same < U4 (B)
none of these U7 (e 5! (D)

7. Which of the foliowing is a method of energy tran§fs

all of these U/ (D) wave monunufr J radiation J*U&; (B) conduction J/LF' (A)
8 - The loudness of a sound is most clos -'.:':. bst £ A soli b’w‘iiﬂ J}:iv -8
its .
amplitude 42 ¢ (D) ve lengt/#% (C)  © period 4¢ (B)  frequency uHE} (A)
9. A converging mirror with a radius of 20 £m creales a real }:'.'[:i:‘"fm 1fe gebm ,‘-:d;‘-f 20 uﬂ_J ¥z ..E:»'JLQ -9
image 30 cm from the mirror, The objgct distance will be Ko e 5"(""_5_ bt E1 K Ly bt £
+20 cm (D) +15cm (C) +7.5cm (B) +50cm (A)
10 - An object gains excess negative gharge after being tok ;b'-ﬁuy e s U e J_}C,; ["-’.:../» f/-._gl 10
rubbed against another object,which is . s (")i/u .Jf}fq. bl T
negatively charged .:g.rlg{ T :&«’: (B) neutral J2% (A)
all of these . (D) positively charged ek £ %3¢ (C)
11- If the current in a wire, which is placed perpendicular to SeSlnés e Ui A A lj‘:l.-r'f'ﬁ WoEe S
a magnetic field increases, the magnelic force on the wire Jx;’ _@?dl, i_/’/d"{ Sy dlp Lok F
decreases J 5 ;f (B) increases |,)r &Y (A)
will be zero L(nj" (D) remains the same J.v: uJU_JF (C)
12 - A CD can store about MB computer data, ..r;_i:’:lgi,_f;ﬁ-* Lited _ MB LJtCD f 12
610 (D) 620 (C) 680 (B) 600 (A)

114-(TV)-222-101000
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it ‘-1-"‘—'3 e e S U & &) &b&dfﬁﬁ{d((}h’. -uf:’-'_'é_JDJJICf BrA_"-l,l,ﬂ'_:j;lei Jir z o)
Kot pl iz 4ifi L,ﬁ qu!’J-J_.f.q.’ SOWVLS i i wli e Y “Zife B LA S ot s Jb

+ 1- "During the fission reaction of 1 kg of uranium - 235 @ §/ ______uim £ ™S5 oML 235 sy ¥odi 1

amount of energy is released. - 5 -G Ot Ll A S
3.7x10" J (D) 4.7x10"J () 57x10" ] (&) 6.7x10" J (a)

Z- Tomake burglar alarm, weuse ______ . Ut LS ' &k rJUT/g.c -4
NOT gate (D) OR gate (C) AND gate (B) NAND gale (A)

3 - There will be volts across 6 ohm resistor & t';)" 11 w3 S 41 (s 6 gD
when 3 ampere current passes through it. S SIRE
0.5 (D) 18 (C) &B) 2 (A)

4 - The speed of light in water is approximately G L g o Gg -4
4.3x10° mS™' (D) 3.3x10°mS™' () 2.3x10° (B) 1.3x10* mS™ " (A)

5 - The intensity level of train siren is (decibel) dB. TSNE Je L;""Li KoLyl -5
120 (D)~ 130 (C) E 150 (A)

6 - In motion of a simple pendulum restoring force is M, enl S e -6
provided by e f!f

tension in the string il;fq_,t.f_'_tu ’ air resistance .:.-?U-Jl.rf (A)
inertia '@l force of gravity .:.«;J i (C)
<

_.,gu"“: GF L iy .@%}?!rﬁut(,w}rgfs

=1

7 - In a vacuum all electromagnetic wa e the

same i _
wavelength 5 (D) mplitude 3 {c{ frequency %/ (B) speed L (A)
8. The loudness of a sound is most closely related to its e by A1 ks €A S -8
amplitude 304 (0)  wavelength #%45/ (C) veriod Lz (B)  frequency ¢} (A)
9. The critical angle of glass is / e Safve
46° (D) 44° (C) 42° (B) 40° (A)
10 - The leaves of charged electroscope collapse if.we LKl & .?,F,}-?r desle ¢ LS e ‘ 1
touch its disk with Kibnf
lead 4 (D) plastic/ &t (C) rubber %s (B) wood 50 (A)
11. The study of magnetic effects of curreht is called et e EeL S
electromagnetism [/ j“‘-ﬁ}?# (B) magnetism (';'-:‘--c (A)
electrigity L;"' -}'?! (D) electric capacity d"}{f}gl (C)
12 - Graham Bell made a simple telephope in ke L2 ____u;'d( wbe o Jfflf g
1896 (D) 1886 (C) 1876 (B) 1866 (A)

115-(IV)-222-98000
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L s f i el Yy, < Qﬁ'dlﬂ' ...ujé{_.t DHCeBeAy2 ijL Jr s onad
K i 2 0udd 2 ..:b;:"JL/_éf..:.l’L LS s wie S A BLA S o2 s Jb
1. 1- "The basic logic operation of NOT gate is called BESRI LGB L oLat -1, 1
non-inversion Ayt (A)
NAND operation cﬂ{T}a (C)
BES W0 e L6 o
electric field lines ) . /291 (a)
electric field intensity (41 14 _/20) (C)
S0V L4kQM6KkQ S 3
and4 k Q which are connected in series across a 10 V battery B NP PRI PP
%kﬂ (D) ls%kﬂ (C) 2kQ (B)
4 - The step-up transformer

inversion 7! (B)
NOR operation ;T (D)
2- The strength of electric field at any point in space is called
electrostatic induction 8| @22 (B)
electric potential %20 (D)
Find the equivalent resistance of two resistors of 6 k Q

0kQ (A)

sl 4
has more turns in the primary @ Ut Lnf st S A8 ()
has less turns in the g@%il pLnk bS8 (B)
mcmm@%ut voltage ¢tb2d Brsgul (©)
ner

i e input current R blox S/, <l (D)
5- Waves transfer from one place to anothe @ - l}/ﬁ’bfd,mc_.i.gig: -b

frequency %/ (D) wave jehyth> \#&)s (C) energy G/ (B) ‘velocity (s (A)
6 - The value of constant K in Co b's law depends upon - bnt A K Mmr;ﬁ oty -6

arges 7L-¥7./¢ (B) medium between charges Chroenl 24 (A)
magnitude of charges 32/ (D) distance between charges bl 7 (C)

7~ From which of the following you can get information JA w"‘:.dli?! J U s ..,.Ta. J’ e Ldiae -1
almost about everything? ' ES
internet 2% (D) computer Jud  (C) teacher i~ (B) books A0 (A)
8- Speed of sound in airat 100°C is - D EMTL100°C L1 -8
366 mS™' (D) 386mS™' (C) 376mS™' (B) 346mS™' (A)
9- The SI unit of radioactivity is -4 2y ST, -9
kilo rem ¥ (D) rem (- (C) kilo becquerel Jo%¥ (B)  becquerel Jf (A)
10- Formula of em.fis | e KV 210
E=% (0) F=% E=%1 ®) E=Z @)
11-  Example of longjtudinal waves is <« JeSpdidd 1
sound waves iy ¥3l- (D) radio waves Jys74. (C) light waves i J Gju (B) water waves Jy» J J[, (A)
12 - The pole of spharical mirror is also called - b S J{ "J/.Ji/." T-12

vertex L/gf.l (D) focal length )QLFJ’ (C) - focus Lf(.l" (B) orincinal avie -wglk;'. (AY
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P T SR - n.bJJ“JLf,é fa.*.fU'L LS wh) e LI L

1- _Ifthe mass the bob of a pendulum is increased by
a factor of 3, the period of the pendulum's motion will

12 :
}k F dlr/r 0%
A BN L otb 3 Jb

H,:-_:;u'i?z_l,pftfufm(dfﬂ.l;gujfr S |

Kbntakesrd
remain the same ¥4 00/ (B)  be increased by a factor of 2 € boxths (A)

be decreased by a factor of 4 ¥ilps(Jy (D) be decreased by afactorof2 fZin(th (C)
2 - An example of longitudinal wave is -4 Jeo J{:J!ﬁ‘:‘ -2

water wave /5§ J} (D)  radiowave £4ts (C) lightwave ¢ds (B) sound wave L5 (A)
3- Ifaray of light in glass is incident on an air surface at an SeStpvne b lme, el

angle greater than the critical angle, the ray will _J ResInly ﬁlg)_”x Jcl & A
reflect only wi¥ 3~ (B)
diffractonly &£/5di5~ (D)

4 - The speed of light in glass is

refractonly <£4~ (A)
partially refract and partially reflect w4 s1ef 14 (C)
-5 JDJ JU%;L}:J-.'?‘ -4

331mS™! (D) 2.3x10°mS™" (©) 2.0x10°mS™' (B) 3.0x10° mS™' (A)

5- Formula of capacitance is

Q i ¥ EsE 5
AV
Q (D) %— ©) <@l (B) VvC &)
&S
6- The Coulomb's law is @O% - il -6
F=K3—';11 (D) F=K3:‘3@ l“=(}9lil*_—lz-l-li (B) F=qE (a
7 - The unit of electric current is @ & &y ¥/ 2 o7
ampere. A4 (D) ? ,Jf (C) joule Jz (B) watt &l (A)
8- The direction of induced e circuit is in accordance LS e W fiLg iyl -8

with the conservatio

charge « Ut Jb £ wie £ o7 S Ll (B) mass & drr O L wIF L FF St (A)
energy & Aot .J.’ﬁu‘i WL P S35 B momentum & On Jb & wiv L @u/nfr"'rr (C)
9- The output of a NAND gate is O when | An0agesTfelie -9
A=0 ,B=0 (A)
The computer based information system (CBIS) is formed by - Ut /< ur (CBIS) =i bz Jnd
8 (D) 5 (@) 4 (B) 3 (A)
11- Release of energy by the sun is due to et/ ek AN LSS Tr -11
burning of gases & £ urd (B) nuclear fission 2% (A)
nuclear fusion i 4% (D) chemical reaction %15, < (C)
e Sy S 18-k -1
Ji- 5730 years (A)

A=1,B=0 (D) A=0,B=1 (C) A=1,B=1 (B)
10 - -10

12 - Half life of carbon-14 is

Ju 5760 years (D) JL 5750 years (C)  Ji 5740 years (B)
116-(1)-221-98000 y 4
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L -2 e Lﬂuuhéﬁ.; e L dl}’f{qu'f -JJLJDJ!'C BcAxlz j;v&dir; HOY
Ky 1k 2 u.& _-JHJ.J../,;/...KL.J_./.;.IQJID e ....;.l Z. /:_.JI../:L :’Io/b.th:’ A%

1. 1- When uranium (92-protons) ejects a beta particle, Ly i‘_-_ ¢/ &l Jf’.:; v ('/n{ -92) r:"'-u: -: -1 .1
protons will be left there in the remaining nucleus. _o"é._ig y s Iy u’*ﬁ
91 (D) 83 (C) - 80 (B) 89 (A)
2 - In computer technology “information" means: b €L 2 Gl 2

any data L‘;iJi’ (B) @processed data LSizsg (A)

large data Clel) (D) rawdata Li#6 (C)
3 - The particles emitted from a hot cathode surfa ﬁ S llvp( Lo = J sl oS A, Z:. <) -3

protons :u'.-f (D) negative ions /' :@ electrons ;lfal (B) positive ions !rd (A)
4 - The output of a two-input NOR gate i |s - U n" " L5 J._J‘ (NOR) 6 &ty eyt 22 -4
A=1 B=1 (D) (C) A=0, B=0 (B) A=1,B=0 (A)

5« The direction of magnetic i &; f<o>rce arounda o ;’..Jf;"'uda-_l,-i-{.y ;/ L o b ot ..*Jf;,f.! v /i‘-"i.g* -5

S

current carrying cong getdpis found by -5 39 J r}”;. =
fleming left han WIeL A JNE P (B) lens law ws/FL # (A)
allofthese /Uy (D) right hand grip rule  Jrt £ =3/ § A4 b (C)

6 - Under damped conditions (wet-environment) resistance J”J; J P Su'l LUl -6

of human skin
increases = G?ci{ (B) reduces < f:iign r’r (A)
none of these (2 e 2! (D) does not change ¢ (st &7 223/

7- The combined resistance of two identical resistors ¥ g pud Lind o lre 3p e -1
connected in series is 8 £ Their combined resistance % Sl 22 3 /M <80
in a parallel arrangement will be Ko ¥
2Q (D) 12Q (c) 4Q (B) 8 (A)

8 - If two capacitors C4 and C3 are combined in parallel, un & 22 J’r,,:' Cp s Cq J sl A 8
their equivalent capacitance is found by - JL; oo I u‘.{ AP ¥
Ceqz_cl"cz (D) chzci[‘*“cl: © Ceq=C+Cy (g Ceqzcl'*Elz‘ (A)

9- Index of refraction of air is i SER ST S -9
1.31 (D) 1 ©) 1.52 (B) 1.33 (A)

(A1) -
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L eme fumdéseeldirg 3607 gL EDHCB AU K L Jirp 12d
K gl N2 s Fer§ LSSV LS oS whi e L1 B e B\ N S 0ih S Jb

1. 1- Which of the following method is used lo transfer energy? &/ &L/, V' f GAIf U e L Sipse
fe bt Jui

all of these (li. (D) wave motion o #(C) radiation ¢k, (B)  conduction J‘jf (A)

2. Speed of sound in sea water is s A TR QL

a72 ms-1 (D) 1531 ms-1 (C) 1280 ms1 (B) 1488/ ms-1 (A)

3 - During refraction of light its will not change
wave length J'@ £ (D) frequency d’l‘f,-" (C)
4- The type/types of spherical mirror is/are

4 (D) 3 (C)
5- One micro Farad is equal to
1x10°F (D) 1x109F (C)
6 - An electric current in conductor is due to flow of

negative ions ;P'Ti:-? (B)

7 - The specific resistance of metal iron is

q

1.69x10°*Qm ©) 10.6x107%
The presence of a magnetic fiel
Sezitdv @B
magnetic compass J& @.f. (D)

stationary positive cha

9 - Equation of OR-operation is

X=A.B (D) X=A+B

10- The cathode ray oscilloscope consists of
main parts.

5 (D)

11- The term e-mail stands for

y 12 - When a heavy nucleus splits |

the process would

absorb nuclear 7nsrgy J e I (B)

absorb chamiua}f’nergy J stoie S J.:‘{ (D)
117-(1)-220-76000

dndts

free electrons #4907 (D) i
0.8x1

detected by .-

St ws LA S G

speed 4ir (B) direglion =~ (A}
- Vil Jor i

2 (B) 1 (A)

— 4L 38

1x108 F X108 F (A)

" 0@0 S s £ /00 2 Jof

positive ions ;#;Tj;j; (A)

positive charges Z:kxJ¢ (C)

o~ A g ST
5om B 1.7x107%Qm (A
i ' E/L(J'J’.’)" S a i€

small mass b (A)
stationary negative charge (/b ﬁ'gur L (C)

. =bls § 2 T(OR) T
X=AB ® X=A+B (a)

*?ng}:&.‘;ur"ﬁf .,'..-pllt':';..'jﬂ{

-

3 (B) 2 (A)

o Y S

emergency mail S 4! (A)

extra mail J< i}r":i (C)

P V- Jk"ii-rfw‘-’ﬁaﬁﬁé-f'-.—-’-

- Jf J17

release nuclear energy f w o G (A)
release chemical energy J sl J.}!u‘:‘-'-{ (C)

|

=7

- 10

-11

-12



Physics (New Scheme)
Time: 15 Minutes
Marks: 12

(Group: I) Objective (5

_ Code: 7473
L il e & (¥ u:?h&fé.:&bﬁwfﬁ.;géqu -u}ﬂ:é_JDJJiCcB¢A
-8 i w2 0l 2 ‘:.-.:!'L;d..,fé j&#’s a.'..../r.{:

1. 1. Ifametal (Tungsten Filament) is heated to high

.r(u:.?l: whic. L s L,{FL):L

VSt idon A S (o L3 2 g
temperature which of the particles are emitted out? 'z Gl .ﬁ-’;l; 217
U a2l Sy (D) neutrons /¢ (C)

protons 34, (B)
both protons & neutrons

s % (A)

1<

A 100 watts bulb is connected to 250 volts supply.

e _U'}_E'J'c.. JII;"JJ’J 50 f-.,Jn':--.'-h 100 ..,.l:l
The current flowing through the builb is

amperes.  _o ;4 e Sés e
145 (D) 48 (C) 25 (B) 0.4 (A)
3-  Which of the following is not a processing? ‘e ...E:—,{ ;J*' W ¥ ufj.;w;-
gathering i./1#1 (D) calculating I:/.__.CC:..L-* (C) manipulating /742 (B)  arranging ks> (A)
1-  Foran ideal transformer, we can write that SuESd < g" LA T
el (D) s (C) = (B) E- (A)

Ve Ig s Ip P Vs Ig
5- The brightness of the spot on CRO flourescent - s fFosb 2 CRO

screen is controlled by
positive potential of grid J""{ I:Jg b"if (B) / %0 anode {21 (A)
cathode % (D) O% plates = ()
L - Wnich of the foliowang option is a streamof < /

%@ ;Fl/"gl Z3H (1% HT U e 9 d_'j G

% ol
beta radiations 25t tx(8)
P

high energy electrons?

alpha particles (11 (a)
positive ions gamma radiations 21§52, 1 (C)
7- Two resistances of 6kQand12 P T L ruidins; 0§ 12kQ 4 6kQ

The potential AL 5 6kQ e Vize 3 ) Ms
difference across 6k resistance is

In parallel across a 6 volts b

volts. - u‘lv u’iﬂi J‘L‘f:'*
12 (D) 6 (C) 4 (B) 2 (A)
% . The speed of light in air is approximately equal to ms-1. g &E G = L )TEJJ -.;;uf!y:
3x10° (D) 3x10® (c) 3x108 (B) 3x10° (A)
Y- The speed of sound in solid is times greater ¢/ L6 L urd e (Tt o
as compared lo gases - ki
15 (D) 10 (C) 5 (B) 2 (A)
10 - The wave in which the particles of the medium move back g £ i $aAN 1! .:.b_j Far AV 0 29 (5
and forth along the direction of propagation of wave is called - JLR{ = I i L er J cfr‘

light wave 75 {53 (D)

radio wave y»#4, (C) sound wave ) J T (B) water wave s J di; (A)
11-

The radius of curvature of a converging mirror is 20 cm.

e /< i 20}:/ JTL}fJ,:; Ko loss’ L
Its focal length will be cm. S T EN N
-20 (D) 20 (C) -10 (B)
12 -

10 (A)
The electric field lines are used for the representation of - (1 Ji 50 2U SR LSS

capacitance ywsliunS (B) .
ial i Lu % (D) 07__ electric field .24 (C)
potential difference 25 Sy ( 6{ t q

electric potential d"’é..f}?l (A)

b Jljfi/‘:;dy
Paper: I (Uil ey JFGLE) 219 - ) Dg¢  (F 5
(trur k) & 15 1hy

12 :g/.:l

Az X £ iy o 10y
o 3 Fibe

-1 .1

-1

-10

-11

-12



Physics (New Scheme) Paper: II (["'J JI e JPLFJ#?) 219 - (Im)

Time: 15 Minutes (Group: II) Objective U‘i/"
Marks: 12 Code: 7476
& 2 en e St L el Jir £ £ Qrdfﬂ ..;J_‘:'i‘-__sl DACBcAaliz o0
K ¥ i - 093 'V .:.;HJL.»"..E f-.‘.—b’& d.....fr.é :(UJ}L! i __1_-1 Ry P

bl g,

II 24 (f-:-lf) g
(,',_!f Lra) L2 15 1

12 : U5

de & v g

CELA L a2 3 Tk
1. 1- if we double both the current and the voltage in a circuit 3, ..'..Wf._/"’j;._; ._&-\.{l r-'ifl -1 .1
while keeping its resistance constant the power s IS S 5» Py
becomes half ({z by id (B) remains unchanged < ¢T3 02 (A)
becomes four times ' Z_bxutithp (D) becomes double 2 sth (C) -
2. If we burn one tonne of coal then about -= de M iy = il f.ffw‘...g -2
energy is released
3.6x10" ] (D) 2.6x10'%1 (o) 1.6x10'°) () 0.6x10'%1 (&)
4 - The loudness of a sound is most closely related to its D Y V- Sy T Sxe -3
amplitude 5445 (D) wave length #¥ (C) period Lz (B) frequency (5K} (A)
1- AND gate can be formed by using two gates. < 23T L AND 7S U Fudi . 4
@ T Jd n M
Z NAND gates (D) ¥ NORgates ©) ¥ OR @Qxa} J¥ NOT gates (A)
5 - Which thing works on the principle of electro-magnetic ..r‘{ ! ey A0 2 it ol S0 ity R u’}' -5
induction in hydro-electric power house? % e df rl(.; Jrn 2
generator =7 (D) motor /v ‘2@5© cell J (B) battery (& (A)
G- Mouthpiece and earpiece are the parts of @ SEL_ BASNLI -6
computer }gf (D) televisi (C) telephone u,r;'df (B) micro scope .,‘.;J‘:E/FI. (A)
7-  Number of input terminals in N is - A o5 SR st oS NOT -7
4 (D) 3 (C) 2 (B) 1 (A)
8- Astrong field liesin Faraday Cage. S £ 5( <2 -8
gravitational J*7./ (D) geometric 337 (C) magnetic chufu (B)  electic 281 (A)
) - The speed of light in water is -l L}s &J:ﬁwﬁ GE -9
1x108ms™! (D) 2x10°ms™ (©) 2.3x10°ms™ (B 3x108 ms™! (a)
10 - The part of a wave, where the particles of mediumn are & e J‘i.?.; el flr Uz 2 uki -10
lowest from the mean position is called - el Sl
wave length #€y, (D) wave front =2} 45 (C) trough 3/ (B) crest oo/ (A)
I1- Alternating current (AC) frequency in Pakistan is i S ac)e LA e ol -1l
80 Hz (D) 70Hz (C) 50 Hz (B) 60 Hz (A)
12 - Which of the following quantity is not changed e LF';" e L ardm & FHEGu 12
during refraction of light? s 7 Ju

its speed Ly (o1 (B)
its wave length  #€%, 1 (D)
120-(111)-219-70000 £ 93 o

its direction ey (A)
its frequency 51 (C)

n 10



Physics (New Scheme)  Paper: 11 (AHuWilleg AL 218 11 4, D v
Time: 15 Minutes  (Group: 1I) Objective (5 (g2 1p20) e 15 12
Marks: 12 Code: 7476 12 :/
L otane Lund {.J&Vﬁd'r;{éfﬁh'. —ugir;.:DJKC-B-A.:-pR 3
Kr® sl 2 s L oS LTSN VLT o 26 i e o Fh e SISV 03 b
1. 1- The basic operations performed by & computer are

non-arithmetic operations 72,7 & it (B) anthmetic R84 )
bothA&C Ui C 4l A (D) logicaé Pl (C)

2-  AND gate can be formed by using two te Frr b s o e S T Ands .2
NAND pates ¥ 2 (D) Nomgates X (C) R gates oF7 (B) / NOT gates Pt )

3- Elactic power (P) is equal to
o) 'R © v
i- Fivejouesofwork s neededtoshit 10Cofcharge Lyl Lymbk £ lifppl0C S -4
from one place 1o anather the potential difference Ha L oip
between places i
10v (D) S5v (C)
5- Marsyofightinglassisincdentonanarsutace SV il blw . Siha b/ 5
at an angie greater than the critcal angle the ray wil _ » <, 7 @.,ﬁaﬂf..ﬁ.‘ﬂprw
reflect only 4% i (B) refractonly of) i~ (A)
dfractonty o4/ M5~ (D) parially lyrefioct oL ol) L (C)

6- memmmv.!mldamh@% sl By Gignlod -6

A
v=? (D) vl- fh=v (B) vi=k (&)

7- Release of energy by the sun is due Ve ig sl NSt -
nuciea fuson 3 A (8 nuclear fission  2.5L M (A
chemcal reaction FEg L (D) bumngofgases = & L 7 (€

8- What does the term e had Stand for? e I S K-y -8
slectronic mad K1) (B) emergency mail K0 (A)

=9

external mail K 0250 (D) extra mall K251 (C)

9. The turn rations of a transformer is 10. It means iswWeldfnA L 2 /Sl _a

v, N,

i=10 © N,=10N, (€ Ne=Tp ® =101,

10~ if we double both the current and voltage na grout .l w/ ex & 22V AL 2 L LA A 10
whie kaeoing s resistance constant tne YRS A A
haives &l rid remain unchanged ey Z02 42 ()
qusdruples L »x /2] (D) doubles | L xtfh (C)

11- Refractive index of air is s EnElew -1
1.36 (0) 133 (©) 131 (8) 1.00 {A)

12- How does sound travel from its source 1o your ear? e Pl Sl Plvingdiv 12

by changes in air pressure < = 4L 5L e (A)

by vibrations in wees or strings < o240 S SaiLb (B)

/8,7/ by electromagnetc waves  =hs i 6 ()
by nitrared waves Ay Sip 4P ©)

120-(1T1)-218-70000 GH l."' A= ’i



PHYSICS FAriLin=-11 UiVJWL 4
H v ¥ 4

TIME ALLOWED: 15 Minutes M TN — t—24 o 15 = s
MAXIMUM MARKS: 12 OBJECTIVES 37 2 12 =4S
.:g;.:..,g -é:/.':.-g&i_.le- J(-}l;,ih'/Jvﬂvlﬁya:a-utu:}lnié.:bb Z.'.Jlr',.p;dﬂsl.z _;.'32:.’@_10 »lC -B-A.:-i-lj.'.'«‘;/gf- Jr s 1 ﬁ;d'r
You have four choices for each objective type question as A, B,C -fmr"wﬂuﬁ‘;mf\ﬁ./{fam;f.{f st

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q-No-l
Use marker or pen to fill the bubbies. Cutting or filling two or more bubbles will result in zero mark in that question.

D < B A QUESTIONS /=ttr Sr.No.
7.1x10" years |. 7.1x10” years 71x10°years | 7.1x10%years | The half life of B s I
Ju7.1x10" Ju7.1x10" J7.1x10° J-7.1x10° ,.;_.Ju...ﬂ,J ,”,’Uf’-‘"—:ag

d d j A i1 The magnifying power of simple 2
I+ 'f— - -,? ?;" 7-: microscope is:
..q.dd:m&..lzﬁd? d’..(:(‘u? besl-
Wavelength Amplitude Frequency Speed In a vacuum, all electromagnetic 3
;.f:'!, sk k) L waves have the same:
B A L R0 S
Amplitude Wavelength Period Frequency The loudness of a sound is most 4
sl A # is L,:,.,g Y closely related to its:
by A KA s Fi
The object The image. The speed of The focal The index of refraction depends on: 5
distance distance light length ets AP 1...5"J£ by
wﬁﬁf Mﬁff /'i_-;.'&fu 4."@;)?
Five joules of work is needed to 6
shift 10C of charge from one place
to another. tential difference
betwee: will be:
10V 5V 2V 05V i /u.:..G..{I;"MZ.wC..{?
o Q»b%gwuiuus-_;r;c/ Ssabid L
) ,/,7'4% S foe s
%SCV What does happen to the intensity 7
@ or the brightness of the lamps
Cannot be Remains the Decreases ® creases connected in series as more and
predicted same edn ) e bl more lamps are added?
a;—cp' t t'.’;uf‘ I8 by S st ine EIrs
: tery 0 A0S e
éj&) N A The turn ratios of a transformer is 8
V,=V,110 | Ng=10N; Ny=Np/10 | s =107; | 10. Itmeans:
% Int0ePdnkL puilli
AND gate can be formed by using 9
NAND gates NOR gates OR gates NOT gates » | two?
VL% Hh S o | ceseeluig et el
e T,étj‘ n e
Control unit CPU Memory Monitor The brain of any computer system 10
e Fan; $ort iy is: e L 2l S d
The half life of a certain isotope is 11
None of these One eight One quarter One-half | day, what will be the quantity of
SIS et 1 dwz i SepndsT the isotope after 2 days?
8 g ih LT IR AT
o, 31'(,?:143"1.5, 1-!':-#»!1:."_;/'

Sec Hz Meter joule The SI unit of amplitude is: 12

i 7 K Jz SIS

18(Obj)(3¥7Y)-2024(1"-A)-60000 (MULTAN)




AYRRREA YL =« 0 7 7 1
TIME ALLOWED: 15 Minutes N ?"/V ~2~2Y 2 15 = b
MAXIMUM MARKS: 12 OBJECTIVES s> .2 12 = })J
whie - Aot o 5o Qb L2 .r.-r.:.;..,,cunjui}__._-av L g qd¥din e D mCBASYR .sﬁ:m';ﬁ.}rr s 1 £ lJ'f
You have four choices for each objective type question as A, B, C L iind i $ESLS. i S
and D. The choice which you think is correct, fill that bubble in front of thal question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. |
D C N A QUESTIONS /iy | STNe-
: What is the power rating of a !
lamp connected to a 12V
source when it carries 2.5A
60W oW 14.5W 4.8W current?
J*J#-ifiihiﬁn-yﬁf Ziv
st f25 ﬁ:—uﬁu"nﬁd’ﬂifb;'tr
Ay
In vacutim In air In water In metal The speed of sound is more: 2
L L Lk LS P P Pl
If the current in a wire which 3
is placed perpendicular to a
Will be zero Remains the Increases Decreases magnetic field increases, the
Lo pe same Ses St force on the wire is:
Jﬂjutf ﬁ-g‘j"dﬂ‘_{ﬂf}’ LW ._@?,ﬁ
smietinl s de/ s
. AKN:IJJ..@E'&:LJJ
Both of its inputs | Any of its inputs | Any of its inputs Both of its inputs | The ougput of a NAND gate is 4
amu!u iﬂhr“ is nqn . ' muﬂn Q hen:
B=1 WA=l B=1LA=! B=0 54.}#,'-?-‘-_ BmAfx,gQG\C il pagesidadsz
External mail Electronic mail Extramail _4*Em i | What does the term e-mail 5
S S Fiph g A [TaBd
e :((5 re VLS K
o When Uranium (92 protons) 6
@_‘ ejects a beta particle, how
93 protons 91 protons aiohs | 89 protons many protons will be in the
#9493 341491 Yoo - 41489 remaining nucleus?
e e KL Ohy D E A
o ?er_l_r J!JJ)'!‘J.;LJ 17
The device which converts 7
mechanical energy into
Electroscope D.C motor A.C generator Transformer | electrical energy is called:
A e P ey, 2 g J o En S 2 S
_.;..r/ l..t-&’
The relation between v, [ 8
2 P 2 2 and A of a wave is:
y=— A= W= = el ;!:Ig.uﬂi.}'""'£,ird'th{n.{i
o F
Chemical Mechanical Thermal Electrical Which form of energy is 9
K ,_,E—-:( 2 J o sound?
vq_(’;,r‘fd' EAkd
1878 AD 21877 AD /1876 AD £.1875 AD | Alexander Graham Bell made | 10
a simple telephone model in:
. RTNCTALN SIS IV
Upright and Upright and real Inverted and Inverted and real | Which type of image is formed| 1]
virtual T virtual Foud by a convex lens on a screen?
J.{.iuﬁd'.e- J‘gunld’l “.;_m‘flJ(’uf.;._gf;é.fff
Repels a neutral | Attracts a neutral Repels other Attracts other | A positive electric charge: 12
charge charg: positive charge posiﬁ:e charge el Se e
crSCofonlit | en /P Tundit | £/ Bufedeiiy | et/ Mok
20(0b])(FFTE)-2024(1%-A)-55000 (MULTAN)




| Paper Code 2023 (1"-A)

[ Number; 3475 SSC PART-II (1 o" t‘lnh} ﬁ)du
TIME ALLOWED: 15 Minutes s 15 =
MAXIMUM MARKS: 12 MU‘V"# : 12 = ﬁ)J

- fo—uﬁl/.fln!(r.ﬂ.l.-'#I“in*'Lﬁﬁp.m.uﬂd:}uzirﬁbhn’:dlrg.;qf&.ﬁ‘ﬂi&r,gmc.p A *}'ﬂb‘;#dd'r,: s

YELN 4 L 9 ;,-.a;lr.f,,;.;,,llrm o Y fﬂr’hﬁ.nr:ﬂ;r.'_f.‘f.{fwfb .I'n.r"’.lﬂ.,d.ﬁuﬂpfa-.rfd'i.'.f{/wﬁi.zﬁfmfuupﬁ..ﬁ
Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Fill that bubble in front of that qu"ﬁﬁn number, on bubble sheet. Use marker or pen to fill the bubbles. Cutting or
in zero matk in thaf question. No credit will be awarded in case BUBBLES are

filling two or Tnore bubbles will resu

not filled. Do not solve questiong on this sheet of OBJECTIVE PAPER.

Q.No.1l . Ay

(1) How does sound travel from its soufce to your \zam-‘iI f{#:d‘ J_s_rfbﬁg_;,g_,rﬁ e (1)
(A) By changes in air pressure w,,_,{_’ggju:n,.-ﬁm
(B) By vibrations in wifea orstrings Ay Sty £
(C) By electromaghetic wave oS
(D) By infrared waves Ao i kah

(2)  Speed of sound at room temperature is: et SBei g D)
(A) 350ms™ (B) 330ms™ (0) 340ms™ (D) 320ms™

(3)  The unit of intensity of sound is: e :J.‘uﬂr (3)
a) wm™ (B) Wm™ (C) Wm P W™

(4)  The tum ratiq of transformer is 10, it means: Nir 10 wlSuklraifi (4)

(a) Is=101p (B) Vg # N%EJ : %@%@ o ="
1L reemP I valeadst (5

(5) The ldgical operation performed by

this gate is: s
I ( K
(A) AND X (B) NOT 4,3 ) (p) OR
(6) What is me-pumrhﬁfzg at‘a.l *,‘ r@ ) .:f.ﬁ-.fxlfw&s;d.,d.ﬁéusnmr& 12V (6)
12V source when it CAITIES &t A7) ik e
(A) 4.8 W 14.5W . (C) 30W (D) 60W
(7) The correct relation & n focal length(f) ..F.Jp e Sl (R j:/r IRk (D t"%‘;}? (7N
and Radius of curvane R) is:
w f=%4 ®) /=R © fw=2R o f=84
(B) What does the term E-mail stands for? fewd (i Uh,;[r (8)
(A) Emergencymail & A (B) Blegtroniqmeil JF M
S }/"r (D) Extertal mail T
(C) Extramail J”_&Jﬁ”ﬂ o
(o)  Half life of Hydrogep is ria s - e i
(By 5730 years ( ) ’ ’
(10) (Iﬁw ﬁy}ﬁgpﬂnmm of a CBIS have? e B £(CBIS) Kl (10)
(A) 02 (B) 03 (C) 05 (D) 06
(11)  The relation between v, f and A _.HJ"’ gend A ;5,!‘;, Sl E k) Fudpef (11)
of a wave is: < o't
(A) vi= 4 (B) fA=v (c) *—=%- "
s sHo S i v S (12)

(12)  When did Christian Huygens invent the pendulum clodk?
(B) w1756 AD (C) wse #1856 AD

(A) e 81656 AD
Isiﬂhj]tﬁﬁ'ﬁ]—lﬁii‘r{l“-ﬁx}-ﬁs{}{lﬂ (MULTAN)

(D) w1956 AD



rmieles GRUUF-| : -’( Lfr/’

. "';""
TIME ALLOWED: 15 Minutes OBJECTIVE Q:‘i_ﬁ’,a? w15 = oy
MAXIMUM MARKS: 12 MTN-G).32 12= A

fe of L /C'..J;}b.'ii:'-‘&lbfi.flﬂ.:ﬁ:«.-_bﬂ um,e:;:apédsm{qrq:z SLELIDACBA M2l Lod
{.;.;._,JI:U'! ..!pr;ﬂ;:ﬂfg_ﬂ.:.mJg):i j:_}:l.?h -fﬂ;ﬁ%'ﬁuﬂgﬁa;ﬂgﬁ.zﬁ P s L LJ‘(‘JUJ;L!-J{_.J:;.._? -&J
Note: you have four choices for each objective type question as A, B, C and D. The choice _q,f.:d’?;:.mr
which you think is correct, fill that bubbile in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. !
Q.No.1 A Ay
el K )

(1) The unit of electric power is:

(A) Ohm /iy (B) Watt 1y (C) Joule (D) Farad £/
(2) If the length of simple pendulum is halved. e nbid UL &f rLJr?LLgJJu’,-TJHJHs%ubﬁ 2)
its time period will be:

®) Var ® 7 © 2r ® 3

(3) Example of Longitudinal waves is: -;;JPJ.:::J};*A* (3)
(A) Sound waves J#+:5l-  (B) Light waves }g.-JLﬁJ (O) Radio waves Jgss4, (D) Water waves :rg;J JE

(4) The loudness of sound is most closely related to its: Setrp A KA ()
(A) Wavelength 3@;’3 {B) Frequency ;5"}.(} (C) Perio@?ﬁ (B) Amplitude 3« (&

(5) The image formed by Convex mirror is: & O ..:{_Gxéldbi_-r_.m){ﬂ’ (5)
(A) Real and erect Sl fi £ @%nd inverted (7l s i
(C) Virtual and erect (ks fz s rtuar and inverted (51 f2

(6) in series combination of capacitors, each capa citor will have same: sl L ng?ﬁ.lg’fﬂ:-.—'ﬁ Vore) ),.:f)', (6)
(A) Charge { (B) Voltagd 2 (C) Capacitance (% 5% (D) Charge & voltage g:m'&ﬂ;

(7) Electric power is equal to: \‘Q i S (1)
(®) /'R’ (B) 1V (C) r’v (0) w?

(8) Transformer is used to change the value of <Ly (W)ad e bl Je1pi) (8)
(A) Energy J./f (B) Charge &k (C) Power sl (D) Voltage 5”

(9) The out put of two input NAND gate is "0" when: -:?.J:«;_f}r: "0" .:;..*.STJ_#;".%&LL-..'.;;;.J! ] (9)
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(10) In computer terminology information means: -4 .fﬁffw’éuirl;&)t:}}_, (10)

(A) Large data G (B)Rawdata ki#6  (C) Processed data trsy (D) Any data &3S
(1) When Uranium (92 Protons) ejects e bnPudSing b L S ) UL (5 82) g (1)
a beta particle, how many protons are left in remaining nucleus?

(A) 74,90 Protons  (B) 7457 91 Protons ~ (C) ¢ 92 Protons (D) 74 93 Protons

(12) If frequency of a wave is 4Hz and wavelength is 0.4 m -L}’xé:J._,rli-f 0.4m ;@émr 4Hz o‘gf}&s.ﬁﬁ (12)
what will be its speed?

(A) 1.6ms™ (B) 16ms™ (C) 0.16ms™ (D) 160 ms™

18(0bj)( I W Y 77 )-2022(A)-50000 (MULTAN)



e e R e ol AT e

TIME ALLOWED: 15 Minutes OBJECTIVE u‘}/w e»15 = &
MAXIMUM MARKS: 12 Mp-52-22 12= AF

A F L ffb...dﬂ'JIJVL IR mme uuh-“!q.n:bﬁdfrfzcéﬁ!l? u“'ig.: D .o C:B:A ..-{J?..:ﬁ:k[:dfff -y
{.g{..,_llrU'F -fﬂ.’gh:gﬁ}f;g}fa_,ﬁ._.-.ff[fgf A :’;.11/1.1 -rx;r‘abuﬁ.h’rfﬂhﬂuffJL..& Sk k J..f.;fguhut.‘a._r =
Note: you have four cholces for each objective type question as A, B, C and D. The choice -u..{.&qf ?;.'aﬂ'r
which you think Is correct, flll that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not soive questions on this sheei of OBJECTIVE PAPER.

Q.No.1 . A Ay
(1) The number of protons in I/ ** is: 'q.:lﬁgfﬁ}s{uﬂ U (1)
(A) 146 (B) 238 (C) 196 (D) 92
(2) Acurrent of 3A is flowing through a wire “-'sz}( LI et 3A Lertadhdl  (2)
for 1 minute. What is the charge flowing through the wire?
(A) 3C (B) 180C , (C) 180 x 107*C (D) 20C
(3) The unit of intensity of sound is: e panl Gt (3)
(A) Wm™ (B) Wm™ ) wm (D) Wm
(4) If the length of a pendulum is doubled its time period will be: K ont ,c.{’ EI’JI}‘UJ JJJLJJH;.‘;_’;J)‘: (4)
(A) V2T (B) 2T (C) (DJ 5
(5) The characteristic of sound by which e U u?fu;ﬁsumf Y @J{La&_fvﬁ"m;ﬁb (5)
we can distinguish between two sounds of same ioudness and pitch is caljed <§/
(A) Pitch & (B) Quality @@%’% A3 (D) Intensity ikl
(6) The image formed by Concave mirror is: @ | -4 Ju(‘-flduir_;;x‘;’ (6)

(A)Real £, (B) Virtual J2s  (C) Real or VigabJfzs L £ (D) Real and virtual both Usisfz. 51
e FF o e re & =2 sk - 6pF i 120F R
F are connected in parallel with a 12V battery.

(7) Two capacitors of capacitances 6uF

Their equivalent capacitance is:

(A) 6pF (B) 12puF (C) 1.2puF (D) 18pF

(8) Whatis the voltage across a 3Q e b P I BA el 30 A (8)

resistor when BA of current passes through it?

(A) 36V (B) 8V (C) 18V (D) 2V

(9) The is a practical application of mutual induction. g r/?'({dflﬁﬁiﬁr (9
(A) D.C motor / D.C (B) Transformer ~ui/ (C) Relay & . (D) A.C generator =2 A.C

(10) Boolean expression of NAND gate is: cecobfSelie (10)
(A) X =4-B (B) X =4-B (C) X = A+B D) X =A+B

(11) Number of components of computer based information system is: -9:1»50(!2'5(}/ Tand (1)
(A) 3 (B) 4 (C) 5 (D) 6

(12) Which of the following radiations has more penetrating power? ?‘msg.i.u,l;..ﬁ':)gj’f:gfuf ;&ﬁ’ﬁédiﬁu (12)
(A) Gamma rays 7.\ (B) Alpha particle L}f‘;y.ill (C) Beta particle J:’}I;K_-:

(D) All have same ability < (et

20(0bj)( I< 3¢ )-2022(A)-40000 (MULTAN)
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NUMBER: 3477 SSC PART-lI (10th CLASS)

PHYSICS GROUP- -/ UP
TIME ALLOWED: 15 Minutes OBJECTIVE (/.2 15 = o
MAXIMUM MARKS: 12 o IN-lo-&Gy-20 12= A

/:.,ﬁ .r’:rhrﬂ:,.mf '.E«'a.-'?....x.u;.._.ﬂ' uu.!é.r'_ .*;.».f.._)ﬂruqﬂ}'f u"é.f_ D.nC.B.A ,...L:’..-F’al.rﬁv A |
{42! i’;....rL;,,,C',r’u:._,...... :'u;../ £ :',_,Ju y -fmr“bﬁ_ ?:.:!'2;;-.-;!‘&.:4 /bl :‘.f.f,rum:- L.a.::.....fl é.;
Note: you have four choices for each objective type question as A, B, C and D. The choice ._ . .,J’; o Uy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A /:"Jb'

(1) The Sl unit of power of a lens is . e SlEdE ()
(A) Watt ol (B) Hertz 7 (C)Bel (D) Dioptre 47815

(2) Capacitance is defined as: -:'.Ji.rdv,ﬁu'*..ﬁfj i g (2)
(A ve ® 9 © ov

(3) When we double the voitage in a ln’#,u.a NJV&‘J 511‘}:..; raled! r' -t (3)

simple electric circuit, it doubles the:

(A) Current &/ (B) Power s} (C) Remst%%% (D)BothAandB yus B #/A

{4) Colour coding for Neutral wire is: < .fiﬁJ}l.-J}j (4)

(A) Black or blue I | sl rown il & L’/
(C) Green or yelow 1} 7 ite or violet (£ e

(5) The step up transformer: g‘? Ry ...J.,.»' (5)
(A) Increases the input current ) q)! (B}lncreases the input voltage .:..rb-::f O]
(C) Has more turns in prima R 5/ m..._..Jr):J /‘n_
(D) Has less tumns in th ary coil L,‘Lrtg (LU f.j =l

(6) The particles emitted from a hot cathode surface are: ALl -urwpc.,uiﬂ"f/fﬁn:.r (6)
(A) Positive ions ;I:Ty';;,: (B) Negative ions ,mé" {C) Protons n’u (D) Electrons ﬂf" {

(7) Boolean expressin for NOR gate is: e el
(A) X=4a+8B B) X =A4-8 (C) X=4-B D)X=A+8

(8) 1024 bytes are equal to: -;,:er,:_f.,:.:.;‘} 1024  (8)
(A) 1KB (B) 1MB (C) 1GB (D) None of these L2 'de 2

(9) Find the number of neutrons in the - ;iﬁJﬂ:ﬁﬁLﬁwf.g" Wrbe 12X ...-'usf 7 L-‘l:...u (9)

nuclide defined by '3 .

(A) 6 B) 7 (C) 13 (D) 19 - 2

(10) Waves transfer . . S (10)
(A} Energy ./ (B) Frequency u""ﬁ (C) Wavelength r%'p (D) Velocity (§7Us ,

(11) An example of Longtudinal Waves is: - (%4 m B (1)
(A) Sound waves i1kl (B) nght waves J;Mf? (C) Radio waues ifr 45, (D) Water waves .u‘u)._;l.

(12) Anobjectis 14 cm "r.q.-"#’ SEY _;Jz 58cm é.f. Weol <y .:-J-*ua. 1dem &l ""ff‘).;f (12)

in front of a Convex mirror. The image is 5.8 cm behind the mirror. What is the fnca! length of the mirror?
(A) —4.1em (B) —8.2cm (C) =9.9¢cm (D)—20cm



PAPER CODE 2020 (A) JAUR

NUMBER: 3472 $SC PART-l (10th CLASS)

PHYSICS GROUP-I o) U
TIME ALLOWED: 15 Minutes OBJECTIVE ﬁ/’ﬁ 15 = &b
MAXIMUM MARKS; 12 MTN-10-Gy 220 12= Af

Aol sl oine JJ;U sl ése vy Jeg AL D CBA WLy o2
1241 .J.*_.'v!..lf-“dfvf:_ur" iy :’:.rul: 17 v"a,lh_.i: Y .-,,ﬁ..._-.r"J... J ok L/ 4;-(1_.11 DRSS (Il
Note: you have four choices for each objective type question as A, B, C and D. The choice -Jx_fj;-ur
which you think Is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) In vacuum all electromagnetic waves have same: f.'h, g .ﬁ S il ,;.f._;_.u,f-.,:“g:ry_é’; (1)
() Speed 4 @) Frequency 57  (C)Ampliude 3% (D) Wavelength 54,

(2) One bel is equal to: gt (2
(A) 1048 (8)20 6B (C) 3068 @@E

(3) The speed of light in water is approximately: 3 <% é;'d"djsxuis!; (3)
(A) 23x108ms™  (B)3.5x10%ms™'  (C) 1&@%@ (D) 3x10%ms™]

(4) The formula to find the refractive index is: % -.au;alih’é..)?ﬂff}léf}; (4)
(A) n=cv (B) n= 9, @ (C) H= {D]":%

(3) The unit of electric potential is’ -.f_.:::je’uu'f;..:??i (5)

(A) Ampere 44 ule 2 (C) Volt <A (D) Ohm A

(6) One milli ampere is equal to: -4l ;./-!d‘i (6)
(A) 1072 4 (B) 10764 (C) 107%4 (D) 1074

(7) The formula to find the magnitude of current is: ....L'm{.:.;(}'ﬁr»-d..z.f (7
) 1=9% ® r=0v =~ (© 1=Y 0) 1=%,

(8 Numter of cois in transformer s PPN IV
A 1 (8) 2 ) 3 (D) 4 B

(9) The main components of CRO are: .,.,f_?uj“:;‘-;ﬁf. CRO (9)
(A) 2 (B) 3 (C) 4 (D) 5 .

(10) NOT gate is also called: uZd alut (0
(A) Conductor j-r;"f (B) Amplifier 78( “" «  (C)Resistor /J (D) Inverter /i1

o a 5 & - r
(11) From which of the following you can get information spE /S U e e dilie (1)
almost about everything?

(A) Books S (B) Teacher & (C) Computer /¢ (D) Intemet &7

(12) Isotopes of Hydrogen are: AL (12)

(8 9 (B 3 (C) 4 (D) 5



PAPER CODE 2019 (A)

NUMBER: 3471 SSC PART-ll (10th CLASS)
PHYSICS (NEW SCHEME) GROUP4  ( 2015-2017 u"‘-’ ) b - .._,J ((-C £) J;i
TIME ALLOWED: 15 Minutes OBJECTIVE ;fsf_’y 15 = 2

MAXIMUM MARKS: 12 2= AF
S b | Sahinse Il tarne fb Ui v ENrnedbiin - 2£5 1D 4 C B A sl L s s
L] -fL?LJﬁHJl{,‘H‘LJ‘JJLJGé .D‘T_JJ.FIJ- _fx/r"uﬂﬁ.f'ﬂuiaﬁ-wn‘\!i_uq S k J-IJU:?UHH:—-—E" =
Note: You have four choices for each objective type gquestion as A, B, C and D. The cholce P00 o
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or Tilling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given In objective type question paper and leave others blank. No credit will be awarded

A Ay

sewSinlnatefbbondi s (1

E iﬁun‘r‘ BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
.NO.

(1) The time period of vibrating mass spring system, when its

mass become doubled:-
(A) Remain same fzA2f (B) Become half L+l (C)

(2) The speed of Sound is greater in:-
(A) Water Ji (B) Air b (C) Metal, J* (D) Vacuum s
el U"("" J)-! -.?.E-":{é:ﬁbjﬁ'ém o ! -+{&E£ 30 em =% IE{()-;' (

(3) An object is placed at a distance 30 cm from a concave lehs. Its imgeoris/at 10 cm from lens.

The magnification of lens is:-

o
A A (8) 3 @ﬁ@(&\ (D) 15

(&) The magnifying power of simple micro O PP A Y (W

L L d i d
(A) 7. (B) f@@ {C) 1 7 (D) + 7 ‘ |
(5) The correct relation for C ?nf.eis : _?:.?"1“.:.#;;:,{.{.@-?..,#’;"

Increased §2s% (D) Decreased fitps
-ﬁ.:;&.}é{t{}iff (4

W F=k2R() @ okt ©F-122  ©F- 12
r K r K ,2 )
) If 05C chargepsssthroughawirein 108, bt/ ___E# Tt 7 108 Ly 05C Ll
then ___ will be the value of current flowing through the wire.
(A) 0.05A (B)05A (C)5A (D)20A
(7) 1f we doubled the length of mettalic wire while e e e B A AN (NIL
other factors remain same, then its resistance will be:- ) ‘
(A) Half (7 (B) Doubled ¢ (C)Quaduuple (5 (D) Remain same )5
(8) ____partof D.C. motor reverses .gtﬁfiny&fdl@.Jﬁfgéfv&:&f N 7ot

the direction of current flowing the cail every half cycle. )
(A) The commutator /¥ (B) The brushes 7z (C) Siips rings £ (D) Theamature £/

(9) If a metal is heated to high temperature, it emits the paricles:- .@Lz&;ﬁf;g&,{)}z"{aﬂﬁ»‘éfﬁ_ﬁﬂ
(A) Protons ﬁ:{ (B) Neutrons 1/ (C) Electrons :Fs/‘-E" (D) Positive ions 7127}
(10) Which of the gate is used to convert one logic level into e tALatJes sl g nlie bl
opposite logic leve? (A)NOT gate &Jet "
(B) AND gate %/ (C)ORgate o/ (D) Both AND and OR gate E’”” .'.:':b'n'.&:_
(11) In Computer Terminology, Information means:- -.*,-.,J"’Fuffili'uﬂfr‘t:-'f:;‘
(WA data LSS (B)Rawdata LiFE  (C)Largedata ik (D) Processed dal Gy
{12) The Isotopes of lodine 131 is used in the treatment of - . -.;__-.rsdu-'lq.ﬁz-,th 131- 3 et
(A) Blood Cancer /J guf (B) Bone Cancer /= §Uz4 )
(C) Lungs Cancer /f KUnas (D) Thyroid Cancer /'f;fudu

18(0bj)( 7)-2019(A)-58000  (MULTAN)



PAPER CODE

NUMBER: 3476
PHYSICS (NEW SCHEME) GROUP-II ( 2015-2017 ;ff )

TIME ALLOWED: 15 Minutes OBJECTIVE (&> a¥ B = &
MAXIMUM MARKS: 12 12= A

Ao b SAB IS AL i arirem o WL il i g QW12 <5 L s D i € B A 2B L Sy )
(¢drt SR e S Sl Sy P i S S Sk L i K 25
Note: You have four cholces for each objective type question as A, B, C and D. The cholce .QI:J");.-.-_-.wr
which you think Is correct, fill that bubble in front of that guestion number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as
many questions as given In objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES arae not fllled. Do not solve questions on this sheet of OBJECTIVE PAPER.

2019(8) MN (74 A

SSC PART-Il (10th CLASS)

) (£ 2) U7

Q.No.1 A Ay

(1) The out put of NAND gate is 0 when:- Bfnpoeifelie (NAND) (1)
(A) A=0, B=0 (B) A=1, B=1 (C) A=1, B=0 (D) A=0, B=1

(2) In Computer Terminology, Information means:- +w:ﬁwww& (2)
(A)Any data L3'd/  (B)RAWdata LirG (C) Processed data ¢ (D) Large data &t

(3) One of the isotopes of Uranium is 3381/ P * i < By SR (8)

The number of Neutrons in this isotope is:- @;j

(A) 82 (B) 146 ©% ) (D) 330

e Pl S SE) il @4)

(4) The relation between v , fand A ofa wal

A) vy =h ® 1,:(@ ©) vk =f @v=%

(5) Speed of sound at 25°C i is:- iy 25°C LR (9)
(A) 5950 m/s )y 6040 m/s {C) 5960 m/s (D) 3980 m/s

(6) Refractive Index of Aif s:- e ()
(A) 1.36 (8) 1.00 (C) 1.31 (D) 1.33

(7) The Index of Refraction depends on:- < ARSI (7
(A) The focal length ¢ 327 (B) The speed of light 4 x5
(C) The image distance ;6L E' (D) The object distance ;6L ¢~

(8) The equation of Electric Field Intensity is:- - .:,hl..-d’ J’*ju!-,’.f}?! (8)
WE=% (8) "ﬂ'ﬂ’% 1C)F-—-i :ms:i-

(8) Specific resistance of Graphite is:- b Avdrlon @
(A) 3500 x 1078Qm  (B) 100 x 1074 Qm ©) 98x10%Qm  (D)10.6x 107 Qm

(10) The power of small fan is:- elnal§ELA  (10)
{(A) 100 watls (B) 750 watls (C} 50 watls (D) 10 walts

(M) ____ panofaD.C. motor uq.'.v.ﬁ.,f;f.ﬂf.-;fz,hg;a,uc.,ﬁfwﬁfu:Ta.ﬂ ____@rDC. (M)

reverses the direction of current through the coil after every energy half-cycle.

(A) The armature  £.7 (B) The commutator 8

(12) fX = 4.8, thenX is1when-
(A) A=1, B=1

(B) A=0, B=0

(C) The brushes % (D) The slip fings Fib
Sdng 1 X Fx=4B/

(C) A=0, B=1 (D) A=1,B=0

20(0b))( ¥ Y 77 )-2019(A)-36000 (MULTAN)
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Paif r : II (Objective) 17 A Exam. 2024 | GroupI oy | (oam) II  : o,

Tir_, : 15 Minutes SSC (Part - II) e 15 SRS

Marks : 12 Session (2020-22) To (2022-24) 12 T Y
& BRup-i-24

S B u:.‘?bi’;__J&LL—LJIyJI{.:.PJF féf@ﬂ{fiy”u:"rwufff?mue.;ﬂig:D «CBA :-EIEJ;J-JIJ',: R -

K s 2 b i ST PSS i imlie Lo A e Gt /A

Note : rFour Ehoices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

Which form of Energy is Sound v T
(A) Mechanical J‘J (B) Electrical S (c) Thermal J2 D) Chemical S | D
If T=1.99 Sec then Frcqlwncy is : .;.u" :E)FﬂT = 1499 Sec f {z-)l
(A) 0.50Hz (B) 0.60Hz (C) 0.40Hz (D} 0.30Hz

The relation between v, fand A of a Wave is : {..uu ukmﬁ.rf‘guﬁu“ .{} ig U:J,;':.fl (3)
(W) vf=2 B fi=v (© vi=f () v=4/t

The speed of Sound at 0°C is : ey EI“C.&{J%L @
(A) 386ms ™ (B) 376ms " (C) 231ms’ (D) 331ms

Electric Field Lines always : : .i:?;" ILIE_( y I (5)
©)

(A) Always cross each other  (JG°/0s?{ e 10k <‘i

(B) Cross each other in the region of weak field B 2 s *

(C) Cross each other in the region of strong field 40/ 2# 1
(D) Never cross each other J‘fuﬂf;x’fr_fs:.f Q}

Snell’s Law is : @ : ;u)wut’ ®
(A) n=Sinr (B) i g <) e (D) n= Sini

The Index of Refraction depends L e b AP ST S| D |
(A) Focal length &7 F7 (B) The speed of light £x(f( »/

(C) The image distance Mb’ﬁ f (D) The object distance Lk ()

! el S25 A RN BRI S EMS AL e S2 e L12v| ®
What is the Power rating of a Lamp connected to a 12V source when it carries 2.5A

(A)_ 0w _(_B_) 145W © 43W (@ (D) 60w

Tho Brain of any Computer Systeris : b aldS| @
(A) Monitor £y (B) Memory §is€  (C) Control Unit 2y (DI CPU gy |
If X= A.B, then X is ‘1’ when ¢ ' o : Silng VUL X x=AB S| (A0)
(A) Ais"0’'and Bis ‘1’ B=1usA=0 (B) AorBis 0’ B=0 L A=0

(C) AandBare 1’ B=1slA=1 - (D) AisTandBis 0’ B=0slA=1 X
'I'hem;;a;ns of aTmsl‘uﬁut is 10. II;;ans : B _};1-(_};301;4::/)@#); 11)
(A) I1g=10l, (B) Ng=10Np © Ng= 3 (D) Vg=Vp/10
RelsweifEnacky by Bio Sniudusto ¢ .;_rf:.uu(;,.g.md’g’:,,fl 12)
(A) Nuclear Fission ;fl bt (B) Nuclear Fusion @924y

(C) Buming of Gasses ol (D) Chemical Reaction Z-.; C e

—_———————




Papar : II (Objective) 1A, Exam. 2024  [Group IT L f | ( gogpme) II & 43y
Time : 15 Minutes SSC (Part - II) P LIS
Markts : 12 Session (2020-22) To (2022-24) 12 : ol ped

Bwf)»- 2~y @

r?byfc.;ﬂuﬁhiéfsa.v{;dlrdl.;#;ﬁ !drﬁlﬁd"';/"h{yﬂ.‘ﬁf.__flﬁ u".wﬂ:.’c,ﬁ) «CBA ailz;i;LJ!r,; ! &) g
sz Sy Ji/ {fc.-ﬂ_-d_f.{f UsFhubietlfs. 4 S dep /Al

Note : Four cholees A, B, C, D to each question are given. Which choice Is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that question.

: .;.C‘:iggfdr'-"‘lgj_ LLuipudn 38583y gl Gy gl ATUS | 1400
Which device can be used to produce both Transverse and Longitudinal Waves &)
(A) A string o} (B) A ripple tank &&(}/
(C) Abelicalspring (Slinky) Kol (D) AtuningFork SAFd

O I soton Lt uin— T I ryd LLe L b we ok L10C | @
Five Joules of work is needed to shift 10 C of charge from one place to another. The Potential Difference
between the places is : (A 2v_® osv (@ sv (D) 10v

BB st o e AL W EL Lo ARG @

An object is 14 cm in front of a convex mirror. The image is 5.8 cm behind the mirror. What is the focal 3

lengthof themirror :  (A) -4ulem (B) -8.2em (€ ~-20em (D) -99em |
How does sound travel from its source to your ears : f—ﬁ <, -@ﬁ—f) Ll i (4
(A) By changes in Air Pressure eS8 Lo Lin @ ;

(B) By Vibration in wire or string s hJJ;ﬂM‘ O

(C) By Electromagnetic Waves .:Ju,r(fj{;h.ﬁ_-‘.b:)gl O%C\-ﬁpé/\

(D) ByInfrared waves upda (DY I A
R 1 adh JJJ{;H.:‘LJR;.%.)J I & 8} R s Y270~ .gnéc‘_}.ﬁ:.,&-)zj | (5)

Combined resistance of two identical resistors @ ted in series is 8{). The combined resistance in ai

parallel arrangement will be (a) ® 40 (@© 80 ® 1202 |

What does the term E-mail stand for :q.ﬂl’&u(&dlg (6)
(A) Emergency mail J (5 (B) Extramail &1 251 |

(©) Bleotroniomail £ 661 O ExtematmaitlXSH L
If X = A.B, then X is "1’ when : : Silng VU X T X=AB ﬁi @
(A) AandBare'1’ B=1usA=1 (B) AorBis'0’ B=0LA=0

(C) Ais0'andBis't’ B=1sA=0 (D) Ais1’andBis 0’ B=0sA=1 —

: S -5:-‘" L;!:Lf J’ 4.*11?&.; Llr—f*:;cr;.;?' d. ..'.r'f LJ:«#J;J}'!:JJ;L{:J:;’ _uc-ﬁ'.} '-ﬁ.'g" frf (8)
If the current in the wire which is placed perpendicular to a Magnetic Field increases, the force on the wire
(A) Increses S22 (B) Decreases o/ (C) Remains e same S/ (D) Willbozero S |

PN CHEN W S | NP B¢ e @ |
One of the Isotopes of Uranium is 239U. The number of Neutrons in this Isotope is }

(a) 92 ® 146 () 238 O 30 L
| ;e ded P e BT K S i P ud@auin| A0
Which are the facts that are used by Programs to produce useful information :

(A) Hardware 7354 (B) Software joncdle  (Q) Datals (D) Progams rifog | |
A Practical Application of mutual induction is : q.erJ’ fﬁfgﬁ:r" 11
(A) Electric Motor /% (B) Generator %72 (C) Diode 308 (D) Transformer 4912 |
|Ohm's Law is applicableto b e tnJWIEIE LA (12)

|
(A) Liquids =, (B) Gasses = |
(C) Liquid Conductors only 47/ 4t (D) Metallic Conductors only 4/ #Fdr |

| e i
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A

54
=

~L e GBS S 3L AR e LU sl D g Widiset L s D, €, B, A=zl d Jiyg ¢
- _fxﬂﬂ*muﬂgxmﬂfu.éf.u‘}l_ﬂf i.,f:jlu:]-.’d.-..{i

Note : Four possible choices A,B,C,D to each question are glven. Which cholce Is correct, fill that clrcle In front of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question,

g

(A) The Focal Length ¢ #%57 (B) The Speed of Light ¢ 4r & G
(C) The Image Distance ¢ .o§ L & (D) The Object Distance ¢ Jﬂhﬁ(’

The Index of Refraction depends on : : q..ht{;f’ MY D#;)thLf""’jl 1/-,{]!:'

(1)

Mice can hear frequency upto : R Egun§ S F o 3
(A) 35000 Hz (B) 3500 Hz (C) 50,000 Hz (D) 1,00,000 Hz

@ |

P Lo & La¥ ST S R v S s S
If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum's
motion will

(A) Be increased by a factor of 2 ¥ilsx t%; (B) Remain the same ¥« 4 t0)0/

(C) Be decreased by a factor of 2 ¥ Zlpxt ( tfis (D) Be decreased gy&ﬁr of 4 Ciinftly

(3)

Coulomb's Law is valid for the Charges which are : ¢ G‘@J_Vu:)r‘ 2L il u‘( UIT ¥
(A) Moving Point Charges ZspuflyinZ f=/7(B) Movin, Charges 2Ll e i nl Sol7

(4)

(C) Stationary and Point Charges z;kc.st;wft-{n]snum}ﬁ Large Size Charges Z/p L#\e X 4l S
.-.\I.p‘ u
The presence of a Magnetic Field can be detected try & : q_ﬂzlr L] :;f z ¥ JH.’J’ J ﬂu@;‘
(A) Small Mass < f’*ﬂ; (B) Stationary Positive Charge = G gige/L
(C) Stationary Negative Charge f\(@ 2/L (D) Magnetic Compass < d..?.@f'

P T

()

)
An Electric Current in Comhue to the flow of : P e e £ S 20 L ﬂ'ﬂ'

(A) Positive Tons 7Teksy (B ve Tons T 4 (C) Positive Charges Z/jp g (D) Free Electrons 90T
=

(6)

How many types of Charges are : : u;."..nﬁrﬂﬂjr 2/
A) 2 (B 3 ( 4 (D) 5

MRI stands for : :-;..ﬂi’u"'MRI
(A) Magnetic Resonance Imaging Somodl Sz (B) Magnetic Resistance and Current 22/ ,l Sl
(C) Magnetic Resistance Imaginary L;_,.:.s_-,..lf JJ»@P (D) None of these L}i‘ﬁf:.uﬁc.ff

(8)

D BES S S U Te el i
From which of the following we can get information almost about everything :
(A) Books (#0” (B) Teacher st (C) Computer Jw (D) Internet &l

)

In Computer Terminology, Information means : S ] B A AT J.:;(
(A) Any Data &3¢S (B) Raw Data &7 (C) Processed Data LSizsy (D) Large Data Gl

(10)

If X=A.B,then X =1 when : cAdegr 1 Xt o x=a.8 A
(A) A and B are'1' B=1,A=1 (B) AorBis'O' B=0}f A= 0
() A is'0'and B is'1' B=1 s A=0 (D) A is'1'and B is'0' B=0 » A=1

(11)

; 13
In Nuclide 1‘;3 X the number of Protons is : P e sl § She 6 X e

4 3 ® 10 (© 8 (D) 6

(12)

I

a0 A £ 2 SR
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@ BuwltGt-20

[ LA BN 2P GWE IR e L sl Dy QW Y2- & 0,C, B, ARl L ¢ g
Wlﬂﬂt*ﬂfd’d‘;ﬂ'}m; UsFasbie L1

1 Note : Four possble choices A,B,C,D to each question are given. Which cholce s correct  fill that circle in front of that question !
] number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that qunﬂ:n.

Refractive Index is equal to ! D Ll puSql 2 i'l/JU'V |

v ey ]

< Sinr | i

n=+ (D) n=+ (O n=c (B) n=o= (A) M |

1

The Loudness of Smmd is most closely related to its : f—»’-‘m‘&/ M Fuls ¥ 350 g s i (2

- Frequency d"f;' (D) Wavelength J'Qg (C) Period iz (B) Amplitude 5 (A) .

Tht relation between Velocity , Frequency and Wavelength of Wave Is : =+J€:JVJJ 4:3'%' sl Jednd o £ (3)

v=’\T (D) f=vA (O v=fA (B) A=vf fA)

U e DL g S g r e BN S penns S @)
In Parallel Combination of Capacitors each Capacitor will have same :
@ |
Charge and Voltage sy, 23! g% (D) Voltage gy (C) Capad) nBl' Charge Tk (A)
et i et i o s et 18 S 4424 e S+ et - i e el ii
For an Ideal Transformer : o AL pi JuT L (5)
Yo Y D) = == -I'l?- &) |
s T Ve P FRRSUE: S
Whnch nf the following is not same as Watt : D 2 U2 it I (6)
A ]
. A
The formula of Flectric Field Inte : Lo Ul VJM' M.._.S"_,..S.'.!! | '(7)
F F
E=—R—'- E= 2F © E=gq,F (B) E=ﬁ (A)
Boolean Expression for OR gate is : s U:'-i L; --d' OR (8) ,
—— [
X= A+B A*B (C) X=A+B (B) X= A+B (A) :

I r.;._{,-iy’; ut_ferz:m;":_:fc,mﬁ;wl r__.._q1,f.r-», 9) I{

sby 2 € Zbnf 2 (B) Decreases by 4 ¢ x4 (A) :}
Incrdases by 1 ¢ a_lr #%21 (D) Decreases by 1 li'a.l._mrr 1 {9 i

bt ¥ P gl A L) Losady $ BT (10)
e element with different '
¢ Mass SIS (B) Atomic Number AL (A)
Number/ of Electron w9 (D) Number of Protons i § :.f’;{ {c?._.._..._..... A l
AU U B ;.C'Js/fz)“;i '-“-'_; (11) ’

The Particles esitted from a Hot Cathode Surface are called : b o i
521 (D) Protons 7y (C) Negative lons  #T#€ (B) Positive lons Ay (a) !

Isotopes are Atoms of

Ato

nit of Amplitude is : ey SL K EA] (12)
Jowle (D) w Q) Be W) 8 A
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BwhP-a1-2 ) @ i<
| oLt S I AL 2 arna LA s L I g QW2 L s D,C,B, A=zl i i g
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Note : Four possible cholces A,B,C,D to each question are given. Which choice Is correct, fill that circle Infront of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark In that question,
o OW 9 § A2 22 LS Fanl Jdrshin 1Ay
The number of Vibrations of a Vibrating Body in one second is called (1)
Velocity (s (D) Frequency (% (C) Amplitude 3Zt% (B) Time Period £g(t (A) l
Sound Travels from its source to your ear by : ' i Bl (7 Lbbnig 2| (2)
Vibration in Wire or Strings < ¢/~41  $»} L sk (B) Changesin Air Pressure -u'-..pu(ll.ﬁﬁfp L ()

Infrared Waves =t § Jfs 44 l')"l (D) Electromagnetic Waves e J{Ju@%}?l (C)

e Plandenl (R) o/ ITRLs ol (£) 52U

The correct relation between the Focal Length (f) and Radius of Curvature (R) is :
f= R/3 (D) f=R/2 (C) f=2R (B) f=R (A)

3)

4 Point Charges &/ Zpufiys nZ /o/7 (A)

Stationary and Point Charges &/ 2,251/ (€FMos
Statiéhéey and Large Size Charges &z Lo\ e 4t of v (D)

207 Ui Joe w ey Gl U sty 380 o8| (4)
In Total Internal Reflection, entire light is reflected back into : A
Some other Medium (2 (f4* hf‘-’l-’lf( (B) @\/Medium ST (A)
Denser Medium 2 £4°i¥ (D) Medium with smaller Tadex £ il inAail 4 (©)
The Coulomb's Law is valid for charges which are @ Nt Do i g « 1 (5

(6)

360 M} (D) 36 MJ (O 5@:05] (B) 3&:1051 (A) : 1KWh = ——e

f el uib S Ry e oI i H
The direction of Induced e.m.f. in a Circuit is in accordance with the law of Conservation of :
Mass ILwds £ § S\ (B) Energy  JWLolv £ S 8 (A)
Momentum WL ylL o § v (D) Charge IWE s £ o § by ©

x = A+B is Boolean Expression for : . :q....-.ﬂku}!i x = A+B
NOT Gate =/t (D) NAND Gate ks (C) NOR Gate <ot (B) OR Gate =07 (A)

s et et e 2Ll LS i £ R 2 o Lty
The set of instructions and rules to design and use information system is called :
Procedure ¥4/ (D) People s/1(C) Data &} (B) Hardware 7:i4 (A)

Atomic Mass Number (A) is equal to number of : P el 4l (A) /,}JL_{’ 4]
Electrons £lfw291 (D) Neutron L:Lu'";f;;}l).i (C) Nucleons L s J x4 (B) Protons < (f Wiy (A)

Unit of Intensity Level of Sound is : P oeng U ﬁiﬁ)iv
Hetz % (D) ms ) 260% (©dB K& @) wm© KOrden (A)

P ,,{#;2-5A¢_gﬂwﬁgfvlu’bf‘d’akﬁ"—f_ﬂ £g)£;..wr.£12v

What is the power rating of a lamp connected to a 12V source when it carries 2- 5 A current :
IW (D) 25W (C) 20W (B) UH-5W (A

------- ‘iﬁ'ﬁ%ﬁ'--—-——*—* 1
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_L,‘{:,éc-cpﬁ}fr:i.l(c?b.ﬂi"&:“ﬁ‘s-n-.-r.in:l-v'ﬂﬁ-u:u::'hié_la-v&d'r}r{[érd'ﬂiggﬁé.J D.C.B.Aciizle Ly 1 iy

: _f:f.rrjﬂ.,.muﬂgﬁaﬁ L./‘Q/.‘..-ﬂ.'_féf W Fbesbie LT

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of thal question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will resull in zero mark in that question.

Value of Intensity for faintest Audible Sound is - d.vr g-—-r-“J Ttk al Lf/rr-‘ I/Jlf
wwm? © 10%wm! (g 1[1'*"“"m.fm‘2 B 10" % win~ 2 & , )
S.I. Unit of Capautance is - D ey 8L s’ UMJJ (2)

Volt & (D) Farad 52 (C) Ampere _stegat) (B) Ohm A (A)

IH. {D) Qv (C] CV (B) IR (4)

Burning of Gases :...‘-s'l!fk-c':,—:r {B) Nuclear Fissigs a‘.'_..uﬁuﬂ/" 2% (A) i
Chemical React:on z__,,j.ﬂurtgrd;ﬂ (D) Nuclea c‘i. :J:ubéf’x [C}

ICT stands for :
International Compute: gy dﬂ‘?i.:{ﬁ“ [J"lli

nication Technology Jibﬁu’;}rkrfaﬁf {B]i
ion and Computer Technology d.-’l.-ﬁ;;;rglﬁwl {C_‘;l

f.f.-s/ 1' Jdex ?lx=ABf -{5.3
A=1,B=0 (D) AXWN =1 © A=0,B=0 (B A=1,B=1 (o)

The presence of Magneti ebd can be detected by a : - r:..bf‘lam = ¥ JJJ?'}‘ Jiu._ﬁ.,ﬁ,a (7]

Information an
Indian Computer Technology (/8 Awr &1 iD;fE

It X =A+B then' X' is '1' when

Stationary Positive Charge < Gk siye/L (B) Small Mass e ook 1A)

Magnetic Compass F uﬂ'u@r? {D) Smtwnary Negatwe Charge = L,Ljﬁuﬁ, {C}

;.dn( c_dfuﬁ =y .l Ly q.,;.,r:._.rr IS J J}-" u’{ ' (8)
The property of a substance , which offers opposition to the flow of current through it is called
Powr.-r .»:L [D} EIeLtramutwr Force u‘u‘nnfﬁl {C} Ites:stance u"".u (BJ Capa.mam:e u’"u"‘f U\)
£t .,H,’jﬁ uvz:d:uhb-ufysul-ar/tf.ﬂa Jf 5 aJ_ﬁf_bL_;d/!?d-#J f Ll 10C _f {9)

5 Joules of work is needed to shift 10 C of charge from one place to another, the Potential Difference

between the places is : 5v (D) 0.5 V @... w0V (B) 2V (W) _

Focal Length for Diverging Lens is : D g_!;r EQJ;' LL H.ﬁudlj {10]
. *2 (D) Positive iy () Zeo ¢ (B) Negative #F (n)

The lmlxdness c-:f-a sound is most closely related to its : R ;Llif ki K u‘uu"J .:;b (1])
Amphtude ¢ R (D) Wavelength A +-§..J_g_, (C) Period (Bj rrequmqr { J.F”i}(ﬁu)

Lok o Hm 91 7 .ﬂ.n.l,,f Vol K d;’ J fu_.;u" f (12)
If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum's |

Motion will

Remains same (r..'zu'f G/ (B) Be increased by a factor of 2 ¥ilbasy th: (A)

l Be decreased by 3 factur of 4 b'e.l.r,nrr L—rl.r (D) Be decreased by a factor of 2 b'.‘_l.-rﬁfb’;'; (c)

Electric Power is defined as i -"-L}ir J t ki ,_,u/ J ”L_r,c},é s [3} 4

ReIeasa of Energy I::y Ehe Sun is due to : :..d.rr [ dxl - L;rﬂ (4)

e ¥ icT| (5 |

'—-.:"—..-




i Magnetic Compass = d#n.@:‘ (B) Small M@}
| Statmnary Negative Charge = L’Jk"FL;r + (D) Stat}o;% sifive Charge & Gl ;B; 1.)'( - (O) |

| Negative Tons 7, (D) Protons ¥ sitive lons 7 55 (B) Electrons &1 (A) !

Physics m L.K.No. 119 Paper Code No. 7473 _ L_,..f I |

Paper - Il (Objective Type ) || New Pattern || SSC - A - 2020 ( Group Ist T”r}" GAH») N ey
Time Allowed : 15 minutes SSC (Part-1l) w15 o

Maximum Marks : 12 Session ( 2015-17) to ( 2018 - 20 ) 12 A

& Bwpro-Gr-ro

-;,{J/f;:-uﬂ.»‘:h ' r.’ih.-"l-‘b':zl-‘ﬁ.,-'R.-.-m.:..i,ﬂuﬁbfé..r'&bﬁJlr_.a:.;;if{}te-ujff{_J nCc.B, ﬁa}lﬂfayﬁdfﬂ; H
Mool 20 dd LS TSV LS sitilie
Nole : Four possible cholces A ,B,C,D to each question are given. Which choice Is correct, fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In 2ero mark n that question,

o

- 5 # | | I
t Sl 8§ A sz £ Sl 30 e, AL ST 0 |1 |
By the end of two half lives  how many number of atoms of a Radioactive element remain undecayed : ' '

1 3 1 | @ :
i 2 i !
............... —— i &4 © ¢« & 5 W 5
In Computer Terminology Information means : Ll B 2 B Jn‘( l (2) I

Large Data Liwli (D) l’rm:esned D:u £} izvg (C) Raw Data L3 #6 (B) Any Data L} iy :Jf {A] l i

| - ;rﬂf/dﬂbmﬂfaf:-grfd’upltﬁd’ .rf."t,}l-‘fl (3)

|The process by which Electrons are emitted by a hot metal surface is known as :

Conduction ufjf (DJ Evapuratmn J_.J'"J.;ul (C) Boiling Hiy (H) ThEm\m:ﬂc =- u’-'ﬁs.i:t‘,; (.&] |
~ J FR—

""""" o f Wbl (@)
= Sl Ag ‘

The presence of Magnetic Field can be detected by a

i
The Particles emitted from a hot Cathode Surface are called(}\'/lgm/li.!l{ Ul = t J ;,;-" L . ﬁ*‘& 4} = 11

P Resistance uaiu;, (D) ~Bgothi~Aand B U B A (C) Power .:.IL (B) Current <2/ (A) ' -
;:-I#I:Ijec-t_l;:;;r;r;::undr.tnrs-iu due to the Fluw S - .:__ _,g: J e L uf ..f}a* o /A-r '['}']
Free Blectrons /9111(D) Posiive Charge &k (0 Negative lon /16 ®) Poitve Ton ST )| |
Charge of how many Electrons equal to One Coulomb : : &b e £ Lol : nH E g otd L : ® |

1 1

s.zsxms (D) 6:25x 107 (C) 6- 67 x 10 o

2 B 667 x10" W |

e ctn B o & uhtiss 2l £ _.,uJ,:. © |

For people in their early twenties with normal vision, the near point is located from eye about :

(em) (750 (D) (em) (40 (C) (em) 725 (B) (em) (20 (A)

InBli A Sl Sigir gim £ SASTSER
Which of the following gquantity is not changed during Refraction of Light
Its Wavelength ;%Jm (D) Its Frequency (01 (C) Its Speed 41 (B) Its Direction =fu (4) |

[10} '

]
|.
|
|
|
i
I

i i e o e i s e £ o - TR CHE s

| {
What is the intensity in dB of the faintest Audible Sound @ < W2 (3 Jp! Jtuad § bTfacrrfs (1)
30dB (D) 2048 (C) 10 dB {B} 0dB (A) | :

Which of the following is a method of Energy Transfer :
Ml these ru.-'.- (D) Wavemotion  /#4s (C} Radiation ¢Rifds (B) Cﬂndu:liun J"( J’ {A)

|
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©

| ,u;.,tﬁuﬂ.&ﬂ;ma&b&.,.myuf_u:u.ﬁ,é.g.,auﬁw)uqrqm-qép D,C,B,As|lplJirs 1 o
AP NG 3| S 2 F Y 3 (DR 7 T S o
Note : Four possible cholces A,B,C,D to each question are given, Which cholce I correct, fill that circle In front of that question
number, Use marker or pen to fil the circles. Cutting or filling two or more circles will result in zero mark in that question.

The bending of Waves around obstacles or sharp edges, this phenomenon is called : L)
Diffraction %73 (D) Interference ué;'.'fl (C) Refraction u“'g); (B) Reflection aCli; (A) |
The loudness of a sound is most closely related to its g.tn{:f:h’al}up S jﬂr?— (2)

Frequency U3/ (D) Wavelength 2, (C) Period is (B) Amplits? '&”—'i (A) |

s @ &d & el ¥oSlasknrm ) LeletdiiceL £ PAR /.deri
; i

(o

— AT (3)
(B) Reflection AN

* Optical Fibres * work on the principle of
Total Internal Rdlecﬂonw’p‘J}lJ} (D) Diffraction 5/} (C) Refract

: @? ey Loy L8 S (@)
The Rays reflected at angle of — in totally Internal R&Pﬁm -

60° (B 4° (A

ety A P SN (5)
Lz § (& (B) The Focal Length ¢ 2 W
Y J-'E&(" (D) The Image Distance e re & ©

The Index of Refraction depend on
The Speed of

The Object Tiskas

The Unit of e.m.f. is : : q_..b‘{l’_..fLﬂL.di; (6)

-1 .
K’ o g © N @ NC @)

1 KWh = —— .,,L:_,r”b'_{fjé (7)

3:6] (D) 3.6M] (@ 3.-6W (B) 3:.6N (A

: EBLSLI L JAE'I;J: PPN ¥ I N P ,:s..u (8)

Laws of Electromagnetic Induction and Electrolysis were presented by : |
Simon Ohm "ML‘ (D) Newton uf::' (C) Jeorge Coulomb thl.r (B) Michael Faraday L.Jl,é;f.t (A) I
i

In CRO. the Potential of Grid is PN < 1874 £ CRO. | (9)
Neutral /¢ (D) Negative ( (C) Positive =2 (B) Zero (A |

4Bits U4 (D) 6Bits UF6 (C) 8Bis U8 (B) 10 Bits 10 (A)

George Bole invented - : Vool & Lille Il (10)
|
Geometry $X (B) Arithmetic Algebra o sl —Stiagd ) (A) !
~ Mean Algebra AAict (D) Boolean Algebra WAL (©) l
- o TR [
One Byte is equal to : b &J&-_ﬁl (11)

: @8 e £ zss-g'ﬁ::"-ﬁi (12)
During the Fission Reaction of 1Kg of Uranium - 235, amount of energy is released :
11
7:7x10 ] (D) 6:7x 10 ] (© 5-7:10“] (B) 4-7:10“] (A)

I TR
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Time Allowed : 15 minutes SSC (Part - Il ) T Group st | w15
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< 7 o*’/

_L{:,Jc:..uijl.):tfuhﬁdlﬂ.‘:?!ﬂy&ﬁmﬂ;ﬂ{.ﬂbﬁ&ﬁ{Ql’dlk.;,ﬁ'F:{..J D,C,B A:-{lx;ﬁaka’:dlr/ SNCTVR
-ﬁaﬂMm’.‘igﬂ .:.ucr"l.;l...f.f,fd-l’ LS mbie L
ote : Four possible choices A, B,C,D to each question are given. Which cholce Is correet , fill that circle Infront of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in thal question. i

Waves transfer : : LEJILP Jflilf-U'-" i;
Velocity u‘m (D? _ Wavelength .r% (c)  Frequency .J“':f; (B) Energy J;r {A) (1) '
.;_,,..J g‘si),j’ hwh}r A.Luwu (2) |

For a Normal Person, audible frequency range for Sound Wave lies between  : &

30 Hz — 30 KHz (D} stz—:stHz (C) 20 Hz — 20 KHz {B) 10 Hz — 10KHz (A)

Repels other Positive Charge ;.rfd: / E,ukzb{ (8) % other Positive Charge g..rfu".’?ﬁpb:b{ (A2
Attracts a Newtral Charge q.rfﬂzuw): ©

".i.-Mﬁ.--f_ sn;xrfa&;minémk.g,){f (6)

Rupﬂs a Nautral Chlrm N 41-..:)'&; &’?d S

fni,&_-f et

The Index of Refraction of lce is : : q..u‘ff;...iffn ¢ 3) %
o re @ 1w © 1u ® e W
rlmage formed by a Camera is  : : @m: .,-,;.réu..:-/ (4) !
Virtual , Upright and Diminished  (rfiesesl (i « S (B) Real , Inverted and Di Oar i i o () E
Real , Inverted andmhflagnified d:..,-: e J,- (n) V'ﬂua!‘ IUF:’@QMFM ..fx..,-mu .ff_f_gin gc_,)_ i
A Positive Electric Charge : @ o Euk.f‘fglM—g (5) |

The combined resistance of tw cal resistors, connected in series is 8.1 . Their combined
resistance in a parallel arrangement will be
20 (D) sa (O 40 (B 2 (A) :
The Unit of Electric Power is : 2 ¥ .«:I-..f/"gf. (7)
Vot i (D) Joule Jz (C) Ampere g4 (B) war b (A) |
An example of Mutual Induction is : a._'.'-l- uf U-Jb'lg_!-'@ﬁl (8) ?
Relay L..- (D) Transformer /;l.l-ﬂ'l.v (C) D.C. Motor )r’..Lf-di (B) A.C. Generamr ;t]AC [A,’u
The Particles emitted from a hot Cathode Surface are : ..gz..w’wmﬁfy?f e 21 9 %
Electmns Afal (D):_Protons n‘s{ (C) Negatwe lons. ;'T;l'p (B) Pnsmve lTons ff;b;' (.&) i 'T
The Brain of any Computer System is ; i f,‘uh’{"" wd I.J"(J'r (lﬂ] ..i'
Control Unit _f:d,}f (D) CPU. -f-4- (C) Memory  duf (B) Monitor A7 (A) _‘:-‘-__
Which of the following is not Processing : : .:,‘:..L,G:.E-'.-{fl.—uf {11) ! Q{.
Gathering VU1 (D) Clutaing /0% () Manipulaing 72 ) Arunging b7 ()| 3
R R RPN PRI LN
When a Heavy Nucleus Splits into two lighter Nuclei, the process would : :l
&hsorb Nuclear Energy unbdifﬁ':é (B) Release Nuclear Energy Jn&uﬁdilﬁ'} (A) ;
Absnrb Che:mcal Energy :_rn.,wl.ixlu“f (D) Release Chemltﬂl Energy trﬂb.'b(.‘ﬂu‘*{ [C} | i
'\ P ' _ *ﬁ%;-m_—-—---- o /2 P l?- P I- f S" :
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will result in zero marks in that question

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more bubbles

 Dak-1-24

1-# dfr

Waves transfer -3 Py

Velocity ("t (D)  Wave length & & (C)  Frequency £/ (B) Energy &/ (A)

The spring constant is —erdf e | 2
ks-= (D) k=-I () W=mg (B) F=ma (A)

| Which is an example of longitudinal waves? - J& JJ{: J.l&') 3
i - Sound waves J» 23l (B) Light waves Jgs g 1.3= » (A)
Water waves Jgs (f Jt (D) @waves s 44 (C)

'One bel is equal to & dz(bel) J L] 4
20dB (A)

. 10dB (D) md% UdB (B)

!The index of refraction depends on

The object distance J-§ l’r"

' Types of reflection are @ -mr!.JrJng 4| B
© 5( 4(C) 3(B) 2 (A

Capacitance is defined as -q..J‘IfJb)uﬁ..il/’J‘fPLﬁ( -7
s J© ave ve @

An electric current in conductors is due to the flow of ce g Lo S S 2y | B
Negative ions 7# T;:E' (B) Positive ions #T ;’:J{ (A)
Free electrons #5157 (D) Positive charges 2.y EJ;‘ (€)

f.;.Jn&thu‘l' ;/utdffygf_yl_fil_ﬁljf{h -9

The direction of induced e.m.f in a circuit is in accordance with conservation of

i Negative ions 7T ;":E (B) Electrons #/8 (A)

| Positive ions T ¢y (D) Protons 7t (C)
Which of the following is not processing ? ) 4..|..rf J'n.;d" Lo |11

Manipulating t./}7 )2 (8) Arranging & w27 (A)

Gathering £/ (D) Calculating :f.,o:,u (C)

ce b PN B L Ltk LRI AT | -12

Isotopes of atoms of same element with different

Atomic number /i (B) Atomic mass U181 (A)
Number of electrons .5 (§ #1241 (D) Number of protons 1.7 7 (C)

e brge S AL I"J'(};varh 5
The speed of light 4y J 0’ u {B%u The focal length .5" J} (A)

The image distance J6 ¥&i (C)

| Charge &sg (D) Momentum f"—' » (C) Energyds(B) Mass 4 (A)
| The particles emitted from a hot cathode surface are -mLJb( u;rr-.,ui'rr_flf 17 (f zﬁ.:;::J -10

14 (Obi} 1* Annual 2024 SEQUENCE-1 (PAPER CODE - 7471) "
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TOTALMARKS:12 | OBJECTIVE PART (s .0

GROUP:SECOND | _ 4 " i tead
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12: AF

WYL dterse LU 42l L2 14 Y2- 8L 4sDoiA,B \C =diz 5€ jg £o% 1
% K r? b 2 s L2 SIS S LS (S ol e L 2o A e B L A S s

nhig

i _DGE-2-24 A

An electric current in a conductor is due to the flow of —as sy L...-f..f)?i LY
Negative ion /T 2% (B) Positive ion T %34 (A)

Free electrons i:/‘gr T (D) Positive charge &l £J4 (C)

Sl unit of electric potential is volt, which is equal to AR e ey i'd’f; ..J'}-EJJ

‘e o) 1ctc) ricte) i (A)
AW LSS I en S S i et 2 dnifs bt 2 1P EE G

If the current in a wire which is placed perpendicular to a magnetic field increases, the force on
the wire

Will be zero Jn)" (D) Remain the same :f;rdg,,tf (C) Decreases Jxr"(B] Increases JLJ; (A)
b I e £ 3560 L 2 e

Electron gun has an electrode which :antrnl[ed the E:mr of electro
Screen .~ (D) Grid}/ (C)  Deflecting plate\ %} (8) Anod iz (A)

Which of the following is not processing ? g .;_;ﬁ’ ...5—*:4;}" Ll
Manipulating £/ 37z (B) @ Arranging & w7 (A)
Gathering £/ ( %5 Caleulating t./ 01> (C)

:@ B4 AW Liin bt LS L4 44

The charge on alpha particle emitted d nomenon of radioactivity

+3e (D) +2e (C) +e (B) -e (A)

Which one of the waves cann through Vacuum ? Tmaﬁ;:f V-4 .-_u!rz.g pued
ision waves 1 w4 i (B) Radio waves J# ¢4, [A)

Sound waves Jg (T (D) Light waves jgs  u ()

g Ut d S35 oy iih-ﬁmﬂu}:u’fdﬁﬁ" Sk S

In the vibratory motion of simple pendulum the net force along the string is
mg cos 6 (D) mgsin® (C) mg (B) Zero (A)
Moo £FE s\ RS0 Lot

In sound waves the distance between two consecutive compression or rarefaction is
A

24 5 © i@ A
W P2, T e 3o ¥ i 4 30° JJJJHJ..&U:V'“ bl

During regular reflection of light the angle of incidence is 30° , its corresponding angle of
reflection is

60° (D) 45° (C) 30°(B) 15° (A)

rhe index of refraction depends upon Tﬁ-._;,.,r";l./l l’w’{j.n_!f;rrh
Speed of light Ly(v (B) Focal length #54J7 (a)
Object distance ¥~ (D) Image distance L%K51 (C)

st Bl 4T L Tk E RISy L2V L 2 L SF Lia

rhe charge store on a 5F capacitor , when it charges to a potential difference of 12 V is

17C(D) 60C(C)  0.42C (B) 24C (A)
LTEELE LT :

10

-11

-12

16 (Obj) 1*Annual 2024 SEQUENCE-3  (PAPER CODE - 7476)
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PAPER CODE - 7475 ENE
415 = =5 10" CLASS — 1% Annual 2023 =  PHYSICS /¥
12=4F OOK-|—>2 s o Chs bt o
ULt e neirE asi by nsQ¥Q1% RE 5D 4 AB,CMEINLr g 1 Ay

So0.7 DA oS §ES 1S M S W dsbsie (i s fe i | Lo Foo 35

Number of neutrons in tritium H? is RPN Y I
. | 4 (D) 30 2 ® 1@
AND gate can be formed by using two —....... gates  fe G- n S biusT eIy S Ut vews | 2
NAND gates u*'ie' (D) NOR gates J’-’Ct (C) OR gates uﬂf(n) NOTgltuu‘y-bb(A)
En A B ol n &b udna-g b3S Sdabid L1l B me b fiftlioc | 3

Five Joules of work is needed to shift 10 C of charge from one place to another. The potential difference

between the places is

10v ) sv@ 2v @B o05v QA
Electric potential and e.m.f . | e.m.f alﬂgJ | 4
Are the different terms ([ /5*3¥2 (B)  Are the same terms (W AF T L (A)
 BothBandC (s» C 4B (D) Have differentunits (iU 7L (C)

The step~up transformer @ SN | 5
Increases the input voitage #bit"@ynw {(B) Increasesthe i q.ﬁrz:’*:.if.&;u(a)
Has more turns o m."_.xfuputgﬂ/d/l‘;f ©
Has less turns in coil wd'_.nlffrgﬂ‘ﬁflbbﬁf (D)

In computer terminology information means +J’fﬁﬁlpﬁ&i&)¢’;{ 6
Large data &p|) (D) Processed (@q (© Rawdata LIP6(B) Anydata L3F(s(A)
SIunitof e..f is G2y ST KA | 7

NC™ (D) NC (© ic' ®) ic A

Which form of energy s sound ? ¢ P IS | 8
Chemical € (D) Thermal J,?(C) Mechanical J&% (B) Electrical JK 26 (A)

The relation between V, fand A of a wave is e P sl iBpmEyFnlpg | o
v=§ @ VA=f(© fi=v @) vi=1Q

1024 bytes = . L1024 | 10
1mB (D) 1GB (C) 1MB (B) 1kB (A)

Fax machine is also called................. LS S| 11
Telphone (D) Telefacsimile machine Ak © Cm:puter).a{(ﬂ) Radio g4, (A)

Which type of image is formed by a convex lens on a screen ? nglff’fwﬁ)ﬂff 12

Upright and real ("4 (C) Inverted and virtual (fgum(i' (B) nverted and real (I (A)
Tnriokt and vistnal ¢ ¥ 2.0 o (D)
Upright and virtual {/ LaI0 4 (D)

14 (Obi) - 1** Annual 2023 SEQUENCE -3 ( PAPER CODE - 7475)
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2 15 = =y s o i J7

Y Dot -Gr-23 il
dbLiz e e sl iy p i Q¥QIZ B E 2 sDsIA, B, C M2 Ly 2 =l
AP Pz uf v feur§LS4S ML S 1t L. Es A clh | S 1,563
1 AJir
| t0ad F haler? S p e P IS e b g |
Which of the foliowing characteristics of a wave is Independent of the others?
Wave length J":'p (D) Amplitude #d4()  Frequency W*£) (8) Speed L0, (A

SrSiic 0am Py avz GFE)SpdadsPrad | 2

A wave moves on a slinky with frequency of 4Hz and wavelength of 0.4m. What Is the speed of Wave?

1.8ms" (D) 1.4 ms” (C) 1.2ms" (B) 186ms" (W

Which form of energy is sound? re- A5 r8En bl | 3
chemical f" (D) thermal ' 7 (C) mmama&?-" )] electrical £ 4 ()

The Index of refraction depends on? Q ) T.,-:.b'.uuu’.-ljm;?-; Sl | 4
object distance 6L % (D) Image distance 44L& (C) -@?&% D825 (8) focal length 421 (W)

Capacitance Is defined as. ;% N % )MJJ.",&( 5
via (D) Q/v (B8 ve (W)

@ P g iz ﬂdg.:ﬂfnfgmﬂef oLt | 6

When we double the voltage In a simpl reult, we double the.

bothAsndB  BulA Y Resistance 4 (C)  Power <JU (B) ©  Curent 2/ (W)

AT NG P AN | 7
One of the isotopes of Uranium Is #8)., The number of neutrons is this Isotope Is 7

338 (D) 238 (C) 146 (B) 92 (A
Transformer Is used to change the value of. DLyl 1,80 | 8
Voltage & (D) Power JU(C) Energy @/t (B)  Charge Guf@)
Input terminal of NOT gats is. 40T §PE Jag e dNOT | g
Three ¢£ (D) many wlJ (C) Two » (B) One \.fl W
. George Boole Invented. ' A LAt | 1C

Geometry §, & (D) Mean Algebra | £ic? (C) Arithmetic Algebra ! 4167 1(8) Boolean Algebra | £Ict4 (A)
te. & i fur mlicaist~" o P AR

i How many components of a computer based Information system (CBIS) has?

\ 5 (D) s@ 3 @® 2@

The number of isotopes of Hydrogen is. -Gl Lft.‘})f L Zukl | 1
' 5 (D) 4(c) 3 (8) 2 (A

14 (Obj) 12022 - 60000  SEQUENCE -1 (PAPER CODE - 7471)
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ax 15 = =5

12= A4S 1o 2016-2018 & 2015-2017 ="

/,LL}:JJL-‘:'J:WL.._..f:z.:,.m.:.._,twiuif:,Ja.i.»édlr,méh’@z-wi:«,.; DsA,B,C ayz2balrs

w=bla

I'rhr"-hJ-E.._.-J.p’.'uf.i-J;JFJLI{I#&LI{}Q}J*»:p'c_....{* -é")/!’;-gﬁy
1A

If the length of simple pendulum is doubled its time period will be. RN ANV VAT PN IO
2™ 2T © T ® VITW
Which is an example of longitudinal wave e JedpSiEy

Water wave 7y (D) Sound wave s S (C) Radio wave #7is (B) Light wave sS85 (A
Eniasr 7

real and inverted . (B) real and erect ;,J:"'utll-l-.-_—' (A)

Virtual and inverted J 7.»¢1 (D) virtual and erect J 2.5e4-(C)

Which of the following is not changed during refraction of light ? edn Uy gufond SEEAS Fi
wave length  #;, (D) frequency ~£H(C) spe @ (B) direction =~ (A)

One Farad is equal to Q i
103 pyF (D) 1073 yF (O .@ uF (B) 10°¢ uF (A)
A/ 2.5 Ac_ufo i

What is the power rating of a lamp connected to a 12V
60 @) W@ 145W (B) 48W (WD

e 3 by i Lol 10V Lp~ml 4KQ . 6K
K 0 and 4 K Q are connected in series across a 10V

The image formed by convex mirror is

= Ur-.’jldﬂu-"
The equivalent resistance of two resis

battery
%Kﬂ([}) 1531(:1 (©) KN B) 10KQ W

A device which convert mechanical energy into electrical energy . -‘_:.rf L gL A, dﬂ;_f:"-{ 22
Electroscope .;.F:f‘?- (D) A.C. Generator ~25< (C) D.C motor/»s} (B) transformer ,.c-1/ (A)
The mathematical notation for AND operation is ceerde L Loty (AND) (igie
X=A.B (D X=A.B(© X=A+B(@B X=A+B (A
s S S LA e B i
From which of the following we can get information almost about every thing
internet - # (D)  computer /»’ (C)  teacher &1 (B) book U (A)
In computer terminology information means eSS L F
Largedata . (D) Processed data i} ies; (C) Rawdata 37 (B) Any data el W
i it P U AL
One of the isotopes of Uranium is ** Us, .The number of neutron in this isotope is
330 (D) 238 (©) 146 (B) 92 (A)

14 (Obj) -12018-60000 (NEW) SEQUENCE-1
5 PGK_to-)— 18

m

(2)

3)

4)

(5)

6

(D

(8)

©

(10

an

(12)



PAPER CODE -7472
(10® CLASS - 12018)

o 15 = s g/ (D) S7
12= A FEop o 2016-2018 t 2015-2017 : <L
LLJ{;?IJ:-B"L:!"&'L..'.-I.ﬂ'.:-fuaz-_.uﬁu:ﬂ:éir:&v&drr ,{4:&1}'34&2@1)1&'&,5.0 .:.-y.a.-ﬂ:.;didrrﬁ rad A
€ rtsr sl 200 FNI SR el s, 4;" Usomk ekl -2 A il
LA
Formula of Hook's law is. -q..irm’uu‘( (1
x=-Fk () K=; (0 F=-kx() F= kx* (A)
The critical angle of water is et fa S | ()
46° (D) 45° (C) 49.5° (B)48.8° (A)
The speod of sound in air at O °C is ety 0% | G
3gems” (0) 327ms” (©) 346ms’ (B) 331ms (A)
The speed of light in glass is e drdF st | @
3x10°ms” (D) 3x10"ms” (C) r\ﬁi @) 2x10°ms” (W)
S E@;ﬁruﬁ SI ;Jrlnf-{&-‘c)rz.!ﬁ?:;lguﬁ (5)
If the medium between two charges is air then the value of K in SI system
9x10°Nm’e” (D) 9x19! (©) 9x10™" Nm’c? (B) 9x107 Nm'c” (W
S.1. unit of potential difference is @ -e-2y 81 KBSy | (6)
4 (D) Farad 4 (C) Volt 2 (B) Ampere /=5 (A)
$.1. unit of resistance is iy SLE 0 [ (D)
\,‘ watt L) (D) obm (3 (C) Volt =/ (B) Farad 14 (A
A Temporary magnet which canses to flow current through a coil is +;41J%£&futdglf_gﬁ:7@uj;h (8)
Eloctromagnet =Ls 25! (D) Magast 5 (C) Blestrc imtemsity 1~ 1n/,/£'(B) Magnetic field ) G- ()
The components of cathode ray oscilloscope are Lﬂdﬁf,{’k:rgﬁﬁ{ ©
6 4@ 3 2W
What does the term e-mail stand for ? ‘ te KLy | €10)
Bmergencymail %4 (B)  Extrmmail 151 (A)
Electrical mail JZ K291 (D) . Blectronic mail &' 6141 (C)
Graham bell made a simple telephone in st faS | QD
1876 (D) 1886 (C) 1870 (B) 1867 (A)
Number of neutrons in tritium H3 is | N VI - Hi &2 | (2)
5 4@ 3® 2 W
16 (Obj) ~12018~60000 (NEW) SEQUENCE- |
P IGK -to- 2-19




WYY | Roll No §5.C (Part-N) A/2024 ! PaperCode | 7 | 4 | 7 | 7

(For All Sessions)
Physics (Objective) Group - I (P3PS 7
Time:15 Minutes ‘ QLU p — | F2—t, Marks : 12

Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are

10.

11,

12.

given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

LB O g tmen 1 0 W e din sl DiBANZ S L Irs e

Two small charged spheres are scparated by 2mm. elilizi- L.J’,L, Lo L 2mm 3/ by b 1.1
Which of the following would produce the greatest j

attractive force? fJ)t(;fJJJ e L...l-’l,,/

(A) +lgand +4q (B) -lgand-4q (C) +2q and +2q \.\ (D) +2qand-2q

What is the voltage across a 62 resistor when 3A of et ,,_;,).Lé-ﬂ?p t-,f...nfﬂA;.;,ﬁf“L o 2
current passes through it?

(A) v (B) 9V i(C} 18V \ (D) \_ 36V

e Do et | LN e s SaBedIUnen 3
for

(A) The commutator pag H) \

(C) The brushes f"““‘*‘*\f,:

If X = A.B, then X is " wh;n \ . J,J X #X=ABJS 4

(A) A=1&B=1 (B) /r 0o p__\(r,‘) 4. A=1landB=0

In computer terminology mﬁ}mntlon S: \__ ...—..Jb’._r" LMt el 5

(A) Any da"h ,:,wfa;.\ 31

(C) Prm;essad :hta iy Large data EintJ

When urahium (92 pfhmns) cjects a beta

parucl nxy proth{s will be in th &

rcma]nlﬂg n“c >
(A) 89 protons ~ 439 ( RO~pio o‘na,.ﬂf,;gu (C) 91 protons ﬁ;:.g?l (D) 93 protons :=.|:‘:493

O J{md’{ﬁp‘fd' 34 LTt L Al G 9o 6

If speed of sound is 332ms’, ance covered e bndoin )b 22 1.570332ms e din i T
in 1.5 sec will be: \ Tz y
(A) 331.5m (B) 3335m (C) 498m (D) 221m
By end of two half lives, hu'lr,‘lﬁany number of atoms Sl S 12 frds g s LBV R 8
of radioactive clement rerfidin un-decayed. .

1 pA 3

- . C b =
(A) 2 (B) 2 © r (D) 3
For an ideal transformer we can write: (B S a0 9
(A) Pp#Ps (B) Pp= Fs (©) Pp:’ Fy (D) Pp‘: Ps
Waves transfer: :LJJ/LF‘ g 10
(A) Enei‘g}' Js (B) Frequency w<£;) (C) Wavelength ;ffg. (D) Velocity ¢
For a normal person, audible frequency range for ) s e :
sound wave lie between : '?'””JU{’E / J"?“""*"’“‘i&d’rﬂ'ﬁ 11

(A) 10HZ-10KHZ (B) 20HZ-20KHZ (C) 25HZ25KHZ (D) 30HZ-30KHZ

Which type nf. i:?mg.e is pro:!uced by_the converging lens ¢ {-V‘G-é'tf(:u/d/r", LB B0 |2
of human eye if it views a distant object?
(A)  Real, crect, same size slcradfif ey (B) Real, inverted, diminished  Jerdfif

(C)  Virtual, erect, diminished dZexcd efyn (D) Virtual, inverted, magnified Sregd S 2
19-10-A-
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(For All Sessions)

12

Physics (Objective) Group - i (u":/“)u” 7
- wp-2-24

Time:15 Minutes Marks :

Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are

10.

11,

12,

given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

SIS B SA R L3t nl S W 2oy W2 8L s DEBA=YR L L S 1

The correct relation b‘etwean focal length and e P s achonl s/ ST R N T
radius of curvature is:
R R R
W f=7 ® =z  © aff?f\\f=ﬂ
Capacitance is defined as: { : \.«,—. YT 6=
? v

Q
A) C=V+Q (B c==  (C)___C=ev \(D) C\ =
) . 4 )““\ \;“> ¢

The voltage across 6€2 resistor is 18 volt. The /{__ -

current passes through it is: i ' R
(A) 3A (B) 12A C) (D) 6A

Two resistor of resistance 6k and 12k are We 3 S s A0 kst 6kQ
connected in parallel acrossa 6 v ery. The, ~ B

< £

potential difference across Gyfmsistor (Y {'\ -~ I/l .
(A) 2Volt  (B) avolt\ (O < o) 12 Volt
The direction of induced emf in’m is in . b & 2uf Lo per S infigiog
accordance with law of co ation of: \ %

0 <y (D) Energy (i

(A) Mass T\ (B) %hargc \ &
The process by which electrons are cmitte% b U st el AN NI =YY,
Evaporation sl

hot metal sufface is E‘lmwn as:
\

(A)  Boiliig "\ .

(C) Conduction\.,_ \ ! ///(D) Thermionic emission yzlhf.lfs ¥
The brain of any com}s{ter L’f e Lok 1S id
(A) Memory @we (B Mowide 2 zi  (C) Comtolunit wgh” (D) CPU iy
One of the isotopes of uraniém is”u The ie NI Gy L d AT Jrq_z:-ah'.-ﬁr"f_{ =y
number of protons in this igefope i:zz "

(A) 92 (B) 146 (©) 238 (D) 330

The charge on alpha particle emitted during the ?c.ﬁfbh..;ﬁxtWla’-'si-nbxli::-d"ﬁﬁ;gzéa
phenomenon of radioactivity is: ) i )

(A) +e (B) +2e (©) +de (D) Neutral Js¢
Waves transfer: 20/ i
(A) Energy gi (B) Frequency <£; (C)- Wavelength &'y (D) Velocity (i
et e i o PSS MY gy ekt SV Rt
(A) 05s (B) ls (C) 1.5s (D) 2s

The speed of sound is greater in: :4_.:!;}4};6' T
(A) Air Lix  (B) Water Lt (C) Metal 2 (D) Vacuum (2rk

31-10-A-
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Physms (Objective Type) M,q )e2)- ( u‘ly")u";’
Marks: 12 Time: 15 Minutes 215 < 127
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,.C & D to
each question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. In a vaccum all electromagnetic waves have the same: B L u@'-ﬁ’:}?irﬁbtp.—fs 1.1
(A) Speed  ir (B) Frequency U4  (C) Amplitude 3% (D) Wavelength 5%
2. The speed of sound in liquid as compared to gases is: :q.Jx{A;&f:TUC.LB.LuJJ(‘EL 2
(A) Five times ‘fég (B) Fifteentimes G (C) Two times 6o (D) Eight times /%7
3. The refractive index of crown glass is: :;;_I:;ru{’:i}f);smb'ui Y 3
(A) 2.42 (B) 2.21 (C) 1.66 (D) 1.52
4. Five joules of work is needed to shift 10C of charge fromone s 261 L8 fift i l10C L 4
place to another.The potential difference between the places is: @ TP s MUttt
(A) 0.5V (B) 2V (C) ﬁ\o (D) 10V .
5. Sl unit of electric intensity is: O%Qb ‘e tiyS 1K J“?!J}gi k.
(A) Nm'' (B) NC' @) Nm? (D) Nm
6. Electric potential and e.m.f: @%5 ; :ug...yr%f.dmld’%_f}?l 6
(A) are the same terms  (/f) (B) are the different terms 1/ /L il%s

(D) arebothBand C  (C)ui(B)Usn

7. 1KWh is equal to: :.;-_414;,7’.:.»!_9 "
(A) 1.6MJ . (©) 36MJ (D) 4.6MJ |

8. The direction of induced-emi in a circuit is in accordance with S (n(HbL iU e e emtiyhl 8

(C) Have the different units

conservation of:

(A) Mass Ut (B) Charge (b (C) Momentum  (*» (D) Energy ./
9, A device which is used to increase or decrease e rLka.g.t'ﬂdlr*"f?"__'f L/;:pgﬂ’ 5»AC£.IT._Q 9
the AC voitage is called:
(A) Transformer i1/ (B) Motor /v (C) Generator 72 (D) Voltmeter <2/
10. The particles emitted from a hot cathode surface are called: :(_,{_r.f_.lk'cu:f&,;l;c..fu( iﬁ?xfr!)gl__.d_l 10
(A) Negativeions #72€ (B) Positiveions #Tzji (C) Electrons 521 (D) Protons  7ts
11. The brain of any computer system is: tq..f’.,h:b’(l""f‘:_-,ru'ff 11
(A) Monitor (B) Memory (<
(C) CP.U ;'QJ (D) Control unit .:J:_’.Js}"
12. Isotopes are atoms of same element with different: e br P L A L e A L9 T 12
(A) Atomic mass L{ ¢ (B) Atomic number AL
(C) Number of protons :Jﬁgf;r'.-l-.; (D) Number of electrons s L1 200
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB.C & D to
zach question are given.Which answer you consider correct, fill the corresponding circle A.B.C or D given in front of
sach question with Marker or pen ink on the answer sheet provided.

1.1. Waves transfer. ' A& e 14
(A) Velocity  (51s (B) Energy &/
(C) Wavelength é‘%s (D) Freguency Rx :'-{f" f
2. The unit of intensity of sound is: 1q_¢sgrd'&?lfjlﬁ 2
(A) Wm™ (B) Wm® (C) Wm’ (D) Wm
3. Snell's law is: @ TS 3
(A) "= S{”‘F ® "= siny sl py R=siny
sini ) (L) :
4. The S.1 unit of electric field intensity is: Qﬂéﬁ\ e 2yS. WD 4
(A) NC* (8) NC' 65 (D) Nm
5. Capacitance of any capacitor is equal to: @ Ldﬂ.;!.c;j' d{f )/;jf 5
@ c=¢ ® c=" @@c; oV o 1
V 0 O oV
6. Formula of em.fis: ;;.Jm..yi%f-dr B
0 i il
- = — E=—
7 Ve 8) <y © 77 (o) R
7. The unit of electric power is: e gl S 7
(A) Ohm /5l (B) Watt s (C) Farad 47 (D) Joule =
8. For an ideal transformer: ATl B
(A) Pp<P, (B) Pp=P, (C) Pp=Ps (D) Pp# Py
A X
9. Which logic operation is formed by this gate? B :):: ‘e b P el 8
(A) AND &I (B) NAND % (C) OR .7 (D) NOR .t
10. Boolean expression of NOR gate is: 'ﬁ-...:-.fl.-L.-u"iJ.‘«_Gt .10
(A) X=A.B (B) X=A+B (C) X=A+B (D) X =AB
11. Number of components of computer based information system is. :..;.:lﬁ&l:?.fﬁ("’ L-,ﬁ—'.di'rii-::);_—f A1
(A) 3 (B) 4 (C) 5 (D) 6
12. What happens to the mass number of an element which 4.-,,'!...1' Ml Ir;;_ £/ &,zl.r.ﬁrtwi ..wé‘f..:.i_; 12
emits one alpha particle? Ve A
(A) Decreases by 2 ¥Z_sf 2 (B) Decreasesby4 €ibs( 4

(C) Increases by 2 Fi-bsx2 ﬂ (D) Increases by 4 Fil=i4
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider corrent, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. The output of NAND gate is ‘0" when: :fIJn*U'.'.-;..'..ﬁJ_'),'j:f 1.1

(A) A=0 and B=0 (B) A=1 and B=1 (C) A=0orB=0 (D) A=1or B=1
2. In computer terminology information means: :;;.&K’ﬁuﬂad:’{::})ﬁr 2

(A) Any data  &3%0Y (B) Rawdata Li#b
(C) Processed data Liizs (D) Large data GjwmlJ
3. One of the isotopes of Uranium is EJfU _the neutrons in this isotope is: u:.;,ﬁr‘"l'ui-ﬂ;. 2.:: U .;,ﬁ.v"l'...ﬁb’(':ug 3
PRPALY
(A) 92 (B) 146 : (C) 238 (D) 330

4 When Uranium(92 protons) ejects beta partic %,how many Nz, e t/7 @;Gfﬂlf.i{r(ﬁ:’:s;;QZ)(’:;f.._.e 4
AR

(C 0© (D) 89
ation al@ ﬁ-ﬁ@'Jb}ﬂgfa/&u’:d.ﬁe}ﬁ 5
@ pES
(C) Computer Jwd (D) Intemet ¥l

:;;:10..-4JJLJJ/€£/;WU)1 B
N, :
/) © Ny= % ©) s =V%

prolons will be in remaining nucieus?
(A) 93 (8) 91
5. From which of the following you can get infor!

everything?
(A) Book (B) Teacher »-i(
6. If the turn ratio of a transformer is "10',

(A) N =10N, (B)

7. One meter long simple time period| is. :.T_.rxé,céfﬂrﬁsi:;ubﬁéyﬁ..ﬁ '
(A) 1.99 8 (B) 2118 (C) 1.89S (D) 1.88S

8. Speed of sound in air at 0°C is: -GS 0°C2x .8
(A) 376 mS™' (B) 386 mS™ (C) 231 ms’ (D) 331 mS™

9. Pitch of sound more depends upon: . :,‘;_m,y,uf'rrg&s,f 9
(A) Frequency d’:rj (B) Time period ,n_‘-,;sft‘ (C) Wavelength i%{: (D) Amplitude e
:q/-é‘/'"tfu"?d‘f( 10

10. Capacitance is defined as: I
|
I

(A) CV (B) Q/V (C) Qv (D) v/Q

11. The unit of electric current is: : :c:-...:.-:_'_'b’..*..-'f._f/‘gr 11
(A) Coulomb o (B) Joule 2 | (C) Ampere 44 (D) Watt &by

12. The presence of magnetic field can be detectpd by a: :‘l.-_.Cgiggﬁ:; b’&frd}?ﬂ 12
(A) Small mass <« Vg (B) Stationary positive charge ;-_6;__[,':‘:.};0" -

(C) Stationary negative charge .:.a;;;ﬁ-cbfllr (D) Magnetic compass &Jif-@-c'
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NOTE: Write answers lo the questions on objective answer sheet provided Four possible answers A B.C & D 1o each
question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
guestion with Marker or pen ink on the answer sheet provided.

1.1 The output of a NAND gate is 0 when: SO ssTieli 1.1
(A) A=1and B=0 (B) A=0 and B=0 (C) A=0and B=1 (D) A=1and B=1
2. The brain of any compuler is: .r_cuﬁ’ f:_-;'f_, 2
(A) Controlunit =i¢J+* (B) Monitor Z\ (C) memory ot (D) CPU QU
3. What happens to the atomic number of an element, which k] HIE.,'J};. VENY, 31; L;.{r.,«f“.._f!_; 3
eject a beta particle? P % }n:f;
(A) increases by 1 ¥ oozl (B) Stay the sa u-'dfw
(C) decreases by 2 ¥ lg:f.";: (D) dec E'.’_wr‘_u
4. Which one of the waves cannot pass through 1..rr;muurn‘? ur u"l xu-ur. LJ:['J‘..F upsed 4
(A) Sound waves  ys i dbo waves fsfi.
(C) Television waves  #sSuind @%%) Light waves sz’
5 The loudness of sound is most closely related (@ e :,:J'..fl;wl..-!’ iiuuﬁ:.- B
(A) Frequency (%7 (B) Period _&n\< (C) Wavelength 4. (D) Amplitudess N
6 The speed of light in air is 3x10°m in glass 2x10°ms™". .,,r:._,fu‘.v:s:m ms” Le Sl 6
The refractive index of glass | e SR 2x1ﬂ’ms
(A) 067 (Bj1.00 (C) 1.5 (D) 2.00
7 An ophthalmologist places a 2 00 D lens next lo e tirdvd 72 L0, 350 4¥ 2.00Dﬁ4L:£T B g
0.35 D lens.The power of combination is: :‘;J:g._,':’;_-,’-'"f J¥
(A) 0.35D (B) 165D (C) 2.00D (D) 2.35D )
8 Capacitance is defined as e :SE;-J &ﬁp”-—é‘ﬁu’:’u’:f 58
(A) VIC (B) QN (C) Qv (D) ViQ
9. What is voltage across a 6 () resistorwhen 3A of e bl S 3A e LB L 9
current pass through it? et OnINE s
(A) 2V (B) 9V (C) 18V (D) 36V
10 What is the power rating of a lamp connected loa 12 V fnl._ft,}qf,rs; .{..'.th_fnz e SRerd 12V 10
source when it carries 2.5 A current? ?,r:“LJ..(_-.*.-'.I §2.5AL L
(A) 4 8W (B) 155W (C} 30W (D) 60W
11. Lenz's Law is in accordance to the law of conservation of e bl I L Fa P udvdd 1
(A) energy (&S (B) mass v (C) momentum (’J‘? (D) charge Cug
12. Electron gun has an electrode which controls the flow nfaecl.run?- ‘::.r. ,wnl(...us;’lfj- i r._;:,_, usri' A2

F - (B)

(D)

(A) Screen /-
(C) Anode &

_;,J

Grid
Deflecting plates e

25-10-A W 3¢ -57000
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guestion with Marker or pen ink on the answer sheet provided
1.1 Which waves require medium for their propagation?

12.

41 7|2

Group-Il-os/

Time: 15 Minutes 22415 =3

( u"‘}/-*)u/?’t

12:4

¥ - -~ . - P~ -
A~ fv'l,;t&r\}"ﬂ;uﬂ:?j- e '5’-7-"—'3«./‘3' s D ﬂ'.Cjﬁ.:.—@H}Sx?ridVﬁ {;?{i'q !ﬁé‘-ﬂ JE;"" df e lind oyl W2
e (FL J{;El-/.fl!i_ I L LD CBAzELL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB.C & D to each
question are given Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each

(A) X-rays :,:J;_:; I

(C) Mechanical waves Jg:u‘ﬁﬁ

Which form of energy is sound? b
(A) Electriicai  £49  (B) Mechanical S
Radius of curvature is of the focal length:

(A) Half s (B) Double ¢

The endoscope used to examine the throat is called:

(A) Bronchoscope -+
(C) Gastroscope _;;ﬁ: f-i'

to another. The potential difference between the

e ;IK.::.AHJ'{‘E*&;_ JLG:_'JJJ;( 1A

(B) Radiowaves .k,

(D) Electromagnetic waves Jz:_.@“;?}‘?r
?ag_(jb‘}i_.[rdﬂ}?b 2
(C) Thermal J# (D) Chemical &<
e twe SN S AL 3

(C) Equal .« @ (D) Three times ot
.; izl il bl L 4

(B) =

(D jsgope -.,-'-".":L;:'

:i’;r-,_,"-" }lﬁ{g L/‘JJ-;': = i.'p'-g;’s:.,-,!f,q:_r:;t);r:s

5 joules of work is needed to shift 10C of charge:ﬁié@lme J:‘:Szi_:'l.jr'__,ﬁdﬂn;é_g,’a,?_gé 10C 5
is

(A) 0.5V (B) 2V @
When we double the voltage in a sim feinie circuit, we

double the:
(A) Current =2/
One Pico farad is equal to:

(A) 1x10"°F (B) "x10°F
The value of 1 KWh in Joules is:
(A) 3.6x10° (B) 36x10°

The logic operation performed by the given Gale is.

(A) AND & (B) NOR &
The equation of AND operation is:
(A) X=A+B (B) X= 4

. Email stands for

(A) emergency mail  JE5 A
(C) external mail <24

(C) 5V (D) 10V

o e o »
L;-";:.-I.wd?f:’uf% S éJm_,z: ».‘-‘;mtw..{ir‘?x I <

¢Sz px

(C) Resistance *7, (D)BothAandB U

.-mu;,é&.g ke

-::_‘_g':dﬁ.:-giﬁ':’..:-hrg_g 8

.
(C) 10°F (D) 1x107%F
(C) 36x10° (D) 36x10°
A

X
E >3 :xﬂg*-f,;l'_ﬁ; o LetLi, o

-

- »
1::_-.':-I:I...J-J;_-,"—.; 10

R
(C) NAND (D) OR i
(C) X=AB (D) X=A.B

(B) extramail KL
(D) electronic mail  J<uks

e 1

Which ameng the following radiations has more penetrating power? i< sslinl J,,,,ﬁv lf-.,r(.:. . ;*""-‘rJ;_.’,,L,fjr_-,ﬂ 12

(A) a beta radiation AL
(C) an aipha particle L,f'l';tﬂi

(B) agamma radialion z;u_"
(D) all these are equal (0 (e

27-10-A-%-39000
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NOTE: Write answers to the questions on obj'ective answer sheet provided. Four possible answers A B,.C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

e Sirbmd (For all sessions)

Gro np-l-..raf

or pen ink on the answer sheel provided.

1.1. One kilo byte is equal to:
(A) 1024 Bytes <4,1024
(C) 1024 Mega Bytes 2161024
2. Isotopes are atoms of same element with different.
(A) Atomic mass L £ ¢
(C) Number of protons ,r,&.f :F.r":{
3. The relation among v,f and A of a wave is:
(a) v =4 @) fA=v

4. Which from of energy is sound?
(A) Electrical K2

(A) 4.1 cm
6. The index of refraction of air is:
(A) 1.00 (B)
I According to Coulomb's |
oppositely charged objects

(A) increases < (s
(C) remains unchanged (et s

8. An electric current in conductor is due to the flow of:

(B) Mechanical J‘*ﬁ

-94F4k1rr1 14
(B) 1024 kilo bytes .71 1024
(D) 1024 Bits 1024
- B L AL oS LI ad T 2
(B) Atomic number < _Cbl
(D) Number of electrons

A

i J‘Eém'u:';gf:d'ﬂu&;h{f 3
© i=/as” ®v=%;
0%"1 fe FSSE AT 4
@ al 7 (D) Chemical <

Li/é‘..?."{{.hlii14cm(-i.|.'£y'u£??e-g 5

e mirror? ?ﬁ;_y’#'ﬁnf_g.s‘-{s.scmé
(C) -99cm (D) -20 cm
T 6
(€) 133 (D) 1.52

t happens to the attraction of two .L-rliwynﬁz;l;..ﬂ&‘u)‘l Il ol A 7
their distance of separation increase? T‘g;;fﬁdf}g{g%kuﬁuﬂ;’L?‘L:bﬁ.‘f

(B) decreases :I-_Jlg.rf,;
(D) cannot be determined L
-;.;:Jfkia/—ffg'gﬂfy 8

(A) Positive ions ;P"l';!.:; (B) Negative ions ;v'-'TsE‘-': (C) Positive charges 2.4 ;¢ (D) Free electrons a0

9. The unit of electric power is:
(A) Volt L) (B) Joul 2

10. D.C motor converts.
(A) Mechanical energy into electrical energy
(B) Mechanical energy into chemical energy
(C) Electrical energy into mechanical energy
(D) Electrical energy into chemical energy

surface is known as:

(A) Boiling By
12. In computer terminoiogy information means:

(A) any data &%) (B) raw data 4376

(B) Evaporation ¢Zsuzs

_ e 9
(D) Watt =&
<3 ensss 10

(C) Ampere &~

utdiu)?/‘-?'fdiﬁ
LGNS a N

LENSETE N2
LEH S B

11. The process by which eletrons are emitted by a hot metal

e tbunt P Lo SRS P 1

(C) Conduction o*%" (D) Thermonic emission S f
I AN Y.
(C) processeddata Liizy (D) large data LinlJ

25-010-A-30 3%
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NOTE: Write answers to the questions on objective answer sheet provied. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding cirgle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

BT P00 14

1.1. Law of Electromagnetic Induction was given by:

(A) Faraday 3¢  (B) Henry ¢ @ Volta ths D) G.Bell J/
2. MR helps in diagnose the disorder of: te Gl UGy MR 2
(A) Brain  {As (B) Eye 47 C) Ear of (D) Kidney o/
3. If x=A.B then x will be one when: :.,ann_ﬁ;A-EJ xix=A.B/l 3
(A) A=0 and B=0 (B) A=1and B=1 (C) A=0and B=1 (D) A=1and B=0
4. Radio wave are: @ -tk 4
(A) Infrared 4/ (B) X-Ray «s/%! f/ (©) Ele@‘?&enc_@f‘;ﬂn (D) Mechanical J"‘;
% '-'.:..u"ﬁ./ E-mail .5

5. E-mail stands for.

(A) Extramail J<1241  (B) Externai mail <, J/&D Electronic mail J£—f+€1 (D) Emergency mail J<5 54!
e Kl B

6. The temperature at centre of sun is:

o
(A) U 20MK (B) wH A 2MKRLY (C) wrA2aMK (D) o 25MK
7.  Time period of simple pendulum o gié: _‘;.4,;feu?,j;uw_udpﬁ..g 4
(A) 1.995 (B) 2.1 (C) 1.89S (D) 1.88S

8. One bel is equal to: - slz(Bel) JSLi .8

(A) 5dB (B) 10dB (C) 60dB (D) 20dB |
9 Frequency of tuning fork depends upon: -4.;L-’:fli'u"';f)g(_f;}._t'£ .9

(A) Length U/ (B) Mass (C) Force i (D) Amplitude 25
e S ¥y 10

10. Refractive index of water is:
(A) 1.00 (8) 166 (€) 133 (D) 2.42
11. How much energy(million Joule) has a thunder of light ‘e e LR PE LSS FGeT 1

(A) 1000 (B) 10,000 (C) 100 (D) 100000
e nPH ) 12

12. Potential of neutral wire is:
(A) 1V (B) 5V ov (D) 10V
25-010-A- T W

A
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Varks: 12 Time: 15 Minutes 15 s 124

,ff.,J-er._;Qr-h.imcu.-.-‘f;m.,;.Tffrzgf'@i;:_mnl,c,a.ﬂ. grfJJgLJlmé;‘?;‘gﬂ}muﬁfd{bgy.eé;mrfﬁu}

S eGP e L UsIED L CBe A 17l
NOTE: Write answers to the questions on objective answer sheet propided. Four possible answers A,B,C & D to each™uestion
are given.Which answer you consider correct, fill the corresponding cifcle A,B,C or D given in front of each question with Marker

or pen ink on the answer shest provided.

1.1. Who presented the laws of electro megnetic induction and efectroiysis? ?‘_EP_'_'JEE_U/WC'I}Z.L,F" ﬁ;}?lniﬂ‘:l.@-""s}?l A
(A) Ohm /i (B) Newton /% (€) Coulumb 4 (D) Faraday < iz
etism? ?fo:JL%JL‘f'J:;JﬂLr;‘??}gl 2
C) C.D's xy (D) Mobile phone iflr
4 _.F_Jx;rﬁgf:‘*-‘?#:{;,r!d..'!:-t i

(C) 4 @Q D) 2

2. Which device is prepared by the principle of electroma
(A) TV s (B) Electric motor A A2

3. Number of input terminals in NOT gate is:

(A) 3 (B) 1

4. 1024 kilobyte is equal to: %O -rlrsieaf\ £ 1024 4
(A) 1-MB (B) 1-GB () S (D) 1-PB '

5. When C.D is made of soft elastic material then it is ¢ '$ _?wa?ﬁﬁd‘dﬁhﬁ-wﬁﬁﬁfi 5
(A) Hard Disc L34  (B) Floppy Disc i _I Compound Discl-32iLl (D) Metallic Disc L {0t

6 Half life of lodine [ is: : e S I]uu:i 8
(A) ¢+ 10.5 Days (B) vo ays (C) ¢+ 12.5 Days (D) ¢» 16.9 Days

7 I the length of a pendulum on earth is one meter, thep its time period will be: -¥xi ,(,;r? ; FJG::;"-’..?JJ,JJH:}.;».._CT,;L-)!JJG b §
(A) 2Sec (B) 10Sec (C) 6Sec (D) 1Sec

8. Sound level of rustling of leaves is: el fun 8
(A) 20d8 (B) 10dB (C) 30dB (D) 60dB

9. At 25°C speed of sound in wood: ‘.I_-{d’g‘isl'..,ﬁd:ﬁ,ﬂﬁ"c 9
(A) 2500mSec (B) 2000mSec” (C) 3000mSec’ (D) 4000mSec™

10. Relractive index of ethyl alcohol is: =1 Fﬁﬂfr{ﬁxfw)ﬁ‘_}’w 10
(A) 1.46 (B) 1.45 (C) 1.40 (D) 136

11. Which thing is used as a dielectric in mica cagacitor? te_ A1 2 KD Db 2450 11
(A) Mica J! (B) Plastic i () Almunium @ (D) Paper s

12. Specific resistance of copper is: -QLJ:‘-'U“#TJ;..E;&!’ .12
(A) 1.99 (B) 1.89 (C) 1.50 (D) 1.20
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Notei~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
B=14A=1|B=0LA=0|B=1sA=1|B=0sA=0 ol Con TR

| Anyofits | Anyofits | Bothofits | Bothofits ' ;'J" 0'sqeiTfadiz |

| inputsis'l’ | inputsis'0’ | inputsare‘l’ | inputsare‘0’ | The output of a NAND gate is 0" when

S e/ ¢332 o ? el Ly rof| ,

. Calculating Gathering | Manipulating | Arranging | Which of the following is not processing?

| 1 JI.0![.4'-;fuju_;_u:.,h_’i...iffﬂ._ﬂ;;.r;rfhff?-_ﬁ B |
/16 Yg | deati | Srendr | N ; .
Sli.’:r;:; " One-cighth One-quarter |  One-half The half-life of 2 centain isotope ?J solemd' .r:‘rfT
is | day. What is the quantity of the isotope after 2 days? |
Ay s k) . il pnee? sofdpae Lz | 4

Speed Which of the following characteristics ?ngﬂ;

Wavelength | Amplitude Frequency
of a wave is independent oftht;ﬁhicrs?
S

V2 T

2T

L ]
-

~

.E-

‘,b

)

T

-

If the length of S
period willbes
N

SE

J%ﬁ’!)‘fuﬂjb’c-w{ﬂ?rkdﬁ‘}}_ 6
85-90dB | 84-90dB | 83-90dB | 82-90dB %elofmmmmmmdin i

,f,:‘\@ ost countrics over an eight hour work day is usually

(ﬁg%) ety S ATl KABISE | 4
quency

The loudness of a Sound is most closely related to its.

Lo et G S FAST |

Inverted and | Which type of image is formed by a convex lens on a

s & I
Amplitude | Wavelength

Jgoile | Lo s
Uprightand | Uprightand

virtual real real Screen?
fo=XF & -f.Jni';:J'iJuﬁJTL;.rF:flﬂg 9
f=025¢m| f,=05cm | f,=1cm
fo =fewem | Incompound microscope, eyepiece has focal length
Ll ol | Lulnibop | fendl | fernd 2y WS 10
Z = wkiL | Sy l-'-f'uF Véﬂ‘f A 'J-'J‘L"’ Electric field lines h i -
S us? WArS S Never cross Always ; ;ﬂ, Mg i
Crosseach | Crosseach | eachother | crosseach e ST
otherinthe | otherinthe other * '
region o region o

wc%k field | strong ficld

,Q.nyft,}d'ugtffd_{!.{;;g;,wr{.1zv |
60 W 30W 14.5W 48 W What i the power rating off #/az” /2.5 A e LU
' a lamp connected to a 12 V Source when it carrics 2.5 A?

J-")' Jmﬂ‘bkf JHH’ J&J: JIJ’JJ/LIJ%G-LF;IJJH(JFHIJJP-@E‘fl A2

Willbezero | Remeinthe | pecreases | Increases : JALE Yl S T plend

Same If the current in a wire which is placed perpendicular
to a magnetic field increases the force on the wire.

S =M 1029 1024 - 50000 (4)
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(D) (C) (B) (A) QUESTIONS Q-1
- . 3 v 3bo
Ji f’f"‘ Ce S LU;FLW"JH./(L/PW;; - .Pl'uu:/.;ﬂ-’l/gtjff &
Mass Momentum Charge Energy In an ideal transformer P,y = P, this iqu..JfIb'
according to Law of conservation of
baf | bhsndt | cdp Bl | cnba el ¥lozr S8 L | o
& - | Magnetic Small mass | The presence of a magnetic field can be detected bya
Stauur}a:y Statl?gary compass
negative Positive
Charge Charge
X=A+B| X=AB |X=AFB | X=48 | ,- il 1§ dOR | 3
The Boolean expressio j OB, pate is
W s A | ES PR R hT e i | 4
Computer Book Teacher Internet From which {ollowing we can get information
almost abfii ing
< '\J‘. ! L] -
I-131 Co-60 P-32 C-14 g L pasnis Ylr Sz R T g4 | 5
. . N isotopes used to diagnose the brain tumer
cFeskn | e oot | el i | ¢y %> e ten LS eoml it | 6
Increase by | Increaseby | Decrease by @ A radioactive nuclied decay by emitting a beta
2 1 1 Unclie particle. The atomic number of the nuclied
- - - V . ' -
Bestls | iy | ednf \S}\A by | et/ TSI T L | 4
Become " Remain Dec Increases : A8 §ud £
In mass spring: lfm. when mass m moves towards
double Shme mean position. The magnitudi oirg&tg:ring force
i P ~A s " 2 74 *
J7 & Ny Jid chselfen |
Thermal Mechanical Electrical Chemical | Which form of energy is sound?  °
Ay o Y. Ly, eind e LSS0 Lie§ipShtdip | 9
. o In refraction , The speed of water wave changes -0
Amplitude Direction Frequency | Wavelength due to change in
u.lL".ut':lyl«f.EmJlﬁd}‘ulﬁZJk&I{uJbﬁbﬂgl Cl .10
1x10°N | 1x107°N | 9x10°N | 9x10°°N _ J"‘-""”"‘«‘J’(
The coulombss force between two point charges each
of magnitude 1 C separated by a distance of 3 m is
SEEAU PE b AL sregirlrav ]| |
60 W 0W 14.5W 48 W , 25 A e 2
What is the Power rating of a lamp connected to a 12
volt source when it carries 2.5 A current
dy/ L K 3y ¢0vore s LS ISP | 13
. . The resistance of a conductor increases with the
Length Area Diameter Radius

increase of its

o0

1031- 1024 -32000 (4)
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(D)

(C)

(B)

(A)

QUESTIONS

Q-1

N, =10N,

=101

il UQ{JJQ:/L;I:/JI"JI;/G

The tum Ratio of a transformer is 10. [t means

A

30 yecar

12.3 year

PR 1 B

1856

(¥

All of these

u?' Eg )

Wave motion

ﬂ"‘“.

Half life of Hydrogen is
“JJL;JJNH}*LJQJ/‘(J

When da%gn Huygens invent the Pendulum Clock.

: .gLrnJF:léﬁ_ﬁfﬁﬂq) e Ltz i

transfer?

k =—Fx

x=-Fx

. - I I S

The fon’p@

ook s Law is

30Hz-30kHz

25 Hz-25 kHz

20Hz-20kHz

S \
%Q,»Ju‘«-f/&wuwsgd,fru_{u
a normal person audible frequency range for
und wave lies between .

w rn'3

Wm

AN

The unit of intensity of Sound is (¢ (5= 1 k5L

+ 20 cm

+ 15¢cm

'.1‘1}£30 cmJ/p-e-20 cmgfn(;/.ﬁuf..fl
Al dobk 7 o be B 1Sk

A converging mirror with a radius of 20 cm creates a real
image 30 cm from the mirror. What is the object distance.

f=R/

2R

il

e e nie n LR oS ST R L) 52 F
The correct relation between focal length (f)
Radius of curvature (R) is

10V

5V

0.5V

2V

d:’éLJLDLJJ/:Jc..;JUerb& 10C -f'l
An i ;uyuéutwumup-?r/:f S

Five Joules of work is needed to shift 10 C of charge
from one place to another place. The potential
difference between places is

10

60 W

30w

14.5W

48W

L3S S AL L s2e gy 12V
A2t 2.5 A LU
What is the power rating of a lamp connected to
a 12 V Source when it carries 2.5 A?

B E

OR

AND

NOR

NAND

::D—: e bta e 0 e o S

12

A
The logical operation performed by this gate is ':D—x

Lol 10331023 - 55000 (4)




—————_ oY Y ..ggﬁ‘:/dgﬁ}dj&l.;.l?usL}:..:.;Jlru’libﬁ;l) (f;:u.‘..'.-’l.?.) 1023

YT st 2019-21102021-23 0% (el
SGD-2-27PAPERCODE 3474  124F  worsis, &) U7

LI A B SN0 3 b Lrerne Ju:ﬁf:ifq,.:'d.bédlr ﬁ44r¢g.¢,u£;.:n;_-rc:w...-.y:ﬁ ALl piad
.{L—}IJJ.WLJ !- L/ [O)

PAPER CODES# ¢ 24 My N\ MU £ QW2 K0 s 2 3 oo S S, 1S ME S 1 st s
-{_bf" di""'fﬂ.:i *i‘LJJ!fJ.ﬁ-J .rr{H' At e l;rl.’ s J (,u‘ «f S

7/ 1035-1023-35000 (2)

(D) (C) (B) (A) QUESTIONS Q-1
G| s st Fr e 24|
Control unit CPU Memory Monitor | The brain of any Computer system is
L | bulayds Lo 5374 B T e Lipsasensy | 2
Insolids | Inbothaandb | [n liquid Ingases | Longitudnal waves move faster in
4 180° 445° fisf $a5 gt H T Sl S 20 395 e, 20 3
at 180° at 45° Perpendicular | Horizonta] | OSCil2tion of e.lectric an-d_nmgnctic field in
electromagnetic waves is at an angle of
Fl2iir | b sta ek | b -rrlJ‘ b o'-J'/ i 3& 4
S Both from a : .
None of the Ultrasonics | Infra Sonics | The depth of water can be meas
above mdd . O
(20 £9.9 (8.2 (4.1 d/m./; %QF[.{M;.;/;({ L s
20cm 9.9 cm 8.2cm 41cm | Theobject - iy r-¢-Bi il 58
is 14 ve mirror. The image is 5.8 em behind
the mieroc What is the focal length of the mirror?
Fedder | Setdde | fuf ey Lok L 2 e LS | 6
Can'tbe Remains | Decreases | Incre > According to coulomb's law what <y 31«7
determined | Unchanged happens to the attraction of two oppositely charged
) objects as their distance of separation increases.
) 15 .‘J.u?@x &J530.5 nf ..'.-u‘dl-q_t‘;tf r(dﬁizlf-(i_/ ‘P Il b/l;-JJ( 10] .7
10V 5V 2V 0.5V Five (5) joules of work ¥/ 335y s s
needed to shift 10 C of charge from one place to
wnﬂm.mmtenﬁaldmmnmbemnﬂwpfaoesis
36V 18V 9V 2V ). #ﬁAa;ﬂJLﬁl’xJ)iﬁ{b‘fJ ML ufa6 | 8
What is the voltage across 6Q resistor when 3A
of current passes through it?
VIEE | o O | Al < FevectilizrdW gl | o
e =Lk —ve c.l-,.rt:-l-ve Small
Magnetic Stationary Stationary charge The presence of magnetic field can be detected bya
compass —vecharge | +ve charge
, _Lga‘:yd_-.t:k’d"’i_',g,:r.mf/g Lz | 10
e il = il From which of the following we get informations about
Internet Computer Teacher Book everything.
B | iy 30 TS e FERILERE 1 | 11
Large data | Processeddata | Ray data Anydata | In Computer technology Information means.
i 5 v 2 - :D,_.n ik T e suletin | 12
OR NAND NOR AND The logical opetation performed by this gate is ::D“'
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(D) (C) (B) (A) QUESTIONS Q-1
ity |l EJ/.JT;-E’ ,.g:f..ifﬁ" J{-‘frdué._c.;f-.i;l:;.;_&:f_i?}‘:‘-ﬁ;/ﬁﬁ?e,fl ;
Atthe focal e sl iy N 4 A e _.'; .-f_b(d"t}{

Betwoen the Outbeyond | An object is placed at the centre of curvature of a
pDin'l centre of At the centre ) %3 s o . .
Girvaivie sad the centre of | concave mirror. The image produced by the mirror is
the focal point | ©feurvature | cyrvamre | located. -l £
E 1 3 - IR | E
4 5 2 3 Combing ' : jm .r.?.‘f}ff-‘{ 2
y Yot 3 IR -
ey N % e sze B by o .
fﬁLf.F:‘fU"" z ;KL%)JF&-{_EQ
12Q 80 40 2Q) The combined registance of two identical resistors
conn inseriesis 8 L1, Their combined
resistanc llel arrangement will be
b IY-1 34 73 jr"""l't;“..’? ,:*"frf: i (:‘ @ Y. P LU/ Il r.'..t‘ JJ:;{(; i.’.'rb-j At | 4
Electrons Protons Negative ions Ponilivg@> he particles emitted from a hot cathode surface are
F— i Yo g
Joule m Hz A (%%) The S.I unitof amplitude is ~<2/¢ S.1 ISP 5
i ;. & ¥ [ & - . X - Y
b | aelagen | e o NPl = - IFICT | 4
LAl e G g
Indian | Information Intenational | 1CT Stands for
Computer | and Computer | Communication Computer
Technology | Technology Technology | Technology
. -L,E'H:.-.!T/.lf.-‘ﬂg!( 1024 .
My 1aB i i¥e 1024 Kilobytes are equal to L
; TR 2357) -
Jeraxio" | Jeraxi0” | Jeraxio’ | Jeraxio ~&N IS 2UFd| 3
I n 4 L]
] o I [ s -1 o "
UC}J!F‘L-L;LH UruBalA 4&:5: E:;L::e ~+L}Kr:'?KE bch-fJ{Jlu 9
None ofthese | Both A and B position position Kinetic energy of mass spring system is maximum at
gAY Fritd | Frosss | Frdeads e JeSinSbaupf | 1o
Linear Damped Vibratory | Simple harmonic ;
__maotion motion motion motion The example of shock absorber of the vehicles are.
Sppap | 2 | Shk | etlin S L BT Ll ki |
- ] - .
=lra =iafigs e fils By chanei J
By infrared By By vibration | ©Y “"*"8E | How does sound travel from its source to your ear.
electromagnetic in wires or air pressure
waves Wave strings
u:r"-i.-r'-—-".:"{ JEH"J’;&-"L’! "—u"”(f( chj:"-'l"-” _9379#!;/3@5:”(9@;’92;;}}1;]’} 12
Denser Gl dh iy Rare ; : 4 wiaie
1 Mediumwith | ¢ 0 iher o Total internal reflection entire light is reflected back
Medium smaller it
refractive index medium !
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(D) (C) (B) (A) QUESTIONS Q-1
igs sl ::.;J—rl idsdhs J{JJ L:’F .:u -q_.dﬂ'J} :(ﬁ-‘:( 5 |
Sound waves X-rays Radio waves | Light waves | Example of mechanical waves is
Jsﬁﬂ el il JJ if £ +l3“f(£-§'hf VLI an e ol P e a0 2
5, Mo Intensity Quality Pitch The characteristics of sound by which loud and faint
sounds can be distinguished is
R R .q..aﬁ}ffjs;{.ﬁ.},«/ 3
f= 5 f== f=R f=2R
2 2 For mimors foc 15
- " -
107%c 10°c 10°c 10°’c s @\0 ¢ EnLlp AL | 4
9@&2}: coulomb charge is equal to
R =/ e u
K\ KK H s A Q& bl L PSS | s
[
Thermometer | Galvanometer | Voltmeter Oh The instrument which is used to measure the current is
i d}{ﬁ‘g :é":( _g_JfL,L.ffd)lg‘./‘?l}rJdi 6
Allofthese | Potential echenical | 1 ¢ motor changes electrical energy in to
energy energy ~
B=0siA=1 B=1xslA=0 B=1l.slA=1 r_ " /ﬁJﬂf:l.ng;HX:h.Bﬁ 7
AisV'andBis'0 | Ais0andBis’) | AorBis'0’ | AandBare‘t’ Ifx:A-Tﬁﬁ%Xis'l'whcn
KU | Eh | R | KR | ‘eSS | 8
Bxtemal | pxramail | Electronic | Emergency | what does the tefth e-mail stands for?
mail mail mail e
Andt | 45850, ALy | 86 | bR B A LG L RIST | 9
Atomicmass | Number of Atomic Numberof | 15t0pes are atoms of the same element with different
number proton number electrons
1 = JLJL'J&'JJZ. ;"sf-fuﬂd’:.:;}' g ﬂJng..._fl 10
- A vA=f fA=v vi= A
The relation between v, fand A of a wave is
pran Spstks Sty Spak < SedindiEfy [ n
Water waves | Radiowaves | Lightwaves | Sound waves | Which is the example of a Longitudinal Waves.
.:-;-:.:-.ﬂl,,i'J th'f 2 .uld' ..rf.;f.ﬁﬂ s A_r"rJ ) ",;)f J'HL;J Igﬁ J -q.'..(]ﬂus:_g: élﬂ‘ Un l/'-'-, A2
i3 Shmet d»{ Real,inverted | Image formed by a camera is
Real, inverted Virtual, Virtual, and
. upright and upright and -
and magnified maenified dimi diminshed
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Pransmulation | Rodivactivity fuslon fisinn o hu-li,;'.: resultols

Interncet Compuler Teucher lBock

.36 1.33 1.00 1.31 Refractive index of ice is. -;_Jgklﬁgﬁ.rf._b; 10
enfT | FHY | <denf | <leox b £/ Sy A sl |

- il o What would happen to the loudness of sound
None of U7 | Remainsfe | Decreases Increases w':l:ait nd HEI:-,C HERD
them unchanped ith mcrease 1ls frequency.

et S E e Sz e e B U D | 12

1.6%10°Y95 | 26x 1071 | 3.6%x 101 | 67x 10 | Elecronvoltisalsoaunitof cnegry - brsoe br

used i atonie aod Nuelear Physies which is cqual to,

10771 —1021 ALP - 65000 (1)




_-..--.,-".--.--.----:_,’T‘Q:;

S ——

3900 L%/

ek, J Bﬁ/d,;u,,bb gtk (Fozsiz) 1021

_______ Ul 4 5 s ) 2017~19t62019-21 %
PAPER CODE 3478 1240 2] 5:bs

11 n-...-r)!:*Ls.-‘J-“
R s,

e 155 A St S Ao 3 Gl Lo i e L g QW R s L e sDmCib A2 E e Lt g )
feiubs LNE S s PAPER CODEJ:.J".;.:- et g L&E’Jlf..‘o mr"bli._diuf.u,}:-_-u‘gff_f/f E‘L_f/s UsFnls
...‘a.;,.r"dl“"rhh. .A_-"’l_-u:f.r..fl..l,;ﬁ.-,H‘ .._JI}JJU..;-J L}u'._.-u"d'u ;_,.r/
Note:= You have four choices for cach objective lype question as A, B, C and D. The choice, which you think, is correct: fill that eircle in

front of that question number. Use marker or pen to fill the cireles. Cutting or filling two or more crrcles will result in zero mark in that

question, Wrile PAPER CODE, which i printed on this guestion paper, on the both sides ol the Anower Sheet and G4 bulibiles secordigly,
otherwise the student will be responsible fur the sitaation. Use of ink remover or white correcting luid is not allowed
B < TN N S OO |- S Y. .| N QUESTIONS Q-1 |
. . B . i = .
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Absorb Jr-' “":IEM,C d:n Absorb J"' Release J-"'" When o heavy nueleus splits into twao liphter neelei,
chenieal EHEMeS nuclewr enerpy | noclear enerpy | (e process would
encrey energy B i) R
A & " ' )
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amplitude frequency E (o)
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(D) (C) (B) (A) QUESTIONS Q-1_
Sy g s Plcint | . tWuntsnPe Ce/S ALK ) 1
Boiling Evaporation Conduction Thermionic | The process by which electrons are emitted |
emission by a hot metal surface is known as !
L A PPy, Linls KIS G s | 2 |
Any data Raw data |Processed data; Largedata |In compute;,lef%mformancn means ]
’.:’__,55. SR Ly | ad& LT LA LL *‘.;, ek LSS ] 3
INuclear fission | Nuclear & .; |Burningof < |Chemical & /i f energy by the Sun is due to
Fusion gases reactic Cy
T 32 gt & e eed S mant e 2| 4
Wavelength Amplitude F,equews eed Which of the following characteristics of a
~ N wave is independent of the others.
S J# @@ S ‘e SGns| 5
Chemical Thermal anical Electricai | Which form of energy is sound?
(il | el B | gl | (ST te tn g SAAKSEL ST AN 6
The object The image The spead of The focal The index of refraction depends on
distance distance light length
1.33 2.42 2.21 1.66 e SRR T
Refractive index of Cubic Zirconia is
v ov | 2 5 AR
Q v Capacitance is defined as
LA i s #E P T f5as A I
Farad Ohm Volt Ampere The unit of resistance is
V= IR V =mR o o - P dulel (] 10
! Mathematical form of Ohm’s law is
y, = ¥y N, =10N, N, _ Ny I =101, i 10as Sk L o Sl 11
10 10 The tumn ratios of a transformer is 10. It means
r-.’i"=ﬂ X=A+8B X=A-B X=A+B |Equation of AND operation is.-_-_..:,hbv'd’o‘*"’{fi':’ 12
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(D) (C) (B) (A) QUESTIONS Q-1
o S N 1y e butaddis |
Monitor Memory Control Unit CPU The brain of any computer is
T L/ ies I e Sy Lol | 2
Calculating Gathering Arranging Manipulating | Which of the following is not processing
/.‘:..ft!' /:E._IL R s {5 20 < rx_ﬁ?i;ﬂugln;ﬁ:u;:&M&..}_’lgifﬁi’ 3
Atomic Mass number | Number of Number of |Isotopes are the\atoms of same eiement with
number neutrons electrons  |different (O
F - g a
o = o . = e -.-g.:.!":'r { Q&.:;’Ub;mu'lu-:f‘:uclr‘-—’n.&;fg'l 4
2 iy 0988 spring system,  .< Jbw=d S8
e _,‘@‘ Wwheh mass m reaches at mean position, the
i <~ fgnitude of restoring force become.
P ALt L JisT S ; " e wydidwm?| 5
Wavelength of | Intensity of Speed of ncy of [\wWm? is the SI unit of
40
sound sound sound o I\ ¥ sound
=Y prE, e £ .
T fj f—-ji =R -< fé‘a‘ul;}kd&,&i.-"-jrgﬁ-éxﬂlﬂurz’ 6
T4 3 2 B The correct relation between the focal length
and radius of curvature is
i . e £ - s ey o = P
i 9 L6 G P ok =l s nlgL ;,{;,-Jg;J.ﬁurm,zg:J‘:,&, 7
; In refraction, which of the quanlity change
i f I : ; :
Amplitude | Colour of light | Frequency Wavelength with the change in the spead of light.
Volit 2t Ohm A | Ampere 4% | Farad 2 |JC"is equalto < s124C"| @8
:-'{ I,{':‘JE, _;:_._.,._f_: b - Jr.’.-_)l.':'*{ 2L .W!ﬁé.é...{‘.r'uu:ﬁu: g
Copper Aluminium Tungsten Silver Which metal is used as the filament of an
electric bulb?
:f)-.""-')h:. u"‘:;?ﬁ.,r 410 ;d-’:':‘ l.,."‘,-.!-f!!.i 1{],_{}/': 10
[ ¥ =
e w2 .;.;f.;. ¥ L,.-""'r..fz Yi e
OmA 10mA TmA D '
1O mA o If a battery of 10 volt is connected across a
resistance of 10 ohm. The current flowing
through that resistance is
Pe o A S e QL pfs Ll FuF g6 2| 11
Momentim Charge Energy mass Lenz's Law is in accordance to the law of
conservation of
— e el (OR).T] 12
x= AB x=A + B x = AB x=A+B o iheER s Knke
The boolean expression for OR gate is
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(D) (C) (B) (A) QUESTIONS Q-1
ig 7] 4 Lt{' L’JIE/’ e -Jﬂ uﬁ"/{ a?r"dﬂ:Mr"U)fJgjc. L g}_ievﬂ 1
o peed Which of the following characteristics of a
Wavelength Amplitude Frequency S wave is independent of the others.
.J:f 25\ (yl.r( (3'.] U';{) ijlrng;guldij:d‘-{’{q{ﬁ Jf.f,u:.'-c"b ] Jjﬁr 2
Sound level Quality Intensity Frequency |The characteristic of sound < d!k(..u:; A 51 -
by which we can distinguish between two
sounds of same ess and pitch is called.
3 2 1 0 -4@ @ﬁu Ll p 2y 20| 3
Number of \enses used in a slide projector is
300000 30000 3000 300 L o
we can see the stars in the sky
Arl Y@ithout telescope.
@\5\7 J,zél',.;'...f.i.l.ri..gd,m;.g.gf&;?ém C..{' 5
10V S5V 2V @ -b’uL/):J"ruyué..wu;‘uul-a t‘zth:-
BO Kof work is needed to shift 10 C of
BL one place to another. The
potential difference between the places is
o ol W Jz -& 71 (Sl) d o b’.ﬁ}i J"‘g 6
Volt Ohm Coulomb Joule Sl unit for potential difference is
el | Ity | cdenf | «Oesx e Lbrlr| T
Vanishes No change Decreases Increases |If we increase the area of wire. Then its resistance.
A Fr 2 £t L lSa L Fe,iszonkirsss| 8
Slip rings Brushes The Armature | Partofa D.C = /Ul
Commutator motor that reverses the direction of current
through the coil after every half cycle is
k) N o By | e tunesnPe LSS LS | 0
Thermionic i ' ! The process by which electrons are emitted
Emission Conduction Evaporation Boling by a hot metal surface is known as
a2 37 e #6 e by ood, Mg A F b7 | 10
The screen of a cathode ray tube consists of
Glass Cathode Tungston Phosphor a thin layer of
iy s st A < Lo ad S| 1
Control unit CPU Memory Moniter The brain of any computer system is
At | A | Akl G| ALk | g dW A e a GEIL B Awa] 12
Beta Alpha Background Cosmic Radiations present in atmosphere due to
Radiations Radiations Radiations Radiations |different radioactive substances are called
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(D) (C) (B) (A) QUESTIONS 0.1.
LSS | Lo | a0 & LT | sl i e ek s S S tur| 1
Chemical 2 .; 2j Buming Nuclear [Release of energy by the sun is due to

reaction Nuclear fusion of gases fission
i o Wl | B | g it 2
M?S:?:i:al Particle waves EW St:taigzgry Radio waves are
is 2 igsgds e ksl eI Ep | 3
Water waves | Radio waves | Light waves | Sound waves |Which '/SF\@ @rmple of longitudinal waves
3.5x10% ms™ 2x10% ms™! 23108 s} 3x10° ms~! :@&7 e S Gt S &
/;i of light in glass is approximately
1.31 1.32 1.33 I :':- exoficeis. -« ijr ﬁf}; KJz| 5 |
9x10°* Nnfc? | 9x107 Nnfc? | 9x10°® Nnfe ™ > elfkaoRlod| 6
~\ < value of K in Coulomb's law is |
el 32 RS T s I
Ampere Farad N hm Volt The unit of resistance is
I Ns 1Js™ T 1Js72 One watt is equal to e ses L] 8 I
Pp # P, P > Py Py <P, Py =P, &L iAo
For an ideal transformer
H9) A e Yo . -A O 10
Inverter Transistor Amplifier Conductor |NOT gate is also czlled J
e Jix of i - tefy¥3/LCRO | 11
Zero Neutral Negative Positive In CRO, the Potential of grid is |
o 1 7 b -q.zl.cﬁ-‘e:&(.'fl....ﬁ 12
10 8 6 4 One byte is equal to bits
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(D) (C) (B) (A) QUESTIONS Q-1
Ju30 Years | JL-20Years | Ju-50 Years | Ji-40 Years |The Half life of cobalt is — i -l J.'..JLI 1
Lo S 200 2ih < bued s | 2
Monitor Memory CPU Contralunit | The brain of any computer system is
Ui C ol A J«Ff,_. T_f’ll g,-,'ff{ Tl £t c;-'{lr_f-‘__ 2 = Lbk-;i'd-'i;ér;r! 3
Both A and C Logical Non arithmetic | Arithmetic | The Basic operations performed by a
~ Operation operation Operatjos | computer are
1 2 enZui| i 4 @Q | 4
,\T@ﬁﬁh waves are
o btk :
350 ms”’ 340 ms™ 330 ms™ 320 m '@23 - *fJ"""{J-’:'/i‘I’” S
{,{r;@ The Speed of Sound at Room temperature is
i Py :
e SR 2K
1.33 2.45 1.31 Oi; 152 IR 6
@@ The refractive Index of ice is
e T F 11 M erdur | dntsipsele Ldibsoml FASE| 7
N Which one of the following quantity is not
Its wavelength | Iis frequency s Speed Its Direction change during Refraction of light.
el KRLuFL A | 8
9%x10™'Nm?C?| 9x10°Nm*C? | 9x10''"Nm*C? | 9x10°Nm*C™? ¢ edd KLl .
The value of 'K' In Coulomb's Law is
U BuslA o ..i:‘g}j}.’ d’ul' i L{:bﬁ'.ﬁn ot L{J'ﬁdﬁ;—g e.m.ful LP'L";’ J/’Ejl 9
Both A and B | have different | Two different are same | .. p tential and emf
units guantities quantities MCATYE PO VIO BN O,
. % it - 8 ¥ ulipnstind cive 3ty | 10
VA e LJﬁ;.:g)J,g..;. (ol
The combined Resistance of two Identical Resistors
connected In series. In series 8 ohm their combined
Resistance In a parallel arrangement will be
¥ BF | et B jetpzidl| entiA e el s, ¢ fozr S8 E2| 11
Magnetic Stationary Stationary ;
cori o negative Positive Small mass | The presence of magnetic field can be
Pags charge charge detected by a
Dy Fig A1k F ki pLiWunthe e Sz Baci| 12
Electrons Protons Negative ions The particles emitted from a hot cathode surface are

Positive ions
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question nurnber in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more ci

s A h...C«m\.\ \E.\..m_.;M_Thr\_Nr.r\thurn C.C\._..NHN-LN,_\.NQ_\ h\n&e_htrmwmﬂbu »1C,B, A rﬁ_._mbmgwht_..\ £ =L

Kot 4o 201 i e §i S \u\\ O P
B, C and D. The choice which you think is corre

I .m..ﬂ Ut nlie LI
ct, fill that circle in front of that
rcles will result no mark.

SECTION-A (i.» SWL—l=2J¥
Q.1 Questions /41> A B c D
" . :..P.n“f.—..&nn_m\rﬁ.h\g il (@.ﬂ. <llesiy Q\ ( nlﬂ.\uwm.um.ﬁ\\ (> = _.E e/ whlh.....ﬂ.
. : . Stationa Stationa Small Magnetic
The presence of magnetic field can be detected by a: . positive %m«ma negative nzwﬁm mass ocam_ummm
2. [The formula of electric intensity is: - < IR 1 28 E=V/q E=k/q E=F/q E=W/V
P Iy 1 5, Ak BKQLS|
3. I two resistors of 6kQ and 4kQ are connected in seri&e n 2KkQ 10 kQ 24 kQ 12kQ
equivalent resistance is: : 728
4. |Specific resistance of copper is: - B0 1.69x1080m | 1.70x1080m 2.75x1080m | 5.25x108Qm
5. [The unit of intensity of sound is: ..T,.\.u&.\.n..ﬁ M.\umubo Wm Wm-t Wm2 Wim
6. _|Refractive index of ice is: ¢ nsl (S 1.66 1.36 1.33 1.31
e w5 S s G Ly pﬂv
2, _mo_. a :ﬂsm_ person, audible frequency range for sound wave | 20 @vxzn 30Hz-30kHz | 25Hz-20kHz | 10Hz-10kHz
ies between: .
Webnhn ¥ rébiut iz, Ll KOS s | oy ¥y 0000 | €onfilis ¥z onfell
8. |If the mass of the bob of a pendulum is increased by a factor |Be increased emain the same | B€ decreased |Be decreased by
of 3, the period of pendulum’s motion will: factor 2 Vw by a factor 2 factor 4
AL s TR STV N (T Y I ¢ kG HEL | Eneso G| St g nfl
9. |When a hea nucleus is split into two lighter nuclei , the Absorb nuclear Release nuclear | Absorb chemical | Release chemical
process would: . energy enengy energy energy
10 -V (2 Po) ¥y 30 150 138 190
' |Half life of polonium (.’ Po)is: 30 days 150 days 138 days 190 days
11 1{“..%%‘“_. 1"Jdx 7 X=A.B \nﬂ B=1 . A=1 B=0 . A=0 B=1 . A=0 B=0 s A=1
"|If X=A.B then X is “1” when: A=1landB=1 A=0and B=0 A=0 andB=1 A=1and B=0
12. |How many parts does the CBIS consist of ? | ¢ . 4 \....‘_N_anum 2 3 4 5

)

115-224-1A-34000 * *
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SSC (10")1* Annual 2024 Lk
Marks:12  Time:15 Minutes  Paper -I1 Objective (iv) FCﬂd 7|4 ?m )&~ 1l o4 u15:20, 12;/[1/:::,-:[ &

Note:—You have four choices for each objective type question as A,

-&Jﬁ;gﬁ&ﬁiﬁﬁb&lﬁf £|.'-r'.£|:—f’.ih=_Ju;;hé-.’d:he_lfidff};.{.(é{d‘qué D »I C,B,A .:fl.f_t"jﬁgé Jr s -
..r.!!..'.v;hu‘ff:?ufju:éjfl}/é_féféﬂ_i./{fu:/’buyﬁ.ug

question number in your answer book. Use marker or pen to

B, C and D. The choice which you think is correct, fill that circle in front of
fill the circles. Cutting or filling up two or more circles will result no mark.

- ; SECTION-A UJir SUIL~2 -2V
Q1 { Questions /= 1> A B C T D
J 1 - e Sty B85 Xy 12T :JJJg
l— | Which is an example of longitudinal wave? Light wave Radio wave Sound wave | Water w;
! itk i L-..ﬁ'.r P Ls ;’-?JLGJ .
| ki BXGEER 218 s | ;1 r :’E{J% e’ a3
l The most penetrating radiations are: p?rzc::es Beta particles Gamma rays Light ray
1 = i
| 3. ‘e S Ky | Kt K6 K125 JJ
| What does the term E-mail stand for? Emergency mail (ﬁlectrunr‘c mail Extra mail External ry
I i - F . » T 2 e D .
4. -f._r?ﬁd*ﬂfurl B & {decay) £ ‘_J EGH"‘E"'&L';UE_"JEH s Q\@ =Fealn ‘.—Wﬁf&: LAY
During the process of decay of Alpha Particle, Beta Particle Increa T 2 Be "
| and Gamma Ray, the change in mass number will: € 0 reaseby2 | Decrease by 4 e no char
f bbbl N $ 2 S wis e i nd s nf 225 _GL Y Py
' ; VA ey Snd by S pe
S widdnd o | : Remains the |
If the current in a wire which is placed perpendi ' Increases Decreases same Will be ze
___| to a magnetic field increases, the force on th
p E‘?_l'.rrl.'qb’pﬁ-'u/* PN F:‘é, <K e ut.ﬁ
| Which metal is used as the filament of ric bulb? Aluminium B Copper Silver Tungster
(Continued / PTO) (i3l it
¢ Pl
<)
| Questions /= ti» A B c D
‘ -wpwﬁazﬁngirgf}fj}?Jkd_.l J;'rl';:}i‘-_ ,'P/T '_u‘ J"_!?r.; .'f'rjéjl
’ 7 The particles emitted from a hot cathode surface are: | Positive ions Negative ions Protons Electron
{ byt Sl 2sd Lid b e b fiftalioc
: K j!ﬁéd&f.ﬂi;lﬂouﬁuuf-?
- 8 | 5 Joules of work is needed to shift 10 C of charge 05V 2V SV 0V
| from one place to another. The potential difference
| between both the places is:
| [T St s S Sl R A - 45 o i
£ During reflection of light, the angle of incidence is
N 45°. Its corresponding angle of reflection is: . g
-t : J!J')ILJIF‘LrJ)(—';fK 3A _—J‘;.Lﬂ}’u{: GQJ:I
10.| What is the voltage across a 6£2 resistor when 3A of 2V v 18V 36V
current passes through it?
S E S e eSS R il Ll K ,
11/ The bob of a simple pendulum completes 2 cycles in 0.5 Hz | Hz 2H;z 2.5H;
one second. Its frequency will be:
i3 B ASE Ly s R0 L) iy S b
‘| In vacuum, all electromagnetic waves have same: Frequency ~ Wavelength Amplitude Speed

116-224-1A-25000 * % % *
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Physics SSC (10'*") 1* Annual 2023 o,
Paper : II Group: | Objective ('3 gt N 24
Time : 15 Minutes (iv) L2 15 =
Marks : 12 PaperCode |7 |4 |7|7 | SWL ~)=~213 12: A

s A e S A O Lrerne LW E bz L s 4 W2 BE 2D M CBA eM2 K lgLir s —asd

_r.!f.i:"ahu.,.iﬁufj Ja:f;fé—f.{fu.‘-ﬁd—f{ fu:}m:p;-.{l

Nate: -You have four cholces for each objective type question as A, B, C and D. The cholce which you think is corract, fill that circle in front of that

SECTION-A Ui.»

question number in your answer book. Use marker or pan lo fill the circles. Cutting or filling up two or more circles will result no mark.

Q1 Questions /=i A B c D
:Fﬂ.ﬂ?u”ﬂf f‘.fu_f;].b." C?Jfﬁfr_./n-f! L}fégﬁﬂ_{:} a-fbjr..ﬁ.&j_f:
Electric field lines: Always cross | Nevercross each Cross each Cross each
each other other other in a region | otherin a reglon
of strong field of weak field
2. 4 enl At [ vEd v =2 Fr=v k= f -
The relation betweenv, f and A of a wave is: f
e EaT Ep K ST A
3. | Foranomnal person, aud ,f,",f ﬂfqu:nﬁ’mgi’,g, | 0k to 10KHz| 30Hz t0 30KkHz | 25Hz to 25KHz | 20z to 20k
sound wave lies between; AN
. " k=
4 44.3’1 & 3ol 2l s £) @Lfv\é) i@g: h:'d,"i
The loudness of sound is most closely related to its: Frequency A ~Perod Wavelength Amplitude
JFIE L iy fin ;g,J;é!.JmmJUJTWagﬂuﬂ S %&Q} Lk Nt S L
5. fg-br @
Which of the given devices can be used to produce %g Aripple tank A helical spring A tuning fork
both transverse and longitudinal waves? E@ (Slinky)
8. -.;..,L.*’:rg?f y Y A LAl b M6 (&) MK
The Index of refraction depends upon: Focal length Speed of light | Image distance | Objectdistance
]
2Ry
1. '@k” “| 5%10° years | 6x10" years 7x10% years | 8x10° years
Half-life of Uranium *3 U Is:
8. P PTAY S v dsf:&“j:;:’ S et
Floppy is made of: Metal Glass el None of these
9, The -d%ﬂ“:tu;fhdfﬂ-ilﬂigﬁf;l;:z "EJ:;'J#” .ﬁl’d J:‘: H JInB slA df Gfa.u:;;,ll
s ::I"h':l o ANDGa YRR TR M Onaea HADe Analogue Digital Both Aand B None of these
FiF SN T dnditineBpmreiSPn | Sitrei | Srellsnf | whnedto ok Sredsgf
IS TSNS S S e 48.8° e
10. L] ufn‘izz_&l flected flected
The critical angle for the beam of light passing from water Sietiled Ty Pa;t::l:mﬁﬂw “:‘:ﬁlgﬂd
intoairis 48.8° . This means that all light rays with an transmitted
angle of incldence greater than this angle will be:
ybdl_‘.ﬂ-ﬁ'— 80 f:id#d:}")‘}é-—ﬁil.ﬂk’]
IR S PH
11 | The combined resistance of two Identical resistors, “hd Akt 36 1443
connected in seres is 8(). Their combined
resistance In a parallel arrangement will be:
12. ..;..duhcf b Hr i vy Fh Uin B A
The practical application of mutual induction is: Resistor Transformer Inductor

BothAand B ]

> 3

115-223-1A-41000 * % % *
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Physics SSC (10*") 1** Annual 2023 il b
Paper : Il Group: Il Objective (5’5 Len it H: g4
Time : 15 Minutes (i) O TIPS B
Marks : 12 PaperCode |7 |4 |7] 4 | StAL-2-22 2:

.ﬁ.ﬂﬁ;.gﬁhf&fa}hﬂlv'ﬁvlﬂa-fnc.uﬁu:}uf-’:,.J&L—n‘::dlrﬁ{qr@.ﬂ_wﬁ &D #C,B,A :a}lzﬁzgﬁdlr v »:.;;

K s I st S ST ML S usnie L
Nate: ~You have four cholces for each objective typs question as A, B, C and D, The choice which you think Is correct, fill that circle in front of that
question number In your answer book. Use marker or pen to fill the circles, Cutting or filling up two or more circlas will result no mark,

SECTION-A (ii»

Q1 Questions /=iy A B c D
1. .r;.-.pLs.ikL.-.‘J S (s ) o AT .&j{ ;‘-’TELE :t.k.ét:{ o 5y Xt
An electric current in conductors Is due to the flow of: |  Positive lons Negative lons | Positive charges | Free electrons
?Q-deﬁdﬂ'}:":;fuu;ﬂwE—'dk‘;&é—lﬁhﬂﬂw
2, | Which s the most sultable means of reliable | * sfs.fL LISy kil hend 3
continuous communication between an orbiting |  Micro waves Radlo waves Sound waves Any light wave
satellite and earth?
3. A S T L eh 2 3 4 5
The number of Isotopes of hydrogen is: (A,\
al £y
il | gbbifes S ei q.e@ﬂ bt NS Al | B s el
4. O Ll nk SLLr
Step-up transformer: [ Increases the |Hasmore tumsin | Has less turms In
nputvoltage | the primary coil |the secondary coil
..u!ffr A5 L 39l s ﬂ{rlﬂ"u-'-rés e IE) . i:fuﬁil .-"E:'{.l
5. | Inavacuum, all electromagnetic waves have the Frequency Amplitude Wavelength
same: <d
N ;
6. -4.;,?5;,..-, A 1.52 2.21 2.42
The index of refraction of a diamon
510
1. - UhUtdB AU AL ]ﬁlugidﬂ logidﬂ lﬂiog:,adg logiﬁda
Sound level in dB can be stated as: . I, I, I I
8. e Jediid) gskil 8 & Hadds * 080y
An example of longitudinal waves is: Sound waves Light waves Radio waves Water waves
et ATt F R | S Szl Loy | “Srof s
9. | Which type of an image is formed by a convex lens Inverted and Inverted and Upright and Upright and
on a screen? real virtual real virtual
28\ E L L5 o ne L LT L10C
S SS enl cbbing.c babS g
e Five joules of work Is needed to shift 10 C of charge | ° 95 2y By 2wy
from one place to another, The potential difference
between the place |s:
M unthel G La ki ; . _
11. . iy FTeE T « 1
':h': ;ﬁm emitted from a hot cathode surface Positive ions Negative lons Pctoui i =
12, I W LaHE Dkl | ooy JE T=2x JE T=2x JI T= ZIJ-E-
Formula for the time period of simple pendulum Is: g k g !

/f/ /:;i é/ 116-223-1A-35000  * *
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Roll No.
Physics $.5.C (10™)-A-2022
Paper : I Group : 1 Objective U‘:}"’ lq,:.'af
Time : 15 Minutes (i)
Marks : 12 PaperCode |7 |4 |7 ]| 1

v

44
=y

Im :
2 15

-G/ 122 S

oy S BN IV L e na u;ﬁuit..:ab&)tm-ctﬁ!ﬂqﬁt,m #1C,B,A ﬂtﬁ#ﬁdfg ~tis

Ko W 2ud 3 L2 SLI LS ML Y rlie

Note:-You have four choices for each objective type question as A, B, C and D. The cholce which you think is correct, fill that circle In front of that
question number in your answer book. Use markar or pen to flll the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A Ji.»)
Q1 Questions /= ir A B C D

1. g-babadtidin ol LY i 1.99s 1.89s 1.79s 1.69s
Time period of simple pendulum of 1m length is:

. 3 25°C

2. salhurs 6020ms™ | 6030ms™' | 6040ms™! | 6050ms™!
Speed of sound in Nickel at 25°C is:

AP L LLTIENS ve 7 Ll 4F ol 2F F | sl Fai0 42 OF

3. | To get virtual image from the convex lens the object OnF Between F and OandF| Beyond 2F
is kept A ‘4‘:;

. A
Jiafh.¢ 6uF A120F g-fﬂwé uj dcﬁ:}-:fr:; Woﬁ
P #&#J&q—&'wc—ﬁﬁé 12V <&} :39
6 12 16 18

* Two capacitors of capacitance 12 and 6pF are “F,l@%}‘ o WE o
connected in parallel with a 12V battery.

The equivalent capacitance Is: ,{:\@

" Mniil L piplibze )M alipi 5 éﬂ S P UinBolA
In parallel combination of resistors Voltage Current Resistance Both Aand B
will have same:

S Sl | durlon | Parlih | Far Loy
S E LWL, oivip | O b "‘
6. oA n of the law of Conservation of | Conservationof | Conservation of | Conservation of
. manifestatio ’ mass energy charge momentum

- it g-Oml LGl hlbeicln | 4-0,B=0 | A=LB=1 | 4=0B=1 | A=1B=0
The output of a two-input NOR gate is 1 when:

8 &0 I8 s fi L4 Lis LS AN

" | 1fCD is made of metal then it is called: Hard disc Floppydisc | Compounddisc | Metallic disc
.4.{3;&1#&1'1'&-::[.-&5.{& L

9. | During the buming of 1 ton of coal, amount of | 3.6x10'°J 4.6x10'% 5.6x10'07 6.6x10'0
energy released:

10. el (PSS R - @
Symbol of fixed resistor is:

11. Ry 1t ¥, >N, V>V, Vs>V Vy>N,
In stap up transformer:

12. e L Ju1820years | JL 1920years | JL 1620years | JL 1720 years
Radium-226 has a half-life of:

113-222-A-45000 *




Roll No. (S LsF dogel)
Physics $.8.C (10")-A-2022 U5
Paper : 0 Group : II Objective (f.tf I/.u:.ruf O: g4
Time : 15 Minutes (iv) e
Marks : 12 PaperCode |7 (4|78 | Sew)-G2-23  122: 4

1Y { %f&fu}talfthwnc.ﬁuﬁhﬁit:&bﬁdlrg{t}rﬁfdﬁﬁﬂn #C, B,A-..-.-LILJF#I‘:J:'A -y

Krir? b 2ud 3 b ear SES LS ML Y i

Note: -You have four cholces for each objective type question as A, B, G and D. The choice which you think Is correct, fill that circle in front of that

question number In your answer book. Use marker or pen to fill the circles, Cutting or filling up two or more circies will result no mark.

(SECTION-A ;!H..v}
Q1 Questions /=1is A B c D
LBl llem 2L, fr 2L
v\ P04 5 45.80m & |

1- | An object is 14cm In front of a convex miror, The | 1™ “Beone e .|
Image is 5.8cm behind the mimor. What is the focal |
length of the mimror?

= gipetd| Lol L Ll | At
CD stands for: Computer Disc wmfﬁ Compact Disc None of these

)

% it d L Vg

Radio waves are: Stationary A Particles Mechanical
'
2 tb?,}

4 T e g 1 N 152 2.21 2.42

The index of refraction of diamond is: o
-

5. | The screen of cathode ray tube consists of a m LS Zinc Iron Phosphor Glass
called: 0

6. : ik 15 L i u
Michael Faraday belonged to: British UsA KSA Russia

7. g X=AB X=A+B X=1A X=AB
The equation of NOT operation is:

G nw S e Z XD 107 wr s o Lip /]

8. o/ ¥n | b2 3pdr | Sinsd Setatrn | Sctorwrs
If we double both the cumrent and the voltage in a Remains Become half | Become double Become
circuit while keeping its resistance constant, the power;  unchanged quadruples

e Urda S IIWAS | £nl S |edinl FT7| sheigdl  |a4litetadl
£l Zikd Fl

% The Coulomb's Law is valid for the charges whichare: | M -‘:’:d Hm‘lllkfndm Stationaryand | Stationaryand

pointcharges | pointcharges | pointcharges |large size charges
i A I et TH Lkt L . g g
" | The number of neutrons in Hydrogen isotope >/ is:

1. .q..b-ml.-" 170l mf Hﬂ_‘;jil.- gf" JE) ts EF";;‘J 4 d",{i

The loudness of a sound is most closely related to its: Frequency Period Wavelength Amplitude
.4-0'; sl P £ 3181

12. | mne relation between velocity, frequency and | 1 A=K o V=Y

wavelength of a wave Is:

114-222-A-38000 Fk A%k



('

RollNo. | |

||

£l H ..'d;

Physics S.S.C (Part-1I)-A-2021
Paper :1II Group: I Objective u’:,v
Time : 15 Minutes (IV)

Marks : 12 PaperCode (7 |4 7| 8

SwL-Gar2)

|1 | es2bboned

v

I: 24
L2 15 =Jy
12: A

-ﬁuﬂ;gﬂf;l.ﬂﬁb&ﬂf1‘:...,-Lk.:.ﬂn-_pﬂw}lxié‘.:&b&dlﬁﬁ{df@‘j-mﬁ-’:.-:D »C, B,:k ...-..}Iz.:.ﬁtﬁdlrﬁ -2y
Kl 2f 3 fair§L Y S ML S Y DIl

Note: -You have four choices fof each objective type question ae A, B, C and D. The cholce which you think Is comect; fill that circle in front of that
question number In your gnswer book. Lise marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.
Q.1 Questigns /=iy A B C D
W= -jr- f I
1. | fT=1 f?‘=5 fT=2 fT=05
If T'=— then:
S
te ANl /] ISR I E
ekl APOOR | gy | gy Irb ’
2- | Which of the given is a method of energy
conduction radiation wave motion all of these
transfer?
. &fbﬁlm_;}bu 0°C
3. il i 360ms™ 331ms™ 365ms™ 370ms™
The speed of sound in airat 0°C is:
-7 90° Js‘m_{)tal'sf Su Vol @
4. | The critical angle of wafer is when 45.8° 4@3 47.8° 48.8°
refracted angle is 90°. A A
A
PEW i 26l VL p ¥ LI %@
S Sidnl e bl rs8 £ @
K An object is 14cm In front of a convex mirror, the B i ~Hom
image is 5.8cm behind the mirror. The focal @
length of mirror is: T A(}ST\O
. | B o ds #l 521 & 1
" | charles Coulomb was a o ntist. French American
T
JRSE LS 2P LS ol £ LTt lpd 710 L
-fﬂd}fﬁgc)y’»& A‘gu;uuﬂ-:‘:@u‘ﬁd r¥
7| 5 Joule of work is needefd to shift 10C of charge : et By +OWN
from one place to anothér, the potential & ¥
difference between the places is: s )
T T 5 7'? b s
" . .zfr_rugsmu""g..fﬂi st L g ¥ dus 1 C .l BUis
" | Electric potential and enyf : are same terms |are DEleTms \ayg different units| both B and C
gl ST bt emf LS, il
‘?-'d S w¥ emf U2 - b Culg™ . . (u"‘r g4
8. | The direction of induced|emf in a circuit s In F L
mass charge momentum energy
accordance with consenfation of:
0o 1" a2 BT LI NOR Lised s
10. i P 4=1,B=0 | 4=0,B=0 A=0,B=1 A=1,B=1
The output of a two-inpul NOR gate Is “1" when: -
..qu:«jhﬂ.ﬁ JRGP}L&'&’J&!&NJHIK-&J{LJJE
1. | Becquerel accidently distovered Uranium as U= 1796 U 1896 U- 1996 V- 1998
radloactive element In:
- cbreal_ LNty | P A B F ek Fis. e
" | Release of energy by the sun is due to: nuclear fission | nuclear fusion | burning of gasses |chemical reaction

114-221-A-42000 k&
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Paper : II  (Group:1I) SwL =10-Gi-20 (o flg) e 4y
Marks : 12 Objective ((55) 12y

Time : 15 Minutes Code : 7477 @ 150 =
S B i3 Yol R e S s Vo M 8GR AL DA C LB A el Ld
= }f,r.r‘-:ld-’-._.-l:’.uf:’iuﬂ.:..-r’JL;,J.:.-B"E;JUu:f‘bu&.}.:.-...u_l;'l &
Note:- You have four choices far each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen fo fill the circles. Cutting or filling two or more
circles will result no mark, !

1. 1. Whatis the voltage across a 6€) resistor & bnEndI AL i 1ie e ¥ 3R cae il 69 L1
when 3A of currenl passes through it?
v (D) 18V (C) av (B) 2V (A)
2. To produce electron beam by thermionic emission, < mﬁ%i’.&.ﬂ?tﬁﬂ :’-.'_‘.‘K.L ,ﬂ.g;(‘-"d}s}?fa;- nE PAkf 2
the polential of tungston filament is.
12v (D) av (C) 6V (B) av (A)
y . . . 2 [ - o - ‘' . L ‘; 1 i r
3. If the current in @ wire which is _-._,",-:’-@*-"dh;rfdf;zh!z_agld.l.-zﬁfmu._*.i."a_lsq:.c.. U Ay er:;g_»_-'J?‘;- -3

placed perpendicular to a magnetic field increases, the force on the wire:

will remain the same LEZJ:'.,{; (B) will be zero d;:)‘ (A)
will increase sex (D) will dgcrease Gl (©)

4. The brain of any computer system is: @@ e bk )-',_-,‘E-‘fu‘{.l .4
control unit  <yJi® (D) cPu ¥ (C) ? du2 (B) monitor <+ (A)

éb Ve -.-I;.Jr: 1 ..L;_«.L-i'l'ur.:étL.!;..:@dl » -5
\

5. The output of a two-input NOR gate is 1 when: |
A=1 B=1 (D) A=0%-> 1,./ A=0 B=1 (B) A=1,B=0 (A)

Iy = A e T35 i # -
O - M Jui.r‘.t' u“:\..r.._r'r"‘ Ve q;_“ wr 1 ...J:' ¥ (g -6

6. One of the isotope of Uranium is 52U .

The number of Neulrons in this i
238 (C) 146 (B) g2 (A)

7. The relation between velocity, frequency and wavelength of awave is. - J"’{-,-yu.».i ;E‘Jg: sl d“pffu’ !hd’g;.___( (5

=% (D) vi=f (c) fi=v (8) =4 (A)
8 The speed of sound in wood at 25 C in meler per second is: - }?J_.Hi{brji_-T@dﬁi; 25C .8
3980 (D) 2000 (C) 1290 (B) 972 (A)
9. The human eye has: < HgLEL.CfTI' L .9
concave lens 2 (B) convex lens DA (A)
concave mirror e : (D) convex miror :_fﬁ}"/ (C)
10. The critical angle of glass is: i ff-';f‘-}‘z’fﬁ -10
42 (D) 90" (C) 45 (B) 0" (A)
11 Mathematical equation of Coulomb's Law is _;l;_..-,I:Lf-QL?J;;JiLTi ._u'f =11
ﬁ'=k%’i (D) f-':kf"-;%-; (C) sz% (B) F:k‘f_lf—‘ (A)
12. The specific resistance of nicrome metal is. e e ;_;;'”J;._Efdlf-pft 12

400x10"Qm (D) 300x10°Qm  (C) ,200x107°Qm  (B) 100x107Qm  (A)

7
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,A‘.-_u_"fgjfrtﬂ,’-':ﬂi'ﬂw&vlﬂyuc. ufu;.':b’zfé_ J'LL-LJJ:-;T{QKL}H _-,L.‘i’é_J DsoC,BA .:cl_.':’..'-;"‘;['_rﬁdfr,c: ROY
_u'mr"*w.,muﬂf:.,,r:.-.,rﬂ_fi.)b'.:.rl_.é_)’ifummya....5'1 &
Note:- You have four choices for sach objective type question as A, 8, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutling or filling two or more
circles will result no mark.

1. 1 The presence of magnetic field can be detected by -s;‘.g:lgiﬁ:;gdﬁﬁr‘{fﬂ:’.ﬁ =1 =
small mass P (VI 4 (B) magnelic compass LJE..E-{" (A)
stationary negative charge (/b :Egi;f b (D) stationary positive charge .:—{-,JJ;:‘:JI;J L (C)
2. An electric current in conductors is due to the flow of: PR, LS B 2
negalive ion o fzkg (B) positive ion T (A)
free electrons %1 A2l T (D) positive charge Lulsil (C)

3. Whatis the power rating of alamp  Tsthiws/ 25A < LU12 rJngb_}Jn';J..;{.{Jég_ el i2v -3
connected to a 12v source, when it carries 2.5 A current?
6ow (D) 3ow (C) 145w (B) 48w (A)
4, The Coulomb's force beiween e UiiaHelendul (Wlie 4264 2m bl 20 fLne SO Zipeily 1 -4

two point charges each of magnilude 2c separated by a distance of 2m is:

9x10° N (D) 9x107" N (C) 4.5x10° 45x10° N (A)
5 In an asironomical telescope, the distance between - by 'wé} odT a2 r’-:f;fu:_‘.ﬁ;_f S T 5

abjective lens and eye piece is:

& ]
equalto f, —/; ML fi=fo (B) @%&qual to Joi iy L fotte (A)

greater than f, + /, wlic- Jo+ fe less than [, + /, ,/;-:- fotle (C)
6. The position of fish inside the water seems to@ ess e Ui ‘..L-i[)%;dJI PS04 ,_,J"ld‘fn.gj,ﬂf.di; -6
depth than that of actual depth, beca o
' dispersion of light - hﬂfn (B) total internal reflection u’[-'n ZJ;-'IJ} (A)
refraction of ;'f‘g/.'_’;é‘:ﬁ: (D) reflection of light * ‘fgha;ﬂfu (C)

7. What will be the speed of sound having frequency 680/, ?Jﬁ;réfg_;ilvfdhi%s 0.5m s ik 680H. _7

and wave length 0.5 m?

1340 ms ™" (D) 680 ms'  (C) 340ms™"  (B) 134 ms™  (A)
8. Which one of the followings is correct? e ..:.v—uv;_-;fﬁr!-._f_’ s -8B
. 4 V A
=3 (0 f=7© F=3 18 S=Vi ()
9. Which one of the following radiations has high frequency and *T-l:‘«"'f;}@a‘-" sl .;'_.}U'i‘;{}u’fu"wéitgém -9

short wave length?
Cathode Rays v »¢ (D) Gamma  (C) Beta U (B) Alpha W (A)
10. Which is the mosl suitable means of reliable continuous Y« .ag'f.g;jb’w"f";:r sl rbrendl il &7 ¥ _10

communication between an orbitting satellite and earth?

micro waves s 5 (B) radio waves ifsg ks (A)
any light waves Jg'_s.:f‘ﬂc’-d:" {D) sound waves ifskil (C)
11. The process by which eleclrons are emitted by a hot metal -:;_fly(u:f"uf.aﬂﬁsf"gla:.&fd! J’-'-.,,CJ’-JE.‘-_!)L;'I -1
surface is known as:
conduction A (B) thermionic emission ¢+ Ex'# (A)
boiling Ly (D) evaporation 1_',195.!:“-’-1| (C)
12. AND gate can be formed by using two. uﬂi;aﬁd’ir.gdaﬂﬁarkfig.fgh}'u‘? wegl 12

NAND gates ._,-';-f.’.;_: (D) NOR gales u‘:"-{t (C) ﬁ;OR gates J‘I{T (B) NOT gates J‘-{.: (A)
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Nole:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circie in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. Equation to find the lime period of mass attached to a e =hi-Ji e s Ft ¥ 2 afl L o1

spring is
T= er\{lct (D) T = '?::JE (C) T= 2'.‘1'r\/E ® T= Z#JI (A)
m k ! g

2. Intensity of sound of rustling of leaves is -{.-J"-"T $xS axly o SUR -2
0%wm™ 0)  10wm? @ 107'wm? @) 10wm? @)

3. Theinstrument used to examine stomach is w7 L a1 &S Lo 3
cysloscope .,.;a # (D) bronchoscope vﬁ:‘:.: (C) gastroscope - s < (B) periscope .,.-FJ,& (A)

4. Unit for power of lens is @ e 2y ¥y S A e
centimeter /< 4= (D) meter < (C) - watt .@Q?g} dioptre & Jli (A)

5. According to Coulomb's Law, the value of k is O =t § KAWL yiv L A 5
9=x10"Nm*c™ (D)  9Ix10°N'm*c* (g 9% 2 (B 9x10° Nm™3c* (a)

6 Two resistors of 6kQ2and 4Kk are  _fn*u %@f_y’ 2 L g S i £ 4KEY 16k g

connected in series . Their equivalent resis
24kQ (D) 12k

102 (B) 2kCY (A)
7 Unit of time period is - ¥ Lol T
Cs ' 223N O M2 3Jz (€ hertz 3 (B) second £ (A)

S n Teelen Se Sl et S T It 2 20 GRS 8

which 1s placed perpendicular to a magnetic field increases, the force on the wire will

8 If the current in a wire 7

be zero Jn}' (D) increase J'H_'.k {C) decrease J.rrf (B) remain the same L;ﬂu@iti (A)
9 If X A8 then Xis 1 when /i 'U’ g J X 7 X =AB Ao

A=1,B=1 (D) A=0 ,B=1 (C) A=1 ,B=0 (B) A=0,6B=0 (A
10. In the thermionic emission, the particles emitted - 2 /"-;.-; b nluec. 615’ J* rf s ﬁd”'{' -5:‘/; -10

from a hol metal surface are

photons 57 (D) neutrons /¢ (C) protons vy (B) electrons #/81 (A)
11. From which of the following you pES e SN SU £ Pl S B b 211
can get information almost about every thing?
internel & £ (D) computer a:.f (C) teacher .= (B) book U (A)
12. Release of energy by the Sun is due to - BTl g4 {..;5&.){/'&,” =12
nuclear fusion il (B) nuclear fission oA (A)
chemical reaction 1 ;E’f (D) burning of gases b*rb’ur‘!. (C)

114 - 219 - 25000 w
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A B35Sl arne i Ll i g6 d - 1&£i:DAC,BA ...,i.e..ﬁgz.’. s i d
.fx;:“.l-h,_. ITrata ..;HJL)4 ..-l"l.-’_.u;_luubul..rc_..f -
Note:- You have four choices for each objective type guestion as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question.

1. 1. When Uranium ( 92 protons) ejects a S0 bef § WIS LB t/Tl FA & (59 92) f2ger -1 A

bela particle, how many protons will be in the remaining nucleus?

91 {0y — 93 (C) S0 (B) 8s (A
2 The brain of any computer system is .._4.&,1.; ¥ r’" /;;-;f J'-;f’ .2
control unit ..-.-':,'.“‘-'-'J (D) CPU ;,.é,-' (C) memory (sf (B) monitor Z» (A)
3. In computer terminology, information means ,;;_,,-Jb-'a’,;’:?airufi_s’.;p_i};_-,” -3
raw data GiFi (B) any data esfds
large data Eials (D) processed data L} Lz (Q

4. The process by which electrons are emitted by a hot .« FJF.J.HLA' e '.-,,_,'3"_, S L4

metai surface 15 xnown as Q@

evaporation ﬁ;;::i (B) boiﬁn@ By (A)
thermionic emission A Ee? (D) Uction B (C)

...ff':.'..lsq'; .:..J:"JJ:.'J: l:rfy\:i?ﬂ/" -5
which is placed perpendicular to a magnetic field ased, the interacting magnetic force on a wire

will decrease J ;O@ will increase -(d.k (A}

5. If the current in a wire 23 @Y LSy ATzl

will be zero ) will remain same  (n 2t
6. S| unit of electric current is <2 8l u’.«;/’.é'-?l 2
Volt (V)eln (D) (W) =i (C) ampere (A) A2 (B) - Newton (N) % (A)
An electric current in conductor is due to the flow of % il YT 7
negative ions ;'—'Tﬁ-': (B) positive ions bl £ty (A)
free electrons 5 201 51T (DL positive charges sy iy (€
8. A positive electric charge Lok -8
aftracts other positive charge .,—-r;;?“f ik dige (A)
repels other positive charge ¢ t'/cz; Ps Ly ditem (B)
repels a neutral charge .;.:'.f".‘f u":;,.;-.,f.-.’ (D) attracts neutral charge g.rfu.'-; u’:‘;’r;ul_fdx‘i (C)
9. Types of reflection are au_'.'r'.JiJ._-;’Q:i -9
5 (D} 4 (C) 3 (B) 2 (AY

‘0 A converging mirror with 8L el i’(‘r _q.:héflgﬁa-a_ﬁ{#'-iﬁm CMe . rze-20 emued. € op S5 70 210

a radius of 20cm creates a real image at 30 cm from the mirror. What is the object's dislance?

+20cm (D) +15¢cm (C) +7.5cm (B) +5.0 cm (A)

11. Which form of energy is sound? ?_L.[‘:L‘J}:{L,{j' o P B
chemical (&2 (D) thermal J# (C)  mechanical u,ﬁ*c B)  elecrtrical A9 (A)

12. Waves transfer -g,f&fvii sy 12

velocity (U (D) wavelength i‘@'és (C)  frequency a3 (B) energy 44 (A)



